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Anayopebeton 1) avTiypopr), anotixeucT xou dlovour| Tne tapoloos epyasctag, €4
OhOXAPOU ) TUAUATOS AUTAC, Yo euntopixd oxond. Emteénetan n avatinwot, anodrixeuon
%0 OLUVOUT| YId OXOTIO 1) XEEOOCKOTUXO, EXTIUOELTIXNS 1) EPEUVNTIXNAS QUOTE, UTO TNV
TEOUTOVEDT) VoL AVIPEPETOAL 1) TINYT) TEOEAEUOTIG 0L VAL DLUTTEEITOL TO TAPOY UHVUUL.
Epwthuata mou agopodv Tn ¥efom Tne epYaolug Yio XEpO0OXOTIXO OXOTO TRETEL VA
ameLOVOVTOL TEOC TOV GUYYQPUPE.

Ou amdelc xon Tor CUUTEPACUTA TOU TEEPLEYOVTOL O QUTO TO EYYPUPO EXPEALOUV TOV
CLYYEAUPEN Xa OEV TEETEL Vo epunveutel OTL aVTITEOCKHTEDOLY TI¢ ETlONUES VECELS TOU
Edvixo0 Metodfiou Tlohuteyvelou.



[epiindn

Auvth n Awmhopotid Epyaocta tepthoufdvel Tnv avamtugn UTOAOYLo TXOU XMBIXA TEOCOUO-
ong evog akyopiduou cuathuatog xatavourc pomic (Torque Vectoring) xon tnv aflohdynon
oUTOU OTN BUVAUIXY| CUUTERLPOEE Tou oyAuatoc. Tar TNV avdmTudn Tou LTOAOYLETIXOU
%O yenoworotjinxe 1 mpoypauuatioTiny Yhwooa Python. To cUotnua tou Torque
Vectoring (TV) nailer xaipio pébho ot Behtiwon tne otadepdTnTag, TOU EAEYYOU XU TNG
ao@dielog Twv oynudtwy. H mapoloa épeuva e€etdler ta Yewentnd Yepéha tou TV xou
TNV TEOXTIXY| TOU EPUPUOYT) OTOV TOUEN TNG OUVAULXNG OYNUATWY.

H pehétn Lexavd ye tnv mopouciaon evoc Pactxol HoVTEAOU OYAUATOS, YETNOULOTOMVTOC
T0 W¢ YePEAOON TAUTPOPUA Yot OAEG TIC axdhouleg Bicpeuvioels. 'Enetta axoloudel e&é-
TAON TV apY®V xat TNg unyevixic tou TV, cuunepthauBavouevemy Twy TAEOVEXTNUATWY
TOU X0 TNG TEAUXTIXNAG EQUPUOYTC TOU OTa GUYYPOVAL OyAuaTo. Xxomdg elvon 1 avdhuo
e procoglag Tow and To CUOTNUA XUTAVOUNE POTHC XAl THV TEOTWY UE TOUS OTOlOUC
Behtidveton 1 xatovouy| TG SLdéctung POTAC TOL XIVNTARO UETALY TWV TROYWY Yiol Vo
EVIOYUOEL TO XPATNUO TOU OYAUATOC, TN OTAdEPOTNTA XU T1 GUVOALXY| am6B00).

H €peuva emextelvel Ti¢ cUVELGPORES TNG, avamTicooVToG Evay oAyopriuo TV xan evowuatevoy-
Ta¢ ToV 070 Joviého Tou oyfuatos. To amotélecpa authc g mpoomdlelag eivon €va
amodoTXO EPYUAEID TOU EYEL TN BUVATOTNTO VoL BEATIOCEL T CUUTERLPORE TV AUTOXIVATWY
o€ éva eVpog odNYXwY cuvinxay. H anoteleopatixdtnto Tou akyoplduou doxwdletar oe
ENYHOUC UE ETUTOYLYOUEVT XIVNOT), OTIWS CTEOPES XAl ATOPUYT| EUTODILY, XadEvag ex TwY
omolwy exTEAELTAUL UE OLAPOPES UPYIXES T UTNTES.

To anoteréopata avtrc e Aimhwpatixfc Epyaotioc aroxaiintouv éti 1 vhomolnom Tou
oAyoplduou BEATIOVEL ONUAVTIXG TN OUVATOTATA TOU OYAUATOS VO AVTHIETOTELEL TPOXANTIXES
xou EMXVOUVES XAUTUO TACELS, EVIOYVOVTAS O)L HOVO TN oTadepdTnTa xon TNy euei&io, ahhd
xou T1) cUVOAXT) acpdieta. Kodog eloepyouacte oc yio Enoyr) EEEAIOCOUEVLY TEYVOAOYIOVY
OTOL OYUATOL X0l AVENUEVEY ATATHCEWY YLOL AOQPIAELDL, 1) EPEUVIL TIOU TOPOUGIALETAL OE QUTH
™0 SLTEST| XATEYEL ONUAVTIXG OO GTOV TEOGOLOPIGUO TOU WEANOVTOC TNG OUTOXVNTO-

Blounyavioc.

Ev xataxAeldl, 1 mapoloa épeuva amotehel oxopa éva Bua tpog TNV teoondideio Vo aloToL-
nUel TAREKS TO BLYVAUIXS TV dAYORIIUMY XATAVOUTE POTAC Yo TO OYEAOG TNG AUTOXLV-
nrofounyaviag xaL Tou YEVIX0) X0LYoU, 0BNYWMVTAS TEAXE OF T ACPUAELS, ATOBOTIXES KoL
ey dploTEC EUTELRIEC OB YNOTG.

A€Ceic - Aol

Kartavour Porrc Atavoury Porc, Ahydprduoc Katavourc Porrc, Auvouur Oynudrtwy,
Mryovinr) Oynudrov, Alyéerduor Atavourc Ioydog, Bedtiotonoinon Auvouxrc Oyrua-
T0¢, 'Eleyyoc Evotdieioc, Behtiwon Emddcewy, Anoguyr Eunodiou, Euehilia, Aopdieia
Oyfuaroc, Hpoypauuotiotiny M'hédooa Python.






Abstract

This Diploma Thesis is a development of a computational simulation code of a torque
distribution algorithm (Torque Vectoring) and its evaluation in the dynamic behavior of
the vehicle. The programming language Python was used for this development. Torque
vectoring plays a pivotal role in enhancing stability, control, and safety. The research
herein delves into the theoretical underpinnings of torque vectoring and its practical
application within the domain of vehicle dynamics.

The study begins with the presentation of a baseline vehicle model, employed as the
foundational platform for all subsequent investigations. An examination of the principles
and mechanics of torque vectoring, inclusive of its inherent advantages and real-world
applicability, follows. The research endeavors to analyze how Torque Vectoring optimizes
the distribution of torque between the wheels to enhance the vehicle’s cornering capabilities,
stability, and overall performance.

This research extends its contributions by developing a Torque Vectoring algorithm and
implementing it into the vehicle model. The outcome of this endeavor is an efficient tool
that has the potential to revolutionize vehicular dynamics. The algorithm’s effectiveness
is tested across a range of scenarios, spanning maneuvers like accelerating left turns,
step-steer maneuvers, and obstacle avoidance, each executed at varying initial velocities.

The findings of this Diploma Thesis reveal the profound influence of torque vectoring on
vehicle dynamics. The algorithm’s implementation significantly improves the vehicle’s
ability to navigate through challenging scenarios, enhancing not only its stability but
also its maneuverability and overall safety. As we step into an era of evolving vehicle
technologies and heightened safety concerns, the research presented in this thesis holds
substantial importance in shaping the future of automotive engineering.

In conclusion, this thesis represents a vital step in the ongoing quest to harness the full
potential of Torque Vectoring to benefit both the automotive industry and the general
public, ultimately leading to safer, more efficient, and more enjoyable driving experiences.

Keywords

Torque Vectoring, Torque Vectoring Algorithm, Vehicle Dynamics, Automotive Engineer-
ing, Torque Distribution, Power Distribution Algorithms, Enhanced Vehicle Handling,
Vehicle Dynamics Optimization, Stability Control, Cornering Performance, Obstacle
Avoidance, Maneuverability, Vehicle Safety, Multi-Body Vehicle Model, Python.






Euyopiotieg

Apyixd, o fdelor vor expediow TIC EVYOELOTIES UOU GTOUC Xty NTEC OL Yo OTT| UETOBLO0X-
Topwt| epeuviTela xo. Khewd Booou, ot omolol pe xadodhynoov xar ye othpilay xod’ 6An
N Oudipxela TNg ouyypaprc autrc tng dwtedhc. Ot teyvixéc Toug YVMoELS, ol GUUBOUAES
TOUC o 1) AXAOVNTY) UTOMOVY] TOUC OTNY OVTWETWTLON TNG TOAUTAOXOTNTAUC TOoU VEUUTOC
Tou gpeuvdTon LTHEEaY YEYdAT Porleia.

Aev urdpyel ypumTtég TEOTOC Vo ex@edcw To Bdog TG amépavIng EVYVOUOCUVNG TROG
Toug yovelc pou, Erévn xau T'ipyo. H apépiotn unoosthpiln toug, t6éc0 huyoroyixd 660
XL OWOVOUIXd, amOTEAECE TNV XvnThAeta dUVoUT Tou Tokldlol Hou xal oL GUUBOUAES Toug
amotélecay TNy avextiuntng coplag. Xdpn otny adidxony oydmn xou UToCTARIEH TOUg
UTOPECH VoL EEXVIOW AUTH TNV oxadNpoixy) Teoodleio xan Vo 9Tdow oto onpeio mou Beloxo-

HoL GUEQOL.

Oa feha eniong v exppdow TNy extiunon Lou oTov adeApd pou, HavoyldhTn, Tou omolou o
TAAEVTO 07O Vo UE exVEURElel pabveTal vor avTay WVICETOL TNV TOAUTAOXOTNTA TGV ahy0plduwy
AATOVOUNG POTAG. Loy €val anpOBAETTO G@dAua AoyiouxoU, elvon tdvta exel, elodyovtag
e 560m Ydoug oTov xwdixa TS Lwhc Hou. ARG axplBig 6TKe 1) xatavouy| pomhe BEATIOVEL
TNV an600GT) TOL OYNUAUTOS, ETOL XL TA XUUWOUNTA TOU UE €Y 0UV OLOAEEL Vo AV THIETWTICW TIg
avwuaiiec oto 6pouo e Lwhg pe YLo0Uop X 3o,

Agpiepive v mapodoo Aimhopatcd) Epyacia otoug yoveic pou, Erévn xan Tidpyo, g
EVOY UXPO TEOTIO VoL EXPEACE TNV ATEEAVTT ALY AT X0 EVYVOUOCUYY] HOU Yiol Ol GG LoV
€Y 0UV BOOEL.
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Kegpdiowo 1

Fioaywyn

1.1 Ewoaywyr oto Torque Vectoring: 'Evvoio xow
CUVOTITIXY] TEPLY XY

H xatavoury pormrc (Torque Vectoring) amotehel yior onuovtin| Te)VOAOYIXY| TEOGEYYLON
OTOV TOMEN TNG OOLXAS CUUTEQLPORAS YO TNG DUVOIXAC TV OYNUATOY. MTOV TURHVIL NG
Teyvohoyiog autrc PBeloxeton 1 wovdTNTAL EVOC OYAUUTOC Var EAEYYEL xou Vo puiuiler Ty
xaTovour, TG eOTAC METAEY TWV TEOYWY, TEOCHEQOVTUC ETOL BEATIOUEVO XEATNUO XATd
™y odhynon. Auth 1 TEYVOorOYio amOTEAEl TO XEVTPO TOU €LEMGOOUEVOU XAGDOU TWV
QUTOXIVATWY X0 BIEVPUVEL TaL GpLoL TNG 00LXTE ao@aAeLag, TNE EVEMElNS XaL TNE AmdBooN.

O Baoixde oxonde tou Torque Vectoring (TV) eivan n xatavour e ponhc petald twv
TPOY WV, e€acuhiCovTac 0Tt 0 xodévag emAaUPBaveEToL TOU XUTIAANAOL PEPLBiOL avahoY oL UE
TNV XOTACTUGT, TOU 0BOGTEMUATOS Yo TIC AMAULTACELS TS odrfynone. Autd emtuyydveTton
UECK TNG TRONYHEVNS YPNOTG TWYV DLUPOPLXMY, TWV PREVKY Xl TV XVNTARWY, xaddg Xt
UEow ovotnudtwy ehéyyou xa aointiewyv. To TV unopel vo mpocopuooTel duvouxd
xotd TNV 001y Nom, Aopfdvovtoc unodn TaedyovIES OTWwS TV Toy OTNTA, TNV ETLTAYUVOT), TO
eLIUS EXTPOTAC TOU OYAUATOS Xl SAAEC TURUUETOOUC.

To clotnua autd Peloxel epopuoyr| o Towahior oy NudTEY, amd Ta xoUNuepLVd, UEYEL To
outoxtvnTa UPNAAC amdBooNG ot To oyWVICTIXG X0 PTopEl vor BEATIOOEL TNV TEoopUON
XL TNV om6d00Y 0TI OTPOPES. e cLVINXES xaxoxaplag 1 amWAElS eAEYYOU, UTOPEL Vo
OUUBEAAEL TNV eucTAVELL XU 0TV ATOPUYY| ETXIVOUVGLY XATAGTACEWY.

H teyvoloyio tng xatavouric pomig cuvey(lel vo e€ehlooeton, TEOCPEPOVTOC VEEC BUVITOTNTES
yioo T BeATioon TwV EMBOCEWY TWV OYNUATWY Xou TNV avénon tng odhg acpdietag. H
xatovonor tne hertoupyiog tne anotehel xplown tpobndteon yio Ty e€ENEN xaL TNV E@ap-
HOYY| TNG OTNV EMOUEVY) YEVLE TOV OY NUATOV.
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1.2 Xxondc xou Xtoyol

Yxonoe tne mapovoog Aimhwpatixfc Epyaotac elvan 1 mpocouolwon tne emppeoric tou TV
OTN) BUVOULXT) CUUTIEQLPOEE. TOU AUTOXLVITOU XATA T1) DLEOXELX EALYUOV.

Ytoyoc elvon 1 €€’ 0AOXANPEOU AVOTORAC TUOT) TNG OUVOIXTG EVOS LOVTEAOLU OYAUATOS OF
TEOYEOUMATIOTIXY YAwooo Python xou €meita 1 dnuiovpyio evog cuCTAUNTOS AUTOUSTOU
ehéyyou, To omoio Yo mpocupuoctel oe auTéd To Yovtého. H hettoupyla Tou cucThuATOC oL-
TOU EYXELTOL GTY) BUVOUIXT| XU TAVOUY| TNG dlardEouung pomrg Tou xvnThpa o€ xde Tpoyd, Aa-
Bévovtag umddn topdyovteg mou Yo TEPLY POy avVIAUTIXG Ot ETdEVO xe@dhato. Kpitrpto
allohdynong Tou cuoTAUaTOS Yo ebval oL ETBOCELC XU 1) ACPAAELL XUTA T1) OLEXELL TV
ENLYUOV.

1.3 >upBorn

H rapodoo Atmhwpatin Epyacia cuvelo@épet mapéyovtag yvaon oyeTixd Ye Tov EAyyo
NG SUVOUIXNG TOVY OYNUATWY %ot THPOUGCIALEL TPOTIOUC UE TOUG OTOLOUG UTOPOLY VA YENol-
vomotnoly oTEuTNYES EAEYYOUL Yiot TN PeATiwoT TNG 0dNYIXAC CUUTEQLPORAS TOUS. Luy-
Bahher emlong oty eufidduvon tng xatavonong tou Teonou ue tov omoio To TV ennpedlet
TNV OONYXT) CUUTEQLPOEG TOU OUTOXIVITOU OE OLAPOPES XUTACTAUCELS XL UVUDELXVIEL TOV
avtixtumo mou éyouv 1 utooTteogy (under-steer) xou 1 UTEEoTEOYT (Over-steer) oTic EMB6-
oelg xatd TN Otdpxeta edyuoyv. H onpoavtindtepn (00¢ Qapuoyr TV Topamdve EYXELToL
oTN OnuoveYla AGPUAECTEPWY O NUdTWY PO OPEROG NG xownviag. H cuuBoly| emex-
Telvetal Y€ow NG Yprone e meoypouuaTioTixAc YAwooag Python, 7 omola elvon open-
source, dnAadr) 0 x@owxag dtatiieton eAediepa xan umopel vor avadtaveundel xon vo Ttpomonot-
niel. Emouévae, 1 mapovoa Aimdouatiny| Epyoacio anotehel onuavtiny Bdorn yia tepantéow
avdALGY) TOU VEUATOC TTOU EPELVATAL.

22



Kegpdiowo 2

MovTteAhomolnon oyNUATOg

Yy mopovoa Aimhouatin Eeyaota Yo yenoworoimndel xdodxag povieomoinong tou ou-
Toxw1Tou and to anovetiplo CommonRoad [1], To omoio TOREYEL UAOTIOLACELS TNG CUUTERL-
(PORAC BLAPORMY OY NUATKY X0 OLUBIXACIES YLl TO UETACY NUATIOUO TGV 0RY XY XATUOTACEWY.

To amoldetripto CommonRoad napéyet mopauétpous Yo T€ocepa €0 AUTOXIVATWY:

o uxpoV peyédoug (Ford Escort; vehicle ID: 1)
o ueoaiou peyédouc (BMW 320i; vehicle ID: 2)
« van (VW Vanagon; vehicle ID: 3)

NUEULOUAXOUUEVO optnys (vehicle ID: 4)

Aemtopepeic mopdueTEol aUTOY TV oynudtoy €xouv hnedel and to 2], Hopdptnua A xou
amd dAAeS Btardéoiuec 6To BladixTLO BACELS BEBOUEVWV OY NUATWY.

Yny napovoa Epeuva Yo yenodoroindel To dynua 2, éva BMW 320i. I'a To cuyxexpiuévo
OyYMUoL TaEEYOVTOL Tol aXOAOUT LOVTEAN AVITORAGTACTS DUVAULXYG:

 povtého Point-Mass (PM)

 povtéro Kinematic Single-Track (KS)
 upovtého Single-Track (ST)

o povtého Single-Track Drift (STD)

+ povtého Multi-Body (MB)

To povtého mou Ya yenowonondel yioo v extéreotn xou TV allOAOYNOT TWV EAYUGY
TEl xou YET TNV egapuoyy| Tou TV eivar To Multi-Body (povré)\o TAfipOUC oxv']ponog),
xad¢ elvor To o TEPITAOXO OAWV XoL OVUTOELOTE UE UEYOAN axpifeior 0 cupmepLpopd
TOU OYAUATOG OF TEAYUATXES cLVITiKEG 00AYNoNG. Ou yivel wotdco chvtoun yerion xo
Tou povtéhou Single-Track Drift (povtélo wool oyfuatoc - bicycle) yio ) Snulovpyia
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NG WUVIXNS TROYIAS TOU QUTOXLVATOU %aTd Tn Odpxelar evog amd Toug eAylolg Tou o
extEAEcVOOV.

To ouyxexpwévo poviého mpoépyetan and to [2], Ilapdpotnuo A, to onolo omotehel pio
amo TG Ayeg Aemtopgpelc ot TEOOBACIIES TEQLYPUPES BUVOUIXTG TOAUCWHETOY OYNUSTWY.
o euxohia ypriong, éxel yiver petdppaon twv elohoeny and to [2], Iupdptnua A o€
EVOL HOVTENO YOPOU XATUOTACEWY, To omofo elvon mo xatdAANAo Yyl TNy vAomoinor oc
A(AAGOI00E EMAUTES BLUPOPIDY ECLOWCEWY.

H duvopuxn tou povtehou Multi-body (MB) meptypdpetan and 2 wdleg: Ty pn avopto-
MEVN Xou TNV avopTOUEVN pdla Tou eumpocthou xau tou omichou dlova.  Ou duvdpelg
HETUE) AUTOY TV PalmV TEPLYEAPOVTAL aT6 TN BUVOIXT TNS AVAETNONS X0k TO UOVTEAO
Tou ehaoTxol. AaufBdvovton uTodn GAeC oL BUVUELS TNG AVEETNONE TTOL TPOEEYOVTOL ATO
eloTripta, amooBec TARES Xot AVTIO TRENTIXEC UTdPES, 6Twe axplBne oo [2], Tlupdptnua A. Ae
Aopfdveton utddn N ehaoTixdTNTA 0To cVOTNUA Slevuvong, Ta bump stops, xou oL BuVduELS
squat/lift Tou TeoxaholvTUL amd TN YewUeTplo Tng avdptnong. To eetaldyevo dynua o
odéTel aveldpTnTn avdpTnor, onoTe v Topouctdlovial ol eEIGMOELS Yo GTEPEOVS AEOVEC.
[oe v avomopdo taon g SuVoXTG TV EAACTIXGY emAéyUnxe Tto poviého PAC2002
Magic-Formula, to onolo ypnowonoteiton eupéwe otn Brounyovior [3]. Ot cuvduoouévee
TAEVPXES Xall BLUAXELS BUVEUELS TOL eAacTixol umohoyilovTtal amd T Ywvia oAloinoneg, ™
Yovia xdudne xar v xddetn dOvoun Tou ehacTixol Tov teprypdgeton oto [2], Iapdptnua
A. Ot apdueTpol Twv EAXCTIXOVY Yiot GAOUS TOUS TEOY0UC TEOERYOVTOL ONO TO TORADOELY A
opyetou Wothtwy ehootixol PAC2002 oto [3]. H upetdgppoon dhov tov e€lohoewy og
HOVTEAO Y0POU xataoTdoewy odnyel oe 29 petoffAntéc xotdotaons. ‘Ohec ot uetofBAntég
XATEOTAONE, CUUTERLAAUBAVOUEVKV TWY ARYIXMY TOUS TGV, avagépovtar otov [Hivexa 2.1]
6mou ta Levyn LF, RF, LR, RR unodexviouv [opiotepd/0elid] xau [unpootd/nion]. e
oUYxpLoN UE TO [2], Hapdptnua A, ot e€lotoeig TopouctdlovTon e TETO TEOTO MOTE Vol
eC0PTOVTOL OO TA TEOTYOUUEVKC UTONOYICUEVA ATOTEAECHATA, XUHOTWVTAC BLVATH TNV
dueorn viomoinot| Toug. Hapaxdte @aiveton €vo LOVTEND TARROUS OYAATOC.

Yxhue 2.1: Movtého mhpoug oyrlatog
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2.1 MetofBAnTtéc xatdcTACONS

To poviého MB tou amodetnplou Commonroad mou Ya ypnowonoiniel, oyadonotel Tig
ueToSAnTéc xutdoTaong o owua oxnuatos, eurpéothos déovas, oriothos déovag, tpoyol

xan foninTikég.

WU OYAUATOG

r1 =5, (x-0on ot0 clOTNUO CUVTETAYUEVWY),

o =5, (y-0¢on oto clotnua cuvteTayuévey),

x3 =20 (ywvio diediuvone v eunpdohwy Tpoywy),

Ty =1u; (toy0TnTa o Stophxn diedduvor),

r5 =V  (ywvioe extponic),

26 =0  (pudude extponic),

x7=®s  (yoviaroll),

15 =5 (pududc roll),

r9g = Og  (ywvia pitch),

T10 = Og (puduoc pitch),

11 = Uy (togdnTa oty mheupwer| Sievduvor),

12 =5, (z-0éom (0oc) and To €dagog),

T3 =u,  (ToydTnTor TNV xoTaxGpupn Siedtuvon, xddetn oto eninedo Tou Spoduov),

Eunpéocdiog agovacg

14 = Pyr  (eunpdoiia ywvio roll),

115 = Opp (eunpdodog puduoe roll),

T =vyur  (eunpéothio tay Tt oty y-Oteduvon),
17 = S,urp  (eunpbéotha z-9€om),

T1g =V, ur  (eunpoodio tayUTnTo TNy Z-dledduvaon),

OrnicYiog dfovag

T19 = (I)(JR
T90 = Pyr
T21 = Uy UR
T2 = Sz UR
T23 = Uz UR

(omtotha ywvia roll),

(omioHiog pudude roll),

(omiotho tayOTnTa oty y-Oleduvon),
(omioi z-0éom),

(omioVa ToybTnTar oty Zz-debiiuvon),
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Teoyol

Loy = WLF
To5 = WRF
To2e — WLR
To7 = WRR
Log = Oy,f
Tag = 5y,r

Ywvioxr Ty UTTa eUneéatiou aplotepod Teoy0L),
Ywvioh TayOTnTa eunpdoiiou delol Tpoyov),
Yoviaxy toyOtnTa oniotiou aploTtepol Teoy o),
yYwvio TayUTnTa oniobiou 6eiol TPOY0V),

(
(
(
(

(eumpdodiar TAEUEXT PETATOTLON avapT@UEVNS udloc hoyw roll),
(omlotho mhevpin YeTatdmon ovapTOUEVNG Hdlag Adyw roll).
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2.2 Bomintixég petofBAnTtéc
I'wvia ohicUnong xou TayLINTA oTo AEVTEO BApoug
Avutéc ol e€lonoeic tpoépyovton and To CommonRoad:

x
[ = arctan <11>

Xyg

_ 2 2
Vo =\ Ty + T1;

Kataxdpupeg BUVIUELS EAXACTIXWDY

Autée ot eliowoeic hopBdvovta and 2], €€. A48-A51:

F.rr= (3317 + Ry (cos (x14) — 1) — ;Tf sin (x14)> K.,
F. pr = <x17 + Ry (cos (x14) — 1) + ;Tf sin (a:14)> K.,
F.rr= (xgg + Ry (cos (x19) — 1) — ;TT sin (x19)> K.,
F.rr= (xQQ + Ry (cos (x19) — 1) + ;TT sin (x19)> K.,

Mepovwpeveg TayLTNTES TEOY WYV

Autéc o eClomoelg mpoépyovtar and [2], e€. A56-A59 unolétovtoc bt ol tiow Teoyol O
UToPOLY Var xateudivVoUY To Gy Mo Xou YeNotpomolnvTos x4 tan(f) = x11 and [2], oeh. A45:
U LF = (x4 + %Tfﬁt6) cos (x3) + (z11 + lywe) sin (x3)
Uy RF = (x4 — %foﬁ) cos (x3) + (x11 + lyze) sin (x3)

1
Uw,LR = Tg + 513 T6

_ 1
Uw,RR = T4 — §Tr9€6
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Avapixng ohicdnon

Autéc ol eliohoeig AaufBdvovtar amd (2], €. A6O:

Ry
SLF — 1 —

Uy, LF

wa25
SRF — 1-—

Uw,RF

Ry
SLR=1—

Uw,LR

wa27
SRR — 1 -

Uw,RR

ITAevpixég Ywvieg oAlcUnong

Autéc ol eCiohoelc Tpoépyovtar amd (2], €. A42-A45, unodétovtoag bt oL omiotiol Tpoyol
0€ UmopoLY Vo xateuuvioiv:

r11 + lpwe — 15 (R — 217)
app = arctan — 3
T4+ Tfl‘ﬁ
<1311 + lf.Tﬁ — X115 (R — .T}17)>
arp = arctan — X3
Ty — foﬁ
(«7511 — l,we — T30 (R - $22)>
o p = arctan
T4+ T o
l rLg — L20 (R — .2722)
Qaprp = arctan T
ETTxG
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Bondntixy xivnon avdetnong
Avutéc ol ellodoeic hopfdvovtar and [2], €€. A23a-A26a xou [2], €. A23b-A26b:

hs — Ry + 17 — T12

1
—hs—l—Rw+lf$9+§(3?7—$14)Tf

ZS,LF =
cos (x7)
hs — Ry + 217 — X312 1
= — h, w + liTg — = — T
ZS RF . (ZL‘7) + R + f[L’g 9 (ZL’7 1314) f
he — Ry +x90 — 1
ZS,LR = 2 2 _ hs + Ry — lyxg + = (7 — 219) T,
cos (x7) 2
hy — Ry, + Tog — 1
2S,RR = 2 T2 e+ Ry — by — = (27 — 219) T,
cos (x7) 2

. 1

Zs,0F = T1g — T13 +1pr10 + 5 (xs — x15) T

. 1

Zs,rp = T18 — T13 + lpT10 — 5 (28 — T15) T

. 1

28R = To3 — T13 — L T10 + 5 (x5 — @20) T
2

. 1

ZS RR = T23 — X13 — lyxyg — 5 (iﬁs - xzo) T,

(To ’-’ dhhoe oe '+’ oe olUyxpton pe to [2], e€. A26b)

I'wviec Camber
Autéc o e€iodoeic haufdvovta ond [2], €€. A27-A30:

Yor =27 + Dyzgrr + Ef (2s5,0r)°
YRF = T7 — DfZS,RF — Ef (ZS,RF)2
YLr = T7 + DTZS,LR + E, (ZS,LR)2

2
Yrr = 7 — Dy2s rr — By (25,rR)
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BonOntixéc xivHoelg/Suvdpeic yia Tig EELOMOELS EVENXTWY
apUpwoewy

Autéc ol ellodoeic hapfdvovtor and [2], €€. A61-A6S:

Azp =hs — Ry + 217 — T12

Azr = hy — Ry + 123 — 712

A¢r = x7 — 714

App = x7 — T19

AéF =Tg — T15

AGBR = Tg — T20

AzZp =118 — 713

AZp = x93 — 13

Ayp = x11 + lpr6 — T16

Ayr =111 — 16 — T2

Ap = Azpsin (z7) — z95 cos (x7) — (hgar — Ry) sin (Adr)

Ag = Azgsin (z7) — x99 cos (x7) — (hrar — Ry) sin (A¢g)

Ap = (Azp cos (x7) + zogsin (7)) x5 + Azpsin (x7) — Agp cos (z7)
— (hgar — Ry) cos (A¢r) Adp

Ap = (Azpg cos (x7) + x99 sin (7)) xs + AZgsin (x7) — Ayg cos (z7)
— (hgar — Ruw) cos (A¢r) Adg

Frar = ApKgras + ApKpap

Frar = ApKpas + AgKgrap
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Bondntixéc Suvdueic avdpetnong (ayvoolLvton ol Suvduets squat /lift
xou To bump stop)

Autéc ot ellotoetg AapBdvovton and to [2], eZ. A23-A26 xou oeh. A5l:

Fsrr= m — 25,.FKsF — 25 Kspr + (27 = lej;) Krs.r
Fsrr = % — zs,rrKsF — Zs R Ksp,F — il x;;) Krsr
Fsrr= Q(TZ‘S% — z5,.rKsr — Zs,LrRKsD R + G 36715;) Krs.n
Fsrr = m — 2s,rrRis R — 25.RREsD,R — (27 = :E;i) Krs

Bonintixég petofSAnTteg - Avoptopevn widla
Autéc ol ellodoeic hapfdvovtar and 2], €€. AT-Al12:

Z X =F,1r+ Forr+ (Fyor + Fyrr) cos (x3) — (Fyor + Fy rr)sin (z3)
Z N = (FyJ,F -+ Fy,RF) lf CcOSs (173) -+ (Fx,LF + Fm,RF) lf sin ((L’g)

1 . 1
+ (Fy,RF — Fy,LF) in S1n (l’g) + (Fx,LF — Fw,RF) §Tf COS ((L’g)

1
+ (Fx,LR - F:c,RR) §T7‘ - (Fy,LR + Fy,RR) lr

> Y, =(Frar + Frar) cos (x7) + (Fsrr + Fsrr + Fsrr + Fsrr) sin (27)
1 1 1 1

L= T —F T. — =F T, — -F T.
§ g lsLrdy + oS LR gt rrly = 5 l's RR
Frar
— hs — — Ry, —(h — Ry,
cos (27) ( T12 + 217 — (hrar ) cos (x14))
Frar

 cos (x7) (hs — 212 — Ry + 222 — (hrar — Ry) cos (219))

> Z,=(Fsvr + Fsr + Fsrr + Fsrr) cos (x7) — (Frar + Frar) sin (z7)
Z M, =ly (Fsr + Fsrr) — L (Fsor + Fsrr) + ((Fyor + Fyrr) cos (z3)
— (Fyor + Fyrr)sin(x3) + Fyrr + Furr) (hs — 212)
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Bonintixég petofSAnteg - Mn avoptopevn wdla

Autéc ol e€lomoeig hauPdvovton amd [2], €€, A20-A22, utodétovtac 6Tt ubvo ot eunpdodiot
Tpoy ol umopolv va xateutuvioiv:

1 1

> Ly :iFS,RFTf — §FS,LFTf — Frar (hpar — Ry)

_ 1
+ Fz,LF (Rw Sin (ZL‘14) + §Tf COS (l‘14) — KLTFy,LF>

. 1
— L'z RF <—Rw S1n ($14) + §Tf COS (ZL’14) + KLTFy,RF)
— ((Fy,LF + Fy,RF) CcOS ([Eg) + (Fx,LF + Fx,RF) sin ([L’g)) (Rw — $17)

1 1

Z Lur :2 S,RRTT - 5 S,LRTT - FRAR (hRAR - Rw)

1
+ Fz,LR (Rw sin (ZL’lg) + iTr COS (2819) — KLTFy,LR)

— F.rr (—Rw sin (x19) + ;Tr cos (x19) + KLTFy,RR>

— (FyLr + Fy rr) (Ry — 722)
Y Zuy =F. L + F.rp + Frarsin (z7) — (FsLr + Fs rr) cos (z7)
> Zur =F. 1k + F.rr + Frarsin (z7) — (Fs,Lr + Fs.rr) cos (x7)
Y Yup = (Fyrr + Fy rr)cos (z3) + (Foor + Frrr) sin (z3)

— Frap cos (x7) — (Fspp + Fspr) sin (z7)
Z Yur = (FyLr + Fy rr)

— Frarcos (x7) — (FsLr + Fs rr) sin (x7)

Aldvuoua L6800

To didvuoua eto6dou elva:

u = (ur, uz), OTOL U] = Vs XU U = Glong (2.1)
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2.3 MOoVTEAO EAACTIXOYV

O xwdixoag tou CommonRoad ypnowwonotel 1o povtého ehaoctixdv Pacejka 2002 [4], to
omoio eivon €va and Tar o Snuo@h| wovtéha ehaoTixwy. O axpifelc mapdueteotl mou Va
yenowonotnody otny mopovoa Aimhwpatixy Epyaoia yia v avanapdotaon evog peok-
loTxoL ehaoTixol éyouv anoonactel and to [3]. T to yovtédo yivovtar ot axdroudeg
TOEUOOYEC:

« H oModnon g otpogric (turn slip) oueleiton, étol dote Vi : & =1

o H enidpaon tne ad&nong tou goptiou ayvoeita, étol Kote df, = 0
(BA. 3], PAC2002, €. 16)

« ‘Olot ol cuvtereoTég xhudxwone opiCovtar we Vi 1 \; = 1.

ALAUAKRELS BLUVARELS EAACTIXWY YenotkonolwvIiag tn Magic
Formula yia xa8aer ohicOnon (pure slip) Vi € {LF, RF, LR, RR}:

B). [3], PAC2002, €. 27)
8L [B], PAC2002, €. 28)
i (1)

B). [3], PAC2002, €. 19)

SHz = PHa1 (

Svai = F.ipval (

Ki = —8; (

Kei = Ki + SHa (

i = poar (1= poasy?) (.. B, PAC2002, €Z. 23)

Cy = pPoat (see [8, PAC2002, <€. 21)
(61 [B], PAC2002, ¢Z. 22
(B
(
(

Dr,i - Nsz,i B )
Ky = F.iPkn BA. [3] PACQOOQ ei )
By = CKD BL. [3], PAC2002, €. 26])
Froi = Dy sin (Cyarctan (B, ik, — By (Byikizi

—arctan (By ikzi)))) + Svai (BA. 3], PAC2002, €Z. 18)
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ITAsvpixég BUVAUELS EAACTIXWYV YeTNoLonoltnviag T Magic
Formula yia xaQap? ohicOnon (pure slip) Vi € {LF, RF, LR, RR}:

B). [3], PAC2002, €. 40)
Bi. [B], PAC2002, €. 41)
B). [3], PAC2002, €. 31)

)

tyi = poyr (1= Poyar?) B [B], PAC2002, €Z. 35

Sty = 380 (Vi) (Pry1 + Prys abs (7)) (
(
(
(
Cy = Doyt (see [8, PAC2002, €. 33)
(
(
(
(

Svyi = sgn (Vi) Fsi (pvyr + pvys abs (7))
Oy = O + SHy,i

E, =ppy ﬁ)\ [3] PACQOO2 SE 36)
K,i=F.ipry ( simplified Ky to pry,iFs;) BA. [3], PAC2002, €. 38)
By = Oi‘gy B [3], PAC2002, €Z. 39)
FyO,z’ = Dyﬂ' sin (Cy arctan (By,iay,i — Ey (Byﬂ-ozy,i

—arctan (B, ;0v,,)))) + Svy.i (BA. 3], PAC2002, €€. 30) (1)

ALAUAKELS BUVAUELS EAACTIXWY YL OCLUVOLACWUEVY]) oOAicUT oM
(combined slip) Vi € {LF, RF, LR, RR}:

SHra = THzl
Qs = Qi + SHza
Bioi = "By cos (arctan (rpgak;))
Cra = TCa1
Eioa =TEn
Dyoi = Froi/ cos (Cyp arctan (Ba,iSHza — Era (Bra,iSHza — arctan (Bya,iSHza))))
Fyi = Dy cos (Cpo arctan (Byg its; — Eya (Braisi — arctan (Bgqa,is))))

Mo tig mapamdve edlonoetg Bh. [3], PAC2002, €€. 65, 60, 61, 62, 64, 63 xou 59 avtioTtouyo.
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ITAevpixég BUVAUELS EAACTIXWYV YL CUVOLACWUEVY] OAlcUnoT
(combined slip) Vi € {LF, RF, LR, RR}:

SHy/@ = THy1
Rsi = K + SHy/i

By.i = rpy1 cos (arctan (rpyo(a; — rpy3)))

Cyn =Toy1
Eyn = TEy1
D Fyosi

Y cos(Cyy arctan(By, iStys — Eyr(ByrStys — arctan(By, i Siyx)))
Doyyrei = pyiFsi(Tvy1 + Tvysi) cos(arctan(ryyacy))
Svyri = Duyyr.i Sin(ryys arctan(ryyek;)
F,; = Dy, cos(Cy, arctan(By, iks; — Eyx(Bys,ifisi — arctan(By, iksi))) + Svys

[No i mapandve e€iowoeie Bi. 3], PAC2002, €. 74, 69, 70, 71, 73, 72, 76, 75 xou 68

avtioTtolya.

H vhonoinon tou yovtéhou ehactixidv oe Python gaiveton oto [Houpdptnua Al oto xoupdtt
xoduxa [AdL

2.4  Auvvouxr, oYNUATOG

Y10 CommonRoad ¥étovton apyixd neploplopol 6Gov agopd 1o cloTnua dlebiuvong xou Ty
emTdyLVoT oL unopel v AdPel we elcodo o mpocouotwti. Tlpoxewévou va duaturwioly
oL Teptoployol, elodyovTal ol évvoleg Ywvia diebduvong 0, toydtnTa addnong e ywviog
oLV Yuvong v, ToyLTNTAL TOL OYNUAUTOS U, X0 1) TUQAUETEOS Vg TTOU TEQLY PAPEL TNV Ty UTNTA
TV amd TNV omtola 1) oy Ug TOL xiVNTHEa BEV ElvoL ETUEXTHC VoL TROXUAETEL OMGUNCT TEOYWV.
LUUPBOMCOVYE UE min TNV EAGYLOTN BUVUTY| THLY, UE max TN MEYLOTN) OUVATH TUT|, UE 1ar TNV TYY
wac UETOBANTAC oTNY TAdyLa SLEDTUVON XL UE jong TNV THLY WLOC UETABANTAC OTN Ologurixn
ol duvon,.

Ou meproplopol gatvovton Topoxdte:

Us € I:U(Smirﬁ Ugmax:l? 5 € [6min’ 5max] ) (S [Umina Umax]

AopBdvovtoac unddm 6t 1 toyde Tou xvnThRea xou 1 Loy 0¢ TEdNONS Elvol TEQLOPLOUEVEC,
TEOXUTTEL 1) oaxdhoudn cuVIxY, OTee Teptypdgpetar Aemtoucpns oto [5], Ev. II1.B:

v
amaxTS Yo v > g,

(long € [aminu amaX(U>]7 Umax (U) N {CL aAAOU
max :
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Téhoc, Yewpeitar 0 xOxhog TedNc (YVwot6g xou we xUxhog tou Kamm) mou neploptlel tny
AmOAUTY ETLTEYLVOT):

aﬁmg + (U\i/)Q < Qmax (alat = U\Ij)

Ou meproplopol otn ywvia dieduvone, Tnv ToyOTNTo XoL TNV ETLTAYLVCT) UToeoLY Vo ANguoly
Gueoo UTOYN e TNV EloaywYT) Wiog emtduunThc TayTnTag adinong ywviag Slediuvong vsq
xol UG EMVVUNTAC ETLTEYUVONG Along,d XL ETUAEYOVTOC:

0 Yot (0 < Opin A Vsa < 0) V(0 > Opax Avsa > 0)  (C1),
YL -C1 A Us.d S Vs

6min min ?

Vs = 5a Vs,d) =
fsteer( ) Yol -C1A Vs.d 2 Vs

max max ?

Usa  OoAhoU.

H vlomoinomn twv meptopioumy tne taydtntog adinone tne ywviag dieduvone oe Python

goiveton oo [[lapdptnua Al oto xoupdtt xddwa [A.2]

0 yia (U S Umin A along,d S O) V (U 2 Umax AN along,d Z 0)(02),
Along = face(V, Glong,d) = @min Y10 2C2 A Giongd < Gmin,
ong acc\Y, Ylong, amax(v) Y -C2 A Qlong,d Z amax(v),

(long,d aANOD.

H vlornoinon twv neptoptopmy tne emtdyuvone oe Python goivetou oto foR¥o)
xoupdtt xGduxo [A3]
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Me Béon g Bondntinéc petohntéc ond v [Evémnra 2.2] tic Buvduelc twv e acTixdY and
™y X0l TOUG TEPLOPLOUOUS ToU GUOTAPATOS dlebuvorc, utohoyileton To Beld
UEPOC TNC BuVaIXAC Tou oyuatog, dnhadh to & = f(x,u):

Egiowoeig duvauixrg xolvég pe to noviéro Single-Track

Heprypapth Tou povtéhou Single-Track unopel va Bpedel oto [1], oeh. 8-11.

T, = (Vele] COS(ﬁ + JI5> (22)

To = vog sin(f + x5) (2.3)

T3 = fsteer(x& ul) (24)

1

ZjL’4 = E ZX + TgT11 (O(TEé IQI, EE. A].) (25)

‘7'55 = Tg (26)

T = <Z N + ;Z =N L ) (Belte mopaxdTw) (2.7)
I, — I””;: b5

Hopaywylon Tou Zs:
I2ig — I, @ = ZN (a6 [2], €2. A2) (2.8)
Iy 25 — I, 526 = ZL (amé [2], €. A4]) (2.9)

Izz,s

Holamhaowdlovtae v eiowon (2.9) ue i

XL TEOCUETOVTOS TO OMOTEAECUO OTNV

elowon (2.8) mpoximteL:

12
<[z ;UZS)ZEG:ZN—F a:stL
Iﬁf’:s I(bs
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YroAewndpeveg eELOWOELS BUVAULXNAG AVARTWOUEVTNS RAag

7 = 1 (2.10)
. 1 ]acz s ’ 0
Ty = e ( ]’ > N+ ZL) (Beite mopaxdTe) (2.11)
(I¢7S — IZ’ ) z
Tg = T1g (212)
M
i10 = =25 (am6 [3], €. AG) (2.13)
Y,Ss
1
i1 = — Z Ys — xxs  (Beite mopaxdto) (2.14)
mg
jflg = T13 (215)
1
T3 =g — p— > Zg (amd6 [2], €. A5) (2.16)

Haporyoyylon Tou Zg:
[HoMomhaowdlovtac v eiowon (2.8) ue
ekiowon (2.9) mpoxinteL:

Izz,s

e TEOGUETOVING TO UMOTEAEGUO OTNV

Igz,s . Ixz,s
Tps = =2 )iy = 2SN+ 30 L,

Hoparywyion Tou z1:
Xenowonowdvtog 1o a, = i1 + Teq oand [2], €. A46 o ewodyovtag To otny [2], €&, A3
TEOXUTTEL:

my (211 + zeza) = Y Y,
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AVVopX) EUTEOCVLAG 1] AVALTOUEVNE WALAg

F1a = 215 (2.17)
s — Z]Lff (o6 [2], e2. A17) (2.18)
T16 = %Yif — 2624 (omd TV maporydylon tou xh; xou [2], €. Al19) (2.19)
byr = 21 (2.20)
Ty =g — %:anCf (am6 [2], €€. A18) (2.21)

Avvoulxy] onticUlog 1] AVARTOUEVNG RALAS

T19 = Tg0 (2.22)
Tog = ZIUL;” (a6 [2], €&. A1T) (2.23)
To1 = 2 Yur _ TeTs (amb TNV Topary@yon Tou g xou [2], €. Al9) (2.24)
Gra9 = o3 (2.25)
Zog =g — ifjr (amo [2], €&. A18) (2.26)
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MeTateony) TN ENLTAYLVOTS TOU SLAVOCUATOC ELOOBOU OE POTY)
(PEEVOL XAl ALVNTNPN

Avt elvon e tpoatiun oto 2], Tlapdptnuo A, 1 onofor dnutoupyel pomh xivnthpa dtav 1
EMUTAYUVOT) TIOU ETUAEYETOL OTO BLdvuoua €L0600U elvar VETIX XaL POTH QEEVOL OTAV Elval
opvnTixy. 0t600, hapfdvovton UTOYN xon oL TEPLOELGHOL TOL KPOEOUY TN UEYLOTH Toy U TNTA
xou T Yéytotn oy tou xwvnipa (BA. [Hopdotnua Al [A5) yenowonotdvtag ™V face(Z4, us):

Ug = facc($47u2) (227)
0 0

Ty=1{" yroeuz = 5 (2.28)
m - Ry, - uz, OlpopeTd

- Ry - uo, >0
T, — {m Uz, YO U2 (2.29)

0, OLUPOPETIXG.

AUVVOULXN TWY TEOYWYV

H ponry gpévou T, omwe xaw oto 2], €. A55, popdletar uetofd Tou eunpéciou xat Tou

oniodou dEovar olugove pe Ty tapdueteo Ty, (torque split, brake, Bi. [A.5] ypouur [L16).
Ouolwg, n pomy| Tou xivntipa T potpdleton uetadd Tou eunpdcdou xo Tou omioiou dova

oUupova pe Ty topdpetpo Ty (torque split, engine, Ph. Yoopp [117):

1 1 1
Tog = —— (_Rw Forp + T T + Ts,eTE> (2.30)
Ly 2 2
2y = 7 (~Ru Fune + 5Tl + 31,75 (2.31)
Tosg = —— | =Ly * Ly als atse '
25 T RE T 5 dsplB T o lselp
. 1 1 1
To6 = 7 (—Rw -Fyir+ 5(1 —Tsp)Tp + 5(1 - Ts,e>TE> (2.32)
Yy, w
1 1 1
To7 = [7 (—Rw : Fz,RR + 5(1 - Ts,b)TB + 5(1 - Ts,e)TE> (2'33)
Yy, w

Yuverog, otav T, : 1, 0 avtoxivnto elvon tpoothoxivito, otav T, : 0, To autoxivnto
elvor mowxivnto, eve 6tav Ty : 0.5, To autoxivnrto elvar TeTpaxivnTo.
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Arnayodpeuot apvnTiXHc XVALOTG TEOY WYV

Hedxerton yior pa tpootinn oto 2], Hapdetnua A, tou anoyopedel Ty apvntix xOMoT TwV
Teoy V. ‘Otav yenowonoteiton ponr| geévou, ot Tpoyol Tapauévouy axivnTol 6e TepInTWon
TIOU GTAUATACOLY Vo XLVOUVTOL, avTl Vo ETLTOUYOLY TROg Tol THow:

Vi€ [24,...,27) :axi =0y i <0, zi:=0 yi2i <0

ESiowoelg suéhixtwy agdpwoswy

iy = AGF (2.34)
d9 = AJR (2.35)

Muxpég Tayvtnteg

To povtého mou Yo yenowonotniel yiveton povadiodo yior TOAD uxeég TayOTNTES. LUVETOC,
oTNV TERInTWoT auTH Yenotuorotelton To wovtého Single-Track yia tny e€orywyr Twv YeTABA-
NTOV Z1-Tg, OTWS oaxE3WE Tapouctdletal oTo [1], oeh. 10. Emniéov, dhec oL ywvieg
ollovnong optlovton o€ undév:

SLF = SRF = SLR = SRR = QL = Qrp = Qg = Qrr = 0

H vlornoinon tne Suvouixric tou oyfAuotog oe Python galveton oto oTOo
xouudTL xoouwo [A4

2.5 ITlapduetpol

To povtélo Tou Teplypdgnxe amontel cuvohxd 69 TapauETeoug, Ex TwVY onolwy 37 TEocdLopi-

Couv t0 dynua xou 32 ta ehacTixd. Ot mapduetpol Tou oyfuatog Beloxovton 6To
[A], [A.5], eved ou mapduetpol Tou povtéhou ehactixwy oto [A.G
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2.6

Aomp.occrcmv'] Tcpocopoicocm pov*ce’:)\ou

Axolovlel 1 Tp®d TN BOXUYACTIXT TEOGOUOIWST) TOU HOVTEAOL AUTOXLVATOU, ENAVG OTO OTOLO
Yo avamtuydel ahydprdpoc Torque Vectoring (TV).

ALULORPWOY ARYLXOY KATACTACEWY TOL LOVIEAOU

Aoyow

g TohumhoxdTnTog Tou poviéhou Multi-Body, to CommonRoad [1] npoteiver ap-

YXOTOINGT XATACTAGEWY YENOWOTOLWVTS TG axdhovleg Bornintinée yetaBanTéc:

Vz,0
R

wo = (ywelc oAioOnon tpoywy, R: w@éhun oxtiva eAaotixo)),

Vg0 = cos(—LBo)vy (toydtnTar ot Bropxn Sievduvor, urtohoyillduevn and tn ywvio

oModnone B),
vy 0 = sin(—po)vy (taydtntar oty Ay Sievduvor, utoloyllouevn amd TN ywvio
oModnone B),

Uyt = Uy + lf\ilo (toyOnTo oty TGy Sieviuvon otov eunpdotio dEova, utolo-
ylopevn and TNV oy OTNTA 0TO XEVTEO Bdpouc xou amd To puiud empom']g),

Uyr0 = Uy0 — Ir¥q (toydnta oty mAdyla dievduvorn otov oniotho dEovar, unohoytlo-
Uevn amd TNV ToyUTNTO 0TO XEVTEO Bdpoug xou and To puiuo smpom/]g),

in ’ ’ 2 A ’ , ’ 7
20 = 2K:i (uq)oq amod To €dapog EToL HOTE T eAaThpla Vo utooTneilouy To f)cxpog),

émouv i € {f,r}.

Hivaxag 2.1: Apyixéc ouvinixeg povtéhou

Avopt. wdla ocuvpf. Tpn | Mn avapt. wédla ocvuf. Ty | ‘ANAa ouvufB. TN
ovouoacia ovouoacio ovouocia

yaw ang. x5,0 U, roll ang. (f) x14,0 0 wheel speed (LF) 24,0 wy
yaw rate 26,0 T, roll rate (f) x15,0 0 wheel speed (RF) 25,0 wy
roll angle z7,0 0 roll ang. (r) 19,0 0 wheel speed (LR) 226,0 wy
roll rate x8,0 0 roll rate (r) 220,0 0 wheel speed (RR) 227,0 wy
pitch ang. 29,0 0 y-vel. (f) 16,0  wyf,0 | pin joint diff. (f) 228,0 0
pitch rate x10,0 0 y-vel. (r) x21,0  wyr,0 | pin joint diff. (r) 229,0 0
x-velocity 24,0 vx,0 | z-pos. (f) x17,0  zf,0 | x-position x1,0 s, 0
y-velocity z11,0  vy,0 | z-vel. (f) x18,0 0 y-position 22,0 sy, 0
z-position x12,0 0 z-pos. (1) x22,0  zr,0 | steering angle x3,0 0o
z-velocity 13,0 0 z-vel. (r) 23,0 0
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IIpocouolwor aplotepric OTEOPNS

Abyw tou 6T o autoxivito mou Va yenotwonoindel otic tpocopowdoel; (Bmw 3201) ef-
var €€7 optopol mowxivito (RWD), extelelton petatpony| oto apyeio mopapétowy (A.5),
Tpoxetévou vo petatponel oe tetpoxivnto (4WD). Me tov 1pém0 autd diveton duvatdTnta
XoTAVOUNE NS PoTc UETAEY Tou eunpdodov-onictou dZova (Front-rear TV) emnmiéov tng
xotavounc LeTal tng oplotepr|c-0e€idc mhevpdc (Left-right TV) tou oyfuaroc.

H petoatpont| 670 apycio mopouétomy yivetow 6to A5, yeauur 117, apod 1 mopdueteog T .
elvon UTEGYUYY VLol TO BLUOLEAOUS TNG POTAC TOL XIVNTHE UETAUEY TOU EUTPOOULOL Xot TOU

omtotou dova (Bh. [Evotnta 2.4). H napduetpog tideton oe T : 0.5.

H npocopolwon aptotepric otpogric ve ooy Toydtnta 15 m/s, pudud adinone yoviae
dievduvone 0.005 rad/s xou emtdyvvon 0.2g @oiveton Tapoxdte ota Xy. , , . O
Téc vs = 0.0057rad/s o ajong = 0.2g €10dyovtar 6To didvuoua ElGEd0UL (ﬁ?\
xou 1) opywr) TaylTnTa opiletan oTic apywég cuvirixes. To amdomoaoua xOOxa Yoo TNV
npocopoinon nopatidetor oto [lapdptnuo Al

Oéan
70 4 —— EmTayuvopevn aplaTepr oTpogn
60
50 4
E 40
=
=]
&
g 30 A
20
10 1
O .
T T T T T T T T
0 20 40 60 80 100 120 140
x-0on (m)

SxApa 2.2: Tpoyid aprotephic otpogrc ue vo = 15m/s, vs = 0.005 rad/s xat aiong = 0.29
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Fwvia eKTponrc

129 —— Emtayuvopevn aploTepr oTpogr

1.0 -

0.8 1

0.6 1

0.4 1

lovia ektponic (rad)

0.2 1

0.0

Xpovog (s)

SxApe 2.3: Tovia extponhc aplotepric otpogrc ue vy = 15m/s, vy = 0.0057rad/s xou
Qlong = 029

PuBUGC ekTpomriC

0.30 4 — EHIT[IXUUDHEUI’] QPUOTERN OTPOQn

0.25 A

0.20 A

0.15 ~

0.10 ~

PuBuag extponnic (rad/fs)

0.05 ~

0.00 ~

0 1 2 3 4 5 6 7 8
Xpovog (s)

SxApe 2.4: Pududc extponrc aplotepiic otpopic ue vo = 15m/s, vs = 0.005 rad/s xou
Qong = 029
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Ané o Xy. nozpcx‘mpsi'cou opahY| apLoTeERT) 0TPOYT Ywpelc amdTopeg aAlayEg xatediuvorng,
OMOTEAEGUOL AVOEVOUEVO AOY® TOU Wixpol pudpod duénone tng ywviog diedduvong mou
emPBdrheton. Meketvtoag 10 pUIUO EXTEOTAC TOU OYHUATOC OTO LY. , TO oYM OEV
TOEOVGIALEL PAULVOUEVA UTEPOTEOPHC 1 UTOGTROPNS, apol autd oyetilovion ue amdTOUES
dlouudvoelg Tou puidpol extpomic. AvTilétng, oF auTH TNV TEOCOUOIWST TapaTnEElToL
oYEBOV Youuuxr) adEnoT), Ywelc SLoxuPdVoELS.
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KegpdAiowo 3

Torque Vectoring

210 xe@dhano autd meayuatonoeiton eufdiuvon otnyv teyvoroyia tou Torque Vectoring
(TV) xau OoTepo LROTOINOT EVOC TETOLOL GLGTHUATOS GE TEOYpPoUUATIOTIXY YAWooa Python.

3.1 OBOeswpntxd vnofadeo

Yta oupPated autoxivnTa pe TeTpoxivnom, lte Ghol oL TPoyol TOU OYAUATOS XVOUVTL
ouveywe, To omolo avagépetan we all-wheel-drive auvtoxivnto (AWD), eite évag and toug
000 dZoveg elval TEVTOTE GUVOEDEUEVOC UE TOV XWVNTARA, EVEM 0 BeVTEQOC UTtopel var cuvdedel
(yerpoxivnta 1y avtdpartar) 6tov omouteiton. Ilopdho mou awtée oL dlauopPnoels Tou GUGTH-
HOTOC UETABOOTC XIVNOTE UTopoLY VoL BEATIOCOLY TNV TEOCOUGCT) XAl T BUVAULXY| 0B YNONS
O OPXETEG 00WES GLVITES, Ta TeheuTala YEOVia Exouy elcuyVel cusTAUNTU EVERY®Y Ot
agopx®y, Ta ontola ebvar o€ YE€on vor SLVEPOLY TNV oYY TOU XWVNTARO GTOUG EUTEOGUIOUS
xat Toug oniotoug dEoveg, xadde xat oToug aploTeEoUC xou Beglolc Tpoyolc xdle dova,
AVIAOYO UE TOUG ENLYHOUS XOTd TN OLEEXELL TNG OORYNONG AAAG Xou TIC OOES CUVUTXES.

O époc "xatavoury pomic" ("Torque Vectoring') eivar 6poc mou ewofyoye n etoupeia Ri-
cardo [6] yia vo Teptypdiper évay Tpémo peTaforric TN Blavoung TNg Loy og Tou XN THRX
HETUE) TV 800 TAEURMOY EVOC Blopoptxol. Apyixd, 1 xATOVOUT| POTAC TEOYUATOTOLOUVTOY UE
Bdomn T oyeTinéc TayUTNTES TOL apleTEEOL ot Tou 0e€lod dlova. XTn CUVEYEL, eloyUn-
oav evepyd cucthpata Torque Vectoring, mopouctdlovtag SuvatoOTNTES XAUToUVOUNC POTNAS
xatd amaditnon. Iho cuyxexpwéva, éva xevtpwd dapopxd polpdlel T dladéotun 1oyl Tou
XvnTAE oTa BLapopixd TV eumeocthoy X otiotiwv alévwy. Kdie Swpopind tou eu-
npdothou/onioiov dZovo unopel vo e€omhoTel pe éva evepyd cLOTNHA XAUTAVOUYC POTNG,
70 0oTolo ETUTEENEL BLOPOLEUOUS TNG POTAG Xl PETAL) TV OPIGTEPMY Xl OECLOY TEOYWV.
LUVETOG, EVOL EVEQYO XEVTEIXO OLUPOELXO XATAVEUEL TNV EOTY| AVIAOYO PE TNV OUVOULXN
001 YNONG %A TLS BUVATOTNTES TPOGPUCTS Ot e dEova (epumpboio-onioto TV), evd éva
EVEQYO Olopopind oe xdle d&ova xatavéuel Tr pony| o€ xdde Tpoyd (aptotepd-oeci TV). H
Tax T auTh unopel va yenowomoinlel wg cLoTNua EAEYYOU evoTdlelng. Mty Topolou
Amhopotin Epyaota yivetow 1 unddeon 6t o dynua mou yenoudomote{ton diodéter Ty
TOEOTAVE oxElB3WE TEYVohoyio. Xtdyoc eivan 1 dnuoupyio akyoplduou xatavouhic pomic,
UE TN Xerom Tou omolou To Oy nua Yo Tapouotdlel BEATIWUEVES ETLOOOELS AhASL Xt LENUEVN
ao@dhelor xotd Tr Otdexetor elyuny. H afiohdynorn o mporyuatomomdel cuyxpivovtag Tic
EMBOCELC TOU OYAUOTOC UE TO 0VGTNUA aveVERYO (o Tardept| Tetpaxivnon) xa VOTEPX EVERYO.
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YTroctpop

Trootpogn mapatnpeiton Oty Eva dynua oTEiBel ALyGTECO Amd TO AVUPEVOUEVO YO DEQOUEVT
yovio otpoghic Tioviol. 1o cuyxexpuyéva, to eunpdoiia EANCTIXG YEVoUY TEOGHUGT] Xl
YALoTEOLY TEPLGGOTERO amd To omlobiar xatd TN Bdpxeta TNe oTeoghc. (¢ amoTtéheoua, To
Oymua Tetvel va Byel extdg oTPoPrC Xou 0 00NYOS TEETEL Vo oTpllEl TEPLoCOTERD TO TYWOVL
yioe var To xpatrioel otny emuunth mopeio. H unootpogn elvar euxohdtepa dayeiplown o
OYECN UE TNV UTERGTEOPT, AR UTOREL Vor OONYHOEL O UELWUEVT OmOBOGT), WOLUTEPX OTIG
"YheloTéC" oTRPOYEC.

YTrepotpopn

Trepotpogr mapautneeiton OTay Eva Oynua oTeifel TEQLOGHTERO UTO TO UVUUEVOUEVO Yld
0edopéVn Ywvia oTEoPrg Twoviol. Ye auth TNy TeplnTtwor, o omlota ehacTind ydvouv
TEOGPUOT Xl OMGVAVOLY TEPLOGOTERO amd Tal EUTPOCIIAL XUTA TN BLIEXEL TNS CTEOPYC.
Kotd ouvéneia, to omlobo pépoc tou oyruatoc Telvel vo ohoBaivel e€wtepnd oe oyéon
ue To eunpooto utpoc. To @avouevo Tng UTERCTEOPNS Elval TO GUYVO OE OYAUATO UE
x«ivnon otoug oniotioug Tpoy00g xon Uy Ve GUVDEETAUL PE OTIOR Yo ETLIETIXG GTUA OOAYNOTG.
Mropel vo Tpoc@EpeL Ui TLO BUVAULXY| X0 CUVOETIUOTIXY euTtelplor 001y NoNg, aAAS amontel
OELOTNTAL VIO TOV YELPLOUO.

Aptotepd - 6e&l TV

‘Ocov agopd To aptotepd-0eil TV, albénon tng pomic otoug Teoy00¢ TNE plog PEpLdS Tou
oYuaTog, dpo xou adENoT TV SUNX®Y BUVEUEWY TOU 0oX0UVTOL GTO ETUMEDO amd To
ehaoTIXd aUTHC TNE pepLds, pall pe avtiotoryn uelwon tng pomhc otny GAAN uepLd Tou oy N-
ortog, mpoxaholv pla pomy| oteédne oto audEoua (Bh. Ly. . Egapuélovtoc apiotepd-
oeci TV unopel va ehattodel TuydY LUTOCTEOPIXT] GUUTEQLPORT. UETAPEPOVTUS PEYOAUTEQO
uépog tng drardéoung pomhg 6Toug eEmTEpOUS TPoy0U¢ TN oteogrc. H pomt oteédng mou
onuovpyelton fondd To auTtoxivnTo Vo amOXTHOEL GTEVOTERY) TEOYLY Xol VO GTRUPEL TILO XOVTY
oTNV avauevouevn mopeta. AvtioTouya, pmopel vo ehattewlel TuYOV UTEPCTEOYIXY CUUTEE-
LPOEd UETAPEPOVTOG UEYOAUTERO PEPOS TNG Bladéoiung pOoThAC 0TOUC ECWTEROVS TEOY0US
¢ otpogric. To autoxivnto Yo arnoxthcel ThatiTepn TEoYId, xaIoTOVTAG TNV TOPEld TOU
xovTUTERA 0NV EMYuunTY).

Eurnpéocdio - onicdio TV

M meprypagt Tou eunpbdoiiov-oniotiou TV ye Bdon toug véuoug e Quotxic €yel wg
elhc: Kadog mepioodtepn pony| petogpépeton 6Tov eumpooho dlova, 1 enidpactn Tewv O
OUAXGY BUVAUEWY OTOUG EuTpOchoug Teoyolg auidvetor. Adyw autrg Tng enidpaong, N
Slopnxng oAicUnon Tou eunpdcdou dZova aLEAVETOL, EVE AUTH TOU Tiow E0Va UELDVETAL.
Auté odnyel eniong ot Yeloon Twv TAEUEXGY BUVAUEWY TOU ToEdyovTaL and To EUnEdcLa
ehooTixd og olyxpelon pe ta onioia, dmwe e€nyeiton and Tov xUxho teric (friction ellipse).
H pelwon tov TAgupiney SUVIHEWY TROXUAEL QotVOUEVO UTOGTEOPTS, TO oTolo UTopel Vo
Bondnoel Eva dynua Tou Peloxetal O XATAC TUOT) UTEROTROPNS VoL UTOXTACEL O OUBETERT)
ouunepLpopd. AvZdvovTog TN ponn 6T Tow eEAcTIXd xat AouBdvovTag unddm To (Blo pouvo-
uevo, mpoxaheiton Tdom UTEECTEOYNS, YEYOVOS Tou umopel vor Bondnoel €va dynuo Tou
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Beloxeton 08 XUTACTACT) UTOCTROPNC VoL ATOXTACEL O XAEIGTY TEOYLA, apol aLEVEL TNV
TAeLEW( B0V 0TOV EUTEOCO GEOVA XL, CUVETMS, BEATIOVEL TN BUVATOTNTO TOU 081 Y0U
v xateudiver to awtoxivio [7].

Iapdho mou 1 prrocoglia Tou TV elvon TopduoLd e AUTH TRV CUCTNUATLY EAEY Y OU NAEXTEOV-
e evatdetog (ESC), to TV eivan mo amoteleopatixd, Wing otn dnutovpyio Stopdontixic
pomhc oTEEdNC Tou oY UaToC 0 UPMAES ToUTNTES ol XOTA T1) DIIEXELN EXTOXTWY EALYHOVY
X0V oTa GpLol TPOCPUOTG .

-
-

Yxhue 3.1: AoGupeten xatavouy| pomhAg UETAED TeV TpoY WY Tou onicdiou dlova
AF,: Ab&non Swoprxoug SOvaune eAacTIXO0 AGXOVUEVT GTO €0aPog
M: Awopdwtiny pormh atpédng opaduoatog
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3.2 Enidpaocmn xaTtavounc ponne

Yty Evétnra auth Ya egoppoctolv cuvontixd 6to povtého oyfuatoc (Bh. [Kegdhowo 2)

TOXTXES ToU TEpLy pdiprxay oty [EvotnTa 3.1] mpoxewévou va evioyuiolv ue ontixd anoteréo-
wota. H viomoinon Yo yiver ywpelc tnv enidpacn xdmolou eldoug eAéyyou.

Apiotepo - &l TV

Ipoxewévou vo emtevytel acluueten xatovour comig UETOED TV TPoYMY TNg 0eCLde XoL
NG APLOTERNC TAELUPAC TOU UOVTEAOU OYNUATOC, ETEXTEIVETOL TO BLAVUOUN ELGOOOU ([3)\ e€.
2.1)) étol dote vo déyetan axdua pio uetaBAnty, TN dopdwtind pont| (AT') nou Yo tpooti-
Yetar oToug Teoyols TN piag TASLEAS xou TauTOYEova Yo apotpeital amd Toug TEOY 0V TNG
ATEVOVTL TAEURALC.

To didvuoua eioddou 1 apywd AduBave otny TenmTn ¥€on Tou To puiud aldnong g yYwviag
oleduvong xou ot BelTeEEN VEon TOL TNV EMTAYLYOT TOU XEVTEOU Udlog TOU AUTOXLVHTOV.
To véo Bidvuoua eL6HBOU TOU TUEEYEL T1) BUVATOTNTA ACVUPETENG XATAVOUNG POTHS elvou:

u = (u, U, ug), OTOL Uy = Vs, U = Ajong XU Uz = AT (3.1)

H petofinty AT mpootiveton 0T €€lOOOEIC AvamapdoTaoNS TNS TayUTNTIC TOV TEOY OV
e Oedide mhevpdc (€. [2.31) [2.33]) xon oponpeiton and Tic €ElOMOEC AVaTUPdoTAONS TNG

ToUTNTOAC TWVY TPOYOY TNS aptoTephc Thevpds (eZ. [2.30} [2.32)), ondte 1 avavemuévn duvouix
TWV TEOYWOV €YEL w¢ eENC:

1 1 1
Tog = — (_Rw : Fz,LF + = s,bTB +5 S,GTE - TsﬁAT)
Iyw 2 2
‘ 1 1 1
Tos = 7 (_Rw Fyrr+ 2Ty + T TE + Ts’eAT>
Iyw 2 2
1 L L
Tog = [7 (_Rw . F:L‘,LR + 5(1 — Ts7b)TB + 5(1 - Ts,e)TE - (1 — Ts7e)AT>
y,w
. 1 1 1
Tor = (_Rw Farr+ 5 (1= T)Tp + (1= Toe)Tp + (1 - Ts’e)AT>
Yy, w

H evnugpnmon tou apyelou Buvauixiic ToU HOVTEAOU UE TIG Topamdve Tpocdrxeg tapatideTton
oo [Lopdotnuoa Al [A.8l H enéxtaon tou daviouatog eloédou yivetoar ot yeouur 73] Tou
x@Otxa xou ot eELDCELS ®iVNoNE TV TPoY®Y Tpotorotovvtal ot yeauur 330}
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IIpocouwolwor aploTepc OTROPNC LE XATAVOWY] POTTNG

Ou extehealel Tpocouoinwon aplotephc oTROPHS UE oyt ToybTnTa 15 m/s, pudud adZnone
yowviag diedduvone 0.005 rad/s xou emtdyvvon 0.2g, 6w xon oTny . Qot6oo0,
oe oty TN doxauy| Vo Slavepel peyahlTERO PEPOS TN POTC TOU XLVNTYPA OTOUG TEOY00S
NG 0edldg TAEVPAS TOU OYAHATOS o LoTepa To avtioTpogo. H emmiéov Sopdwtins pomy
mou Yo petageplel o xdde mheupd emaéyeton AT = 100 Nm. Ta anoteréopata tng

npocopoiwong goivovton mapaxdtw ot By. [3.2 B3} B-4 To andomacuo x@dixa yior TV
tpocoyolwon moapotidetoun oto [[lagdotnua Al [A.9]

ZUyKpLon BEong

g0 4 —— emTdyvvon xwpic TV
EMLTAYUVaN JE TpdoBeTn pormr oTn GeELd mAEupd
70 4 —— emTdyuvan Je mpdoBeTn ponr oTNV aplOTERN MALUPA

y-8€on (m)
-y
o

30 4
20 1
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D -
T T T T T T T T T
0 20 40 60 80 100 120 140 160
x-BEon (m)

SyAua 3.2: Tooyid aplotephic otpogic pe vg = 15m/s, vs = 0.0057ad/s, aiong = 0.2g
xou xoatovour| pomc AT = 100 Nm
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TOyKpLOn ywviag eKTpoMg

141 — EMTAYLVOn Ywpic TV
—— EMTdyUvon JE npdoBeTn porry otrn 6eELd MAELPG

12— EMLTAYUVON E MPOOBETN poT| OTNV apLOTERN MAELPG
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0.0 +

T T T T T T T T T
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Xpovoc (s)

YA 3.3: Tovio extponhc oplotepic otpoghc Ye vg = 15m/s, vs = 0.0057rad/s,
Aong = 0.2g xou xatavouy| poric AT = 100 Nm

Z0yKplan puBuol EKTPOTIAC

— emTdyuvon ywpic TV
0.6 4 —— EMTA)UvOn YE MpooBeTn ponn otn 6eELd MAsupd
—— EMTAYUVON JE MPOOBETN poT| OTNV apLOTERN MAEUPG
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Xpovog (s)

SxApne 3.4: Puludc extponic aplotepric otpogrc ve vy = 15m/s, vs = 0.0057rad/s,
Aiong = 0.2 xou xatavour| ponc AT = 100 Nm
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Amé v mapamdve mpocopoinor emakniedtnxe 1 enidpacn tou TV o1 cuunepipopd Tou
avtoxwihitou. ‘Onwe avagéotnxe xa oty [Evétnra 3.1] n petagopd ueyohitepou uépouc
¢ Stodéotung pomic oToug eEWTEPLXOUE TEOY 0V TNE OTPOYNC ONtolpYNoe ot oTEEPNC
oL WUNCE TO AU TOXIVNTO OE GTEVOTERT TEOYLA (E)(. xan o€ VYNAGTERO PUIUG EXTEOTHC
(Xy. . Luyxprtixd, 1 yovio extponhc Yo t = 7.5 s mopouctdlel adénon oyedov 0.2 rad,
OTWS polveTon 6TO oYU . Avtidétwe, 1 yetagopd peyahitepou uépoug Tng Sardéouung
POTIiG OTOUG ECWTEPLXOUE TPOY0UE TNG 0TEOPTE Winoe To autoxivito o TAaT)OTERT TEOY LA
(Xy. xou o€ younhotepo pulud extponric (Xy. . H yovio extponiic 1 yeovin
otyu t = 7.5s yewwidnxe ota 0.9 rad, oc oyéon pe to oynua ywelc TV, nou v Bl
oTiyUr) mopoucioce ywvia extponrc 1 rad.

Eunpéciio - onicio TV

Hpoxewévou va emtevydel acluueten xatavour| pomig xat UeTadd Tou eunpdcdou xot Tou

omiotiou d€ova Tou Yovtéhou oyfuatog, enexteiveton Eavd To didvuoua eto6dou (BA. €&

3.1) étol dhote vo déyeTon axdpa plar LeTaBANTY, TNV Topdueteo T ., n omola elvar uTediuvn

Yo auTh axeiBoe ) Bradixacio (BA. [Evotnta 2.4). Enouévee, to véo Sidvuoua etoédou mou
TOREYEL T BUVATOTNTO ACVUPPETENG HATAVOURC TNS POTAC UETAEY TWY TEOYWY XAVE TAEURAC,
oAAG xon YeTay Tou eumpdctiou xou ontioviou dova etvou:

’
u = (U, Uz, ug, Uyg), OMOU U = Vg, Uy = Qiong, Uz = AT xou ug = Ty,

H rapduetpog Ts . exppdleton mAéov wg €loodog uy 0TI €EICMOELS AVITORAOTUCNS TNG
Ty OTNTUG TWY TEOY WY, OL OTOIEC TalEVOLY TN LOPPY):

1 1 1
Toy = —— <_Rw cForrp + T I + sugdlp — U4AT)
Iy 2 2
. 1 1 1
Loy = [7 (—Rw . F:Jc,RF + §Ts,bTB —+ §U4TE + U4AT>
Yy, w
. 1 1 1
To6 = If <_Rw : Fx,LR + 5(1 - Ts,b)TB + 5(1 - U4)TE - (1 - U4)AT)
Yy, w
1 1 1
L7 = T <_Rw : Fz,RR + 5(1 - Ts,b)TB + 5(1 - u4)TE + (1 - U4)AT)
Yy, w

H evnuépnmon tou apyelou Buvauixic ToU HOVTEAOU UE TIG ToRImave Tpocdrixeg tapatideTton
oo [Hapdotnua A |A.10, H enéxtaon tou dwaviouatog etcodou yiveton ot yeoupr (72 Tou
A0 XAl oL EELOOOELS (VOGS TWY TROY MV TPOTOTOLOLYTOL GTY) YRUUUY) .
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ITpocouolwor aploTepr|c OTEOPNG UE XATAVOUY POTY g 0Ll -
APLOTEPA AU EUNEOGC - oW

Oa extelecVel TPOCOUOIWOT APIOTERY|C OTEOPTS UE oEytxY| TaryTNTaL 15 m/s, pudud adénonc
yoviag dievduvong 0.005 rad/s xou emtdyuvon 0.2g. Qotoc0, oc auty| TN doxiuy), ExXTOC
ano xatovopr ponric AT = 100 Nm otoug Tpoyols xdie mAcupds Tou oyrfjuatog, Yo emifBA-
el xou acOupeTEn xatavour| pomic KeTald Tou eunpécdou xau Tou onichou dZova. Ilo
CUYXEXQUIEVD, OTAV EXTEAELTAL PETAPOPS POTAC OTOUS EEMTEPIXOUS TEOYOUS TN OTEOPHC,
Vo avZdveton mapdhinho 1 dtadéowun pony| atov onioho dEova (emhéyeton ug = 0.2, BA.
. Avtidétog, dtay exteleiton YeTa@opd poTrE 0TOUC EcWTERPXOUS TeoyoUg, Vu
awZdveton 1) Btordéoiun pon otov eumpdodio dEova (emiéyetan ug = 0.8). To amoteréopota
ne mpocouoinong mapatievton mopaxdtw, ota Ny. [B.5] 3.6} B.7 To ambonacua xdhdwxa
Yo v Tpocopoinon nopatideton oto [[opdotnua Al [A.T1]

T0yKpLan B€ong

— Xwpig TV
UE MpdoBeTn pomr ot GeELd MAEupd

uE mpdoBeTn porry otn GeELd mMAevpd + 80% Tng pomrig
niow

80 7

—— pE npdoBETN porr| TNV apLoTEP MAELPA
UE MPAOBETN pomr OTNV aploTepr MAELPd + 80% TNC
60 pomrig Epnpog

y-B€an (m)
ey
o

20

T T T T
0 20 40 60 80 100 120 140 160
x-BEan (m)

SxApe 3.5: Tpoyid aplotepric otpopc ue vo = 15m/s, vs = 0.005 rad/s xa aong = 0.2g,
xotavour) ponhAc AT = 100 Nm xon ugy = 0.2/0.8
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T0ykplon ywvlag eKTPOTIHG

— Xwpig TV
Laqp _— pe mpooBeTn pomr otn GeEld mAsupd
WE MpGOoBETN pomr ot GeELA MAELPd + 80% TN pomic
niow
Lz | — HE MPGOBETN poTr) OTNY apLOTEPH MAELPQ
HE MPGOBETN pomr) OTNV apLOTEPH MAEUPA + 80% TNG
104 pomfg epnpodg
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Xpovog (s)

Yxhue 3.6: T'wvio extponic aptotepic oTpoPic Ue vy = 15 m/s, vs = 0.005rad/s xon
Qiong = 0.2g, xotavopr| ponic AT = 100 Nm xaw uy = 0.2/0.8

Z0yKpLon pUBLOL EKTPOTAC

— ywpic TV
—— UE mpooBeTn pomr otn GEELE MAEUpQ
0.6 7 WE MPATBETN pomr oTn GeELG MALvpd + 80% TG pomng
niow
—— UE MPGOBETN pomr) OTNV apLOTEPH MAEUPA
0.5 1 WE MPGOBETN pomr) OTNV apLOTEPH MAEUPA + 80% NG
_ porig eunpag
5
£ 04
wr
=
=
[=]
(=1
E 0.3
w
o
=]
=
=
2 0.2
0.1 4
0.0 A
0 1 2 3 4 5 6 7 8
Xpoévoc (s)

Yxhue 3.7: Puduodg extponirc apiotepric 0Tpoghc UE vy = 15 m/s, vs = 0.005rad/s xou
Aiong = 0.2g, xoatavour| ponic AT = 100 Nm xon uy = 0.2/0.8
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Hpdrypott, amd to dudrypouua TG TEoY LS xot Tou pUIHOY EXTEOTAG TOU OYNUAUTOS PalvETAL OTL
1 GUYBUOGTIXT XAUTOVOUT] POTNG METOEY TWV APLOTEQMV-OEELMY TROY MY Xl TOU EUNPOTToU-
orniodou dCova evioyuoe Tt onuoupyio dlopdwtinfc pomrc oTeEédng oto oudimua. XTo
2y ouyxplvetar 1 TEoYLd TOu auToXIVATOU EQupUdlovTac aploTepd-0edl TV e tnv
TPOYd 6TV EQaupuooTel emmhéov eunpdoto-onicHo TV. Ilopatneeiton otevdTepn tpoyLd
OTOY TA 2 CLUOTAUATA BEOUY GUVBLACTIXG, WOTOCO 1) OLPopd QolveTar vor elvon eAdyLoTY).
Yto My. ouyxpiveton 0 PLIUOC EXTEPOTTC TOU UTOXLVATOU EQUEUOLOVTOC HELOTERO-OEL!
TV pe to puiud extponrc 6tav egapuooTel emnAéov eunpbdoiio-oniotio TV. Xe auth v
TEPIMTWOT, Ol BLUPOPES TIOU TUEATNEOUVTAL EVAL OXOUN UIXEOTERES OTAY TA 2 GUCTAUOTA
dpouv cuvdbuaoTxd. H enidpaon tou opiotepol-6e€lo0 xou Tou eunpdcdiov-onicthou TV
OLVERYAUTXE, OAAG Xou PePOVwPEVa, Yo e€etacToly e Bddog oTr ouvéyela,
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3.3 YAomolnorn CLUCTAUATOS HATAVOUNS POTING

Ye auth) v Evotnra Yo vhonomndel éva cbotnua xatavourc ponhc, To omoio Yo mpocap-

wootel 6To povtého Tou oyfuatog tou meprypdpnxe oto [Kepdhao 2}

Idavixd povtEro oynuatog

Ipoxewevou va eqopuootel ToxTix| EAEYYOU Tou Vo avohdBeL TNV xatovour T PoTAg
TOU XIVNTAHRPA GTOUC TPOY0US, TEETEL Vo oploTel €var uovtélo To omolo Yo mopouctdlel TNy
emduUNTY CUUTERLPOEE TOL OYHUUTOS XUTd T dLdpxela eEAyuwy. Eva yovtého nou yenot-
vomoteiton amd TOAAOUC E0EUVNTES YLol TOV GXOT6 aWTH efval TO YOVTEAD TOBNATOU (Single
Track Model # Bicycle Model). Ipdxeiton yio évor yooupxomonuévo Hovtého Tou ovo-
TOELOTE TNV TEOYLE EVOS Oy fuatog OTay autd Peloxetun o otadepr) xutdoTaoT oTEOPY|C
(steady state cornering) [[9] oeX.59], dnhady| dev napoucidlel utocstEoyt Y utepateon (BA.
Evotnta 3.1)). Hopoxdte gatvetar éva povtéro modnAdtou.

Yo 3.8: Movtélo uool oyAUaTog - TodNAdTOU
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Iavixodg puIUOC ExTEOTYG

To pueyédn mou Yo cuyxpivovtar xdde ypovixh oTIYUY| TEOXEWEVOL Vol TEOXOTTEL TO GOIAUN
mou Va lodyetar oTov ahyopriuo eréyyou etvar 0 pUTUOC EXTEOTHC TOU LBUVIXOU LOVTEAOU
(smﬁupméq) XL O TEAYHUTIXOG pLIUOE exTEOTAG TOL OYYUoTog Trg Tpocouoiwone. To
uéyevog autd e€etdleton SLOTL elvon GUECA CUVOEDEUEVO UE TA (POUVOUEVO UTOCTROYNE XOl
unepoteogrc. Ilo ouyxexpiuéva, 6Tav o mpaypaTndg puUOS exteoThc elvon peyahiTe-
P0C TOU 1BovIX00, aUTO dNAMVEL 6TL To autoxivnTo Telvel Vo oTtpagel TeplocdTEpo amd TO
emduunTo Yior OEGOUEVT YWVid OTEOPAC TLOVIOU, CUVETKC TopuTNeeitol UTepsTeo)r. Av-
TWETOC, TEAYUATIXOS PUINOE EXTROTAC UXPOTEROS TOU LOUVIXOU TUQUTEUTEL O XAUTAGC TACT)
unooTeohc. Lougwve ue to BiBAio tou Rajamani [9], oek. 231, yir yovia Sievduvone o
xou TaryTNTO oy AUTog V, 0 1avixdg puiude exteomhc uoloyileton we eEAC:

] Vo
des — mV2(1pCar—17Car)
b+l + = et

(3.11)

omou lg, 1, oL anoctdoelc Tou eunpdoviou xar Tou onioviou dova amd To ®Evipo Bdpoug
Tou autoxtvitou xot Cor, Oy, ot Cornering Stiffness twv eumpdotiwy xar twv oniotiwy
ehaoTX®V avtioTolya.

261600, 0 emuuntog puiude extponic Oev ebvar TdvTa duvatd va emiteuydel. Aev elvon ao-
paée, yio mopdderypa, va Yeweniel 1 mopamdve tur Wovixod puduol extpornhc (BA. ,
€dv 0 cuvtekeoTrg TEYHC TOL €BdPoug OeV elvon o VEoT Vo TUPACYEL TIG AMALTOUUEVES
dLVAPELS EhaoTIXOY. ()¢ ex ToUTOU, 0 emuuntég PLIUGS exTEOTHC TEETEL Vo TeptoplleTon
Omo Lol CUVEETNOY TOU GUVTEAESTH TEBHC TOU EAACTXOU Xou Tou EmimESoL. AuTd LAoToLEl-
Tou ealoviag TNV TAEUELXT] EMLTAYLYOT ond aUTOV Tov cuvteheoTr. H mopamndve totin
avohDeta e1¢ Bédvoc oo BiBAio Tou Rajamani [9], oek. 233-234. Xuvende, o Bavixdc puduoc
exTeomNC Tou Yovtéhou Yo utohoyileton amd TNy eéicwon , EXTOC av elvol HEYAAVTEQOG
amo To dve Oplo Tou Ya yenowonowmiet, To omolo tieTon we:

. 0.85
wupperbound = V:U/g (3 1 2)

Y10 andonacua x0owa [A.12] tou Beloxetow oto [[Hoapdotnuo Al topatideton n cuvdetno
P P P

desired__values, n ool dEyetan wg oplopata TN ywvia dievduvorng 6, Ty toydTnTe V
XOU TNV ETUTAYUVON Uz = Qlong (BA. €Z. 3.6]) xou EMOTEEPEL TOV emuUNTO PLUIUG EXTEOTIC,
AopfdvovTog UTOPT %o TOV TUPATAVE TEPLOPIGUO.
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ANyoprdupog yia aprotepo - 6l TV

[ivetar yphon evog PD ekeyxtr (Proportional-Derivative Controller), o onolog 6éyetan
0¢ €l60d0 TO GPIAUN TOU PLIUOU EXTEOTAC Xo ETLOTEEPEL w¢ €€odo To péyedog xon To
TEOOTO NG dlopUwTinfg poTrg Tou Yo npoctedel oToug TPoY00S xde UepLdg Tou auUTOX-
wAtou. Ot ekeyxtéc PD ypnowonoolvtal gupéwe o8 cUCTAUNTA EAEY YOV, CUUTEQLAO-
Bovouévwy tev epapuoydy TV, xadoe tpocpépouy tooppotio uetald avoloyxwy (propor-
tional) ot mopdywywyv (derivative) dpdoewy, xohoThVTAG TOUS XATEAANAN ETAOYY| Yiol TOV
ENEY YO DUVOULX®Y CUGTNUATOY OTWG Tal oy uata. H avahoyind) cuvioT®oo ETLTEETEL GTOV
EAEYUTT VO AVTATOXQPIVETOL JUECH GTO TAPOY GPdhual (PUIIOD EXTEOTNG GT1) CUYXEXQWIEVT
nepintwon), Bondodviog oty xadodrynon tou oyfuatog mpog Ty emduunty teoytd. H
TRy WYT oUVIGTWOoA AouPdverl untodn to puiud peTUBoATC TOU CYIAUNTOS, ETLTEETOVTOC
OTOV EAEYATT) VoL TEOPBAETEL UEANOVTIXEC TATELS %01 Vol TROPBALVEL GE TPOANTITIXES TPOCUPUOYES
YLoL TV AMOQUYY| UTERTNOHCEWY 1) TOAXAVTOOE®Y. AUTO TO YopoXTNEIGTXO Eival YeroWo Yo
N thenom e oToepdTNTOC XATd TN OLdpXEL TV EAYU®Y. Emmiéoyv, ol eheyxtéc PD
elvon oyeTd amiol oty LAoToINCT X0t LTOAOYICTIXG ATOBOTIXOL, XUNGTWOVTAS TOUG ULX
CEAMO TIXT] ETUAOYT Y10l EQUPUOYES TTEAYUATIXOU YEOVOU GTNY auToXVNTOBlounyavio.

Axohoulel avohuTtiny| meptypapr| Tou alyoplluou mou vhomollnxe, o omolog epaupudleTan
o€ e ypeovixd Briua Tng TPOCOoUOlWoTNG:

« Troloylouoe Swdéoune pomnc amd tov xwvnieo (Tk), AopPdvovtag unddn toug

neptoptopole tne emtdyuvone (BA. [Evotnto 2.4)

o TToloYIoUOS TOU CYANINTOS, UPAULOMOVTIS TNV TEAYUXTIXY TWT| Tou pUUUO) EXTEOTHC
o6 TNy emuunTA

o Xpromnevog PD Eheyxty| yia TOV uno)\oy}opé ¢ dlopdwtinrg porhc AT (ﬁ)\ .
[ Yetinée Tyéc oQEAUATOC (Ydes > Yactual) TO OYNUOL UTOC TEEPEL, OTOTE UETAUPERETOL
UEYUAUTERO UEPOC TNS POTC OTOUC EEMTERIXOUS TROYOUS NG OTROPNC. Xe avtilet
TEPITTWON, AWEEVETAL 1) pOTH GTOUG TEOY0UC EOWTEPXY TN aTEOYNS (BA. .

H €€odog Tou eheyxty| ehtiotonoteiton €netta amd pUIULOY TWV TUPUUETEWY TOU (ky
xou kq)

o Poayn) TN TWrC €680V TOU EAEYHTH PETAL) TV TV [—%E, %’ﬂ, apo ot ebvou 1)
UEYLOTN PETOPOpd pOTHC Tou dUvarTal vor Yivel UETad) TwV BeELMY XAl TV 0PLOTERGY

TEOY WV xdde dEova

o« Evnuépwon tou dlaviopatog elo6dou (BA. eE. e TV Th Tne dtopdwtind| pomic
TOU UTIOAOYIOTNXE YOl TO CUYXEXPLUEVO YPOVIXO Bhua TN Teocouolwong

o Evnuepworn tou HoVTEAOL OYAUATOS UE TO UVUVEWHUEVO OLEVUOUN ELGODOU, TO OTolo
mepéyel v T AT, mou Jo exTEAEOEL TNV XATOVOUY POTIAC YLOL TO CUYXEXQWIEVO
Yoo Bhua TG mpocouolwong
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ANyoprdpog yia eunpocVio - onicdo TV

Exteheiton ypouuxn mopepBohy| tpoxeyévou va putuo el 1 tuy| tne mopopéteou Ty . Tou ot-
aviopatog €160 (BA. €E. , e Bdon Ty Ty Tov opdipatog Tou puluol exteonrc. O
oAyopriuog Aettovpyel we e€hc: ‘Otav To opdida eivon Yetind (emdupntoc pudude extpomhc
> mporyUatixoV), ondTe To Oynua Peloxeton ot XaTdo TaoT, UTOG TEOPNS, 1 TapdueTeoC T .
UEWVETOL Yior Var xartaveundel yeyohUtepo pépog tne pomhc otov onlotho d&ova (BA. SE
ol . Avuiétng, otav o emuuntog puiudg extponhic < TEUYUATIXG, 1) TUPAUETEOSC
T e av&dvetan yioo vou xatoveuniel peyohitepo pépog otov eunpéoho dlova. Ou taxTixéc

auTéS avaAbinxay meonyouuévwe otny [Evotnta 3.1 Avolutixdtepa:

« Xprnowwonotelton 1 eviohy| interpld tng xAdong scipy.interpolate, n omolo mopeuSdAieL
Yeouuxd Tic Tpée ogdhpoatoc oto didotnua [0.1, 0.9], to onoio opilet Tic optoxée
TWES NG mapapeTeou eAEYyou Ty .. H emhoyr| tou dactruatog [0.1, 0.9] oTUolVEL
oTL 0 ahyopripog Yo etvon oe Véon va amontel YETAUPOPE POTHC £6G oL TOU 90% tnc
dldéoiung oc évay dova.

o O tpéc opdhuatog apywd gpdlovton ota [—1.5, 1.5]rad/s, mou onuaiver 6Tt e€o-
Tepd otV 1N Topdueteog T . malpvel Tic oploxée g Twes. H evaodnolo tou
eheyx T auEdveTon 660 To BLdoTNUN AUTO Wixpalvet, agol 1 Ty . haufBdvel Tig oplaxéc
TWES TS YENYOROTERAL.

O mapandve alyodprduoc vhonolelton ue Tn ouvdptnon tune__ T _se, n onola mapotideTon

oto [Hupdptruo A] andonaopa xddwxa [A T3]
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Kegpdiowo 4

FEopopuoyr, Torque Vectoring cto oynua

Ye autd to Kegdhoo Yo yivel mpooapuoyr twv adyopllunmy Tou Topoucldotnxay oTny
0TO UOVTEAO TOU OYAUATOG (B)\ . [a v a&loldynorn tou
oLCTHUUTOS Tou dnutovpyinxe Vo exteAecVoly TEELS EALYUOl UE TEELS DLUQPOPETIXES dp-
ywéc toyonteg (dm/s f 14.4km/h, 8m/s ¥ 28.8 km/h, 15m/s 1y 54 km/h) ywo xdde
ENLYUO:

1. Emtoayuvépevn apiotepr otpogr| we puiud adinong yoviae diedduvone vs = 0.05rad/s
X0l ETUTAYUVOT iong = 0.2¢

2. EmBolr axaptaiog yoviog dievduvong 6 = 0.314 rad xon emitdyuvong aiong = 0.3g €V
T0 awtoxivnto xwvelton oe euleia ye otodepr) TayUTnTa (step-steer maneuver)

3. Ehvypoc amoguyrc eunodiou oto oddotpwua (obstacle avoidance maneuver). Kadde
T0 aVTOoXiVNTO TAELOEVEL UE apyxT| ToUTNTA, O 0ONYOC ovaryxdLEToL VoL amo@UYEL EUTO-
0L0 o VoL eoTEEPEL 0N Awplda ToU 600 To YEHYOEd oL AGQUADS YIVETOL, TOOXEUE-
vou va unv mpoxAndel atdynuo pe tor autoxivita Tou TANCLECoLY amd TNV omEVOVTL
Aowpeida. o Tov oxomd autd EMAEYETUL EMLTEYUVOT] Glong = 0.2g. Ilpoxeiuévou va
Tpocouotwiel 1 Wovixy| Teoytd Tou oyAUATOS Yo xdde TEpiTTWOoN YA ToyLTN-
g, yenotonotelton to Single Track Drift Model tou Commonroad (1], oer.11).
To oyetind andonacya xwda Yo TopouclacTel 6T cUVEYEla. ExteAdvtog doxiuéc
TV 0TO HOVTERD aUTO, ECAyETOL Yiol XGUE TERIMTWON APy IXAC To UTNTAS 1) CUVEETNON
Tou puipol alinong ywviug diediuvong mou amanteiton yior vo exteecVel 0 ehypog
AmOQUYTHC EUTOdioU:

e T Vg = 4m/3; vs = —0.5cos (%Tﬂ- . tlme[z] + %)
o [ vg=8m/s: vs =—0.5cos (%TW - timeld] + ﬁ)
o T vy =15m/s: vs = —0.5cos (%Tﬂ - time[d] + ﬁ) ’

6mou timeli] o TEEYOV YPOVOS OTO 1-00TO [BHUd TN TEOCOUOIWOTC.
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Ou ehvypol Yo mpaypatonotniody axohovdmvTag TNV TapaxdTte @Liocopla:

o Yotnua TV avevepyd

Apiotepo-oell TV evepyd

« BEumpéoho-onicho TV evepyd

Aplotepo-0eti & eunpodoo-oniotho TV evepyod
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4.1 EmToyuvouevn aploTERY OTRoYN

4.1.1 3Votnua TV avevepyo

O ehrypog exteheltan 500 Qopéc. Apyxd yweic emPBolt| pomhic xvnTrpa 1 EEVou xon Vo TERA
UE TNV Ty TG emitdyuvong tou mpoavagépinxe. ‘Etol anotunmveton xakitepa 1) entidpouon
e emtdyuvong xatd ) ddpxewr otpoghc. To Sidvuoua etobdou (BA. YioL TNV ouY-
AEXPUEVT TpocouolwoT oplleto we eCAC:

Ucoast = (0057 07 07 05)

piaeis

Unce = (0.05, 0.2, 0, 0.5)

To oyfuota anoteleoudtwy mapatidevtar ota Ly [5.1) - Ly [5.9) ve ™ loywr oepd mou
avapepUnxe Tponyouuevens. Oha Tor oy UaTta TEOCOUOIONG TWY EALYUOV UE OAOUS TOUG
GuvduaopoUS egapuoYTic Twv custhudtwy TV Beioxovta oto [Kepdhoto 5], cuvodeudueva

/ / /
amo AVOUAUTIXG GYONCUO.

4.1.2 Apiotepd - 6e&i TV evepyo

Extéheon tou {dtou ehrypol e aplotepd-oeét TV. H vionoinon o Python tou ahydpriuou

Tou avamtUYOnxe oty [EvoTrnTo 3.3 %o 1) TPOCUPUOYT) TOU GTO HOVTELO OVUTORAGC TUCTIC TOU

oy YhoTog palvetan oTo Hocoocé‘cﬁgoc 5, ATOOTIOGUOL XOOLXA, . To oy fjuota anoTeAeoudToY
napatidevton oto Xy f5.10[- Xy 5.18]

4.1.3 Ewpnpdécvio - onicio TV evepyod

H vlonoinon oe Python tou adydprdpou mou avarntdydnxe otnv XOlL 1) TTPOGUP-
LOYT| TOU 670 UoVTéLO avomopdo taomg Tou oyfuatog gaivetar oo [updptnua Al andonaopa
HOOLXAL . X1 yeoupn 3| eCdyeton yia xde ypovixd Briua Tne Tpocouolwone N T Tne
TPAUETEOU EAEYYOUL Ty ¢, EVL GTN YEUUUY| [DS|EVNUELOVETAL TO LOVTEAOL OVATHUEAC TUOTC TOU
OYNOTOG PE TO AVAVEWPEVO dLdvuoua etlcddou. To oyruata anoteeoudtony tapatidevton

oTa Exj5.é—l3 - Exj5.51.

4.1.4 Apiotepd - 8e&i & cunpdcio-onicVio TV evepyd

O x@odixag vhoTolnoNe TWV BUO TaX TGV cLYOLACTIXd Tapativeton oTo ([TapdoTnua Al |A.16]
To oyfpato anoteAecudtwy nopatidevton ota Xy {5.70|- ij5.78.
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4.2 Step - steer maneuver

4.2.1 3Votnua TV avevepyo

To dudvuoya eto660U (Bk YL THY CLUYXEXPWEVT] TeoGopolwaT 0plleTon v e€nc:

w= (0., 0.3g, 0, 0.5)

Ta oyfuata arnoteheopdtwy nopatidevton otor Ly [5.19) - Xy [5.21) xou 0 x@dBuxac yio v

npocopoiwon oto [Mopdotnua Al [A.17]

4.2.2 Apiotepd - 6e&i TV evepyo

Extéleor tou (Brou ehyuot ue aplotepod-oeéi TV. H vhomoinom o Python xou 1) mpocopuoy

TO0U 070 PoVTéLO avamopdoTacng tou oyfuatog gaiveton oto [[lapdotua Al andonacua
OO Ta anoteléopata nopatidevion ota Ly [5.22) - Ly [5.30]

4.2.3 Epnpdécvio - onicio TV evepyod

H u)omoinon oe Python goiveton oo [Topdptnua Al amdonacua xddwa [A. 19 Tu aroteréo-
uorta moportidevton ota Ly [5.52] - Xy [5.60]

4.2.4 Apiotepd - 8l & cunpdcio-onicVio TV evepyd

O x®odixag vhoToinoNe Twv Buo Tax TGV cLYOLNoTIXd Tapativeton oTo ([TapdoTnua Al |A.20]

To anoteréopata topatiVevton ota Xy - Ex..
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4.3 EANYQOg anmogpuyYNg sUrodlou

‘Onwe avagépdnxe mponyouuéveg, yenotonoteltar to Single Track Drift Model tou Com-
monroad ([1], oeh.11) yio Ty e€arywyr| Tng ouvdptnong tou puduol adénong ywviag Stevduv-
one mou amonteiton yior vor exteleoVel 0 eAyuog. O x@dixag yia TNy TEQITTWON TOU EAYUOU
ue vo = 4m/s mopatiVetan oto [Hopdotnua Al [A.21] H emduunti tpoyid tou ehrypol
pofveTon ToEUxdTL OTO Ex.. Oupolwe yivetor xou yla Toug eAypols pe vy = 8m/s xou
v = 15m/s. H emdupntd Toug tpoyd elvon mapomifowa e to By [4.1]

TpoyLd

y-8€on (m)

_10 -

_12 -

_14 -

0 20 40 60 80
X-8€on (m)

Yo 4.1: Emduunty| tpoytd yio ehiypd anoguyrc eunodiov ye vy = 4m/s

4.3.1 3XVotnua TV avevepyod

To dudvuoya eto660U (@k YL THY CUYXEXPWEVT] TpocopolwaT oplleTon v e€ng:

Uy, = (’Ugvo’i, 0.2g, 0, 0.5), i € [1, 3]

6Tou Vs, , elvar 1 ouvdptnon tou putuol alinone ywviog diebuvong yla xde oy
‘ccx)(\')m‘ca: To oyfuota anotereopdtony topatiVevto ota ij5.31 - 2y {5.33| xon 0 xoLxoC
yioo TV mpocopoinwon oto |Hapdotnuo Al [A.22]
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4.3.2 Apiotepo - 6e&l TV evepyo

Extéheon tou (Blou ehrypo ue aptotepo-oeci TV. H viomoinon oe Python xou n npocapuoy
ToL 670 Wovtého avamapdotaong Tou oyfuatog gaivetar oto [Hupdptnua Al andonacpa
XX Ta oyfuata arnoteheopdtwy nopatidevton oto Ly [5.34] - Xy [5.42

4.3.3 EwpnpdécVio - oniocio TV evepyod

H vhomoinon oe Python galvetou oto Haéaétﬁga EL ATOCTIUGHUOL HWOXA . Ta oyfuata
anoteheoudtwy tapotidevton ota Ny [5.61]- Xy [5.69]

4.3.4 Apiwotepd - 8eli & eunpdcio-onticVio TV evepyod

O x®Bixog LAOTOINONE TWV BUO TOXTIXWGY GUVOLAGTIXG napanﬂsrw 070
A 25| TSwitepo evdiopépov mopouatdlouy To anoTehéouato, Ta 0Tl paivovTal oTol ZX-

- Xy .96}
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KegpdAiowo 5

A&LONOYNOT AMNOTEAECUATWY XAl
UEANOVTIXT EpY AT

Ye autéd 1o Kegdhoo Yo oulnrnioldy to anoTeAéopata TS EQUEUOYNS TwV ohyopliuwy

xatovounc pomhc mou avartUydnxay oto [Kegdiaio 3| xon Yo avagpepdolv tpdToL Tou eVOoye-

ToL VoL BEATIOC0UY TNV amod0TIXOTNTA TOU CUCTAUATOC OE UEAAOVTIXY QY Aol

5.1 Apiotepd - 6e&l TV

H toxctin) autr} mapouvolace tn peyokltepn anodoor, t6co oe Véua emdOCEWY %auTd T
0TEOPT), 600 XAl OE ATOPUYT| ETUXIVOUVWY XATACTACEWY YL TOV 00NYO XU TUY OV ETBATEC.

Emitoyuvopevy apLtotepr oTpo9h

Sta Xy 5.1]- By [5.9 mopoxdte gaiveton o ehypde yopic v enidpaon tou TV,
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Z0yKplan Béanc (u0=4m/s)

25 1
20
E 15
= —— mopela Ywplc EMTAYLYAN A QPEVApPLOUT
EE EMLITOYUVOMEVN MopEia
:Iﬁﬁ lD .
5 -
0 R
T T T T T T
0 5 10 15 20 25
x-0on (m)

e 5.1: Tooyld emitoyuvouevng aplo TEpRC oTEOoPNS He U6 abénong Ywviag dlediuy-
ong vs = 0.05 rad/s xou ETUTAYUVOTN Qiong = 0.2g

Z0yKplan ywviag ektporric (u0=4m/s)

—— mopela ywplc emTdyuvon N QpevapLOU
4 ETLTOYUVOMEYN TIOPELD
T 3
£
L
=
=]
[=]
o
L 2 _
w
=i
=3
3
—_
l -
0 . -
T T T T T T T
0 1 2 3 4 5 6
Xpovog (s)

Yy 5.2: T'wvio extponiic emtoyuvouevng aptotepic oTEoNE HE pLIUG adEnong Ywviag
dieuvone vs = 0.05rad/s xou emTdyuvon aiong = 0.2
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Z0yKpLon pubuol ektpomnric (u0=4m/s)

2.5 1 —— nopela ywpic emTayuvon f ppeviplopa
EMLTAYUVOUEYN TIopEin
2.0 4
u
=]
e
= 1.5
=
=
(=}
(=
'_l
]
1.0+
~Q
=4
[an]
=
[«
27 ///
0.0 -
T T T T T T T
0 1 2 3 4 5 6
Xpovoc (s)

YxAue 5.3: Puduodc extponiic emTayLVOUEVNS oploTeRrc 0Teogrg e puiud adinong
yowvioag diediuvong vs = 0.05 rad/s xou ETULTAYUVOTN Aiong = 0.2g

Yo oyparo 1] - ToEOLCLILOVTOL TOL ATOTEAECUATO TWV TROCOUOUMGEWY Yo HUO TEPLT-
0o Apyxd ywelc emBoAR pomhc xvnTpd 1 @EEVOL xaL UOTEPX UE ETLTAYUVOT| Glong =
0.2g. 'Etou anotunoveton xahOtepa 1) enidpaot Tng ETMYBOATC POTHS XV THea XaTd Tr) OLdEXELa
OTEOPHC OTN CUUTERLPOPE TOL Oy ruatog. Amd Xy. TOEUTNEEITAL GUVEYOUEVY) adENoN
Tou pLIUOY EXTEOTNG TOU ETULTUYUVOUEVOU OYHUATOS OE GYEOT UE TO U1 ETUTOYUVOUEVO.
YUVETOC, EMPBOAY POTHC XVNTHEA ETEVL GTY) GTEOGT| ONULOVEYEl YULVOUEVO UTERCTROPNS OF
QUTY| TNV TEOCOUOIWOT).

Qotéoo, v vy = 4m/s Sev napotnpeiton xdmoto actadic xatdotaon xatd tn Sidpxela Tou
eAtypoU, apol 1 ToydTnTa eivon axduo younih. Autéd goiveton amd ta Xy. e’ 6TV
0ev uTdpyouv paydaieg HETABOAEC TN Ywvia xou 6T0 PLIUSG EXTEOTAC TOU OYAUATOG.
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Z0yKplan Béanc (u0=8m/s)

25 4 -
20
E 15 — ——
= —— mopela Ywplc emTdyxuvan 1 ppevapLopa
EE EMLITOYUVOMEVN MopEia
> 10 1
5 .
0- R
T T T T T T T
0 5 10 15 20 25 30
x-0on (m)

e 5.4: Tooyld emitoyuvoUEVNS apIo TERNC OTEOYNS HE IS abénong Ywviag dlediuy-
ong vs = 0.05 rad/s xou ETUTAYUVOTN Qiong = 0.2g

Z0yKplon ywviag ektporric (u0=8m/s)

5 4 —— mopela ywplc emTdyuvon N PpevapLOUa
ETLTOYUVOMEYN TIOPELD
4 -
=l
£
=< 37
=]
[=]
(=1
=
L
w
=5 2
=
3
—_
l -
o4 R
T T T T T T T
0 1 2 3 4 5 6
Xpovog (s)

Yy 5.5: T'wvia extponiic emtoyuvouevng aptotepic oTeo@rg U pLIUG adEnong Ywviag
dieuvone vs = 0.05rad/s xou emTdyuvon aiong = 0.2
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Z0yKpLon puBuol ektpomnric (U0=8m/s)

1.75
1.50
w
E 1.25
‘l_.l"
£ 1.00 -
[=]
(=1
'_l
-
“ 0.75 A
(%
Q2
=4
<
2 0.50 -
0.25 +
—— mopeio ywplc EMTAYUVON 1 PPEVAPLOUT
0.00 4 - EMTaYUVOHEYN TopEin
T T T T T T T
0 1 2 3 4 5 6
Xpovog (s)

ExAre 5.6: Puduoc extpomc emToyLVOUEYNS aploTERTS OTRORT UE puUUO adEnomng Ywviag
dieduvone vs = 0.05rad/s xou emTdyuvon aiong = 0.2g

[t vy = 8m/s, TopaTneeiton ueYdhn dlocduavon Tng Tdleweg towv 0.5 rad/s oto Oy POyl
Tou puiuoU ExTEOTC (Ex, TOL OTNUOLVEL TS TO OY N TANCLALEL GE OPLOXES XOTAC TACELS
meoopuone. Ou augoEIOOELS QUTEG TUPATEUTOUY GE OAAETEIAANANL POUVOUEVO UTEQC TROPTC
xou unootpogric. To (Blo cuunépaoua e€dyeTan UEAETMVTOC TO 2. TOQUTNEWVTOG TLG Ol
OXUUAVOELS TTOU EXBNAWYEL O TPOCUVATONGMOE Tou oyYuatoc. H tpoyid (Ey. EXONAGVEL
enione mo aoTadr) cuuTERLPOEd ool TapaTNEOUVTAL TLo ETUETIXEC aAAXYEC xaTELIOVOEWY
oe oyéom e TV TeoyLd Tou e We apy x| Toy Tt vy = 4m/s (Sy. B.1)).
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Z0yKplan Béonc (u0=15m/s)

—— mopela ¥YwWpic EMTAYLYaN 1 QPEVAPLOU
25 - EMLTAYUVOUEVN TOPELT
20
é 15 .
=
=)
~
[an]
=
10 1
5 .
0 I
T T T T T
0 10 20 30 40
x-0on (m)

e 5.7: Tooyld emitoryuvoUEVNS apIo TERHC OTEOYNS HE UG abénong Ywviag Slediuy-
ong vs = 0.05 rad/s xou ETUTAYUVOTN Qiong = 0.2g

Z0yKpLaon ywviag ektpomric (u0=15m/s)

—— mopela ywplc emTdyuvon N QpevapLOU
ETLTOYUVOMEYN TIOPELD

ruvio ektponic (rad)
(¥4 ]

0 1 2 3 4 5 6
Xpovog (s)

Yy 5.8: T'wvia extponiic emtoyuvOUEVNS aptoTeERNS OTEOPNE HE PLIUG adENong YwViag
dieuvone vs = 0.05rad/s xou emTdyuvon aiong = 0.2
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Z0ykplon puBpol ektponrc (u0=15m/s)

507 —— mopela YWpic EMTAYUVON 1] PPEVAPLOUT
EMLTAYUVOHEVN TIOPEiT
2.5
g
B __—__—-'-d-/ —‘—_ﬁ_\
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e
& 2.5
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”
w —5.01
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2
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<
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—10.0 A
—12.5 1
T T T T T T T
0 1 2 3 4 5 6
Xpovog (s)

Yy 5.9: Puludc extpomhc emTayLUVOUEVNS dploTERNC 0TROPNS Ue puiud adinong
ywviog dievduvong vs = 0.05 rad/s xou ETTEYUVON Glong = 0.2¢

[No vg = 15m/s, T0 dynuo ydvel Tov EAEYYO X0t EXTRENETOL TNS TOPE(UC TOU Alyo Tptv
™ yeovuh otiyph t = 4. Autd yivetar gavepd and to Ly [5.8, 6mou 1 ywvia extponic
Eapvind apyiCel vo uetdveTon parydolar xat VOTEPX TO UOVTENO GTAUUATS Vo TORdYEL THIEC.
To oo mpoxmTeL X amd To Zx. Tou puiuol extpomrc, oTo onolo TopuTNEEiToL TOAY
UEYAAN abEnon xon oaUéowe UETA TOAD UeYdhn pelwon g Twhc, ayyilovtag ta 12.5 rad/s,
ueyeog mou LTOBNAGVEL Twe To OyNua Topextednnxe Blona. H ouumepupopd auth elvon
eupavids emxiviuvn. Xto dudypapuo g Véong, By 5.7 amotundveton 1 aotaidic nopela
TOU OYTUATOS TTOU OONYNOE OF UMMAELL EAEYYOV.

‘Oneg Aoy avauevouevo, unhotepeg Toy OTNTES EVORENS TV EAYUOY 00y Noay o€ EmOELV-
(O TNG CUUTERLPORES TOU O} AUATOC.

Yra Xy p.10[- Xy .18 mou axoroudolv golveton 0 EMYUOC PE TO GUOTNUA XUTAVOUNC POTIAS
EVERYO.
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TOyKpLon puBuol ekTpomrc (U0=4m/s)

2.5 7 —— PuBudc extponic xwpic TV
PUBUOC EKTPOMAC HE apLOTEPG-GEEL TV
—— EmBuunToc pubudc EKTpomnc

2.0 A

L5+

L0+

PUBUOC exTponic (rad/s)

0.5 1

0.0 4

Xpévoc (s)

Yxhue 5.10: Puduog extpomhc emToyLVOUEYNS aptoTERNS 0TROYHC e puiUd adinong
ywviog dievduvong vs = 0.05rad/s xon eTTdYUVON Giong = 0.29

Z0yKplan ywviag ektporric (u0=4m/s)

—— EmTayivovtac xweic TV

4 EmTayivovTac JE aploTEpS-GeEL TV
T 3
£
wr
=
=]
[=]
o
L 2 _
w
=i
=3 ’
3
—_

l -

0 +—t—

T T T T T T T
0 1 2 3 4 5 6
Xpovog (s)

Yxhue 5.11: Twvio extpomfc EMTUYLVOUEVNG UPIOTERNG OTEOPAS PE puIUO adinong
ywviog dievduvong vs = 0.05rad/s xon emTdYUVON Glong = 0.29
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Z0yKplan Béanc (u0=4m/s)

251 /\
20 - ._
E 151 . :
- —— EmTayivovTac ¥wpic TV
EE EmTayivovTac JE aploTEpO-6eEl TV
™ 10 4
5 -
O - — =
T T T T T T
0 5 10 15 20 25
x-0on (m)

Yxhne 5.12: Tpoyd emtoyuvouevne aploTeprc oTpopnc He puiud alinong ywviag
dieuvone vy = 0.05rad/s xou emtdyuvon aione = 0.2

N vy = 4m/s, oto Ex. potveton g To cvotnua TV nou avantdydnxe xatéotnoe
70 pLUUS EXTEOTC TOU OYAUATOE TOAD XOVTE 6TOV EMYUUNTO, OTAY dEYLOE Vo TopaTneeiTal
amoOuALoT) amd TN yeovixY| oty t = 4 s xou énetta. 1o cuyxexpiuéva, To choTnua dLopinoe
ular UTEPOTEOPIXY| GUUTERLPORT, ool 0 PLIUSS extpoTi¢ elye UTepPel £m¢ xon xatd 1.5 rad/s
Tov emduunTo TN yeovixy ottyun t = 6s. Me 1o cloTtnua evepyd, 1 UEYLIOTY amdXALoT HToV
0.4 rad/s, mou onuaiver 6t uple Bedtinon Tng Tddng Tou 73% Touldytotov. O ahybprduoc
UETEPEPE TEPLOGAHTEPT POTH OTOUC dploTEPOUS TPOY0UE (ECWTEPXOUC), UE ATOTEAEGUA VOl
woel To dynuo eEEnTeEpd TNE 0TPOYHC. AUTH AMOTUTOVETAL GTOL LY. o [p.11], 6mou
gofveton 1 TAaTOTERT TEOYIA Xou PElwOT TNS YwViag exTeoTC TEOS TO TEAOC TOU EALYHOD.
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Z0yKpLan puBol ekTpomric (U0=8m/s)

2.00 4 — PuBpég ekTpomig xwpic TV
PUBUOC EKTPOMAG HE OPLOTEPG-GEEL TV

—— Emfuuntdcg puBudc ektpom
175 4 HNTOC putpog ponng

1.50 A

1.25 A

1.00 A

0.75 1

PLBLOC exTporrc (rad/s)

0.50 4

0.25 4

0.00 +

0 1 2 3 4 5 6
Xpovog (s)

Yy 5.13: Puludc extponic emtoyLVOUeVne aptoTephic oTpoghc pe puiud adinong
ywviog dievduvong vs = 0.05 rad/s xou ETLTEYUVON Glong = 0.2¢

Z0yKplon ywviag ektporric (u0=8m/s)

—— EmTayivovtac xweic TV
57 EmTayivovTac JE aploTEpS-GeEl TV /
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=l
£
wr
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0 —p——
T T T T T T T
0 1 2 3 4 5 6
Xpovog (s)

Yy 5.14: T'ovia exTpomhg EMTOYUVOUEYY 0ELOTERTC OTEOPHS UE pLIUS adENoNg YwViag
dievuvone vy = 0.057ad/s xou emTdyuvon aiong = 0.2
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Z0yKplan Béanc (u0=8m/s)

25 1
20
E , ,
= 151 — Emtoyivovtag xwpig TV
EE EmTayivovTac JE aploTEpO-6eEl TV
3 /
10 A r
//
:
O . e
T T T T T T
0 5 10 15 20 25
x-0on (m)

Yxhue 5.15: Tpoyd emtoyuvouevne aploTepic oTeopnc pe puiud alinong ywviag
dieuvone vy = 0.05rad/s xou emtdyuvon aione = 0.2

o vy = 8m/s, oto Zx. Tou puluoy extpomig TopauTneEiton OTL TOo GUCTNHA XAT-
OTOAEUNOE TIC OLUXUMBAVOELS TTOU UTOPOUCHY EUXOAA Vo OONYACOUV GE UTMAEL EAEYYOU.
A&iohoyn Bertiwon topouctdleton xou 6To M. NG YWVING EXTPOTAC, OTOU 1) Xo-
TOAY TGV €lvon o OO OE OYEon UE TIC AUEOUEIWMOELS TNS XauTUANG ywelc TV. Auté
UTOBNAMVEL TS TO Oy N OeV eXTEAEl amdToueg oAAaYES XUTELIOVOEMY, ATOPELYOVTOG
ETUXIVOUVEC XUTUO TAOELC.

76



Z0yKpLon puBuov ekTpomric (u0=15m/s)

5.0 T — PpuBpéc extpomic xwpic TV
—— PUBUOC EKTPOMIG HE OPLOTEPO-GEEL TV
—— EmOBuunTog pubudc EKTPOTIG
2.5
00 - | E— . ’Aﬁ(
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e
w _5.0 .
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2
=L
[=5]
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—10.0 T
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Xpovog (s)

YxAue 5.16: Puiuog extpomhc emToyLVOUEYNS aptoTEPNS 0TRoYHC e puiud adinong
yowvioag diediuvong vs = 0.05 rad/s xou ETUTAYUVOT Aiong = 0.2g

TOyKpLon ywviag ektponrc (u0=15m/s)

—— EmTayivovTac yweic TV
—— EmTayivovTac JE aploTEpO-GeEl TV
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T T T T T T T
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Xpoévoc (s)

YxAue 5.17: Twvio extpomhc EMTUYLVOUEVNG UPIoTERNG OTEOPAS PE puIUd adinong
ywviog dievduvong vs = 0.05rad/s xon emTdYUVON Glong = 0.29
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Z0yKplan Béonc (u0=15m/s)

60

50

E
= —— EmTayivovTac Ywplc TV

EE 30 4 EmTayivovtac JE aploTEpO-6eE( TV
=

:LD a .____...r'

0 10 20 30 40
x-0on (m)

Yxhue 5.18: Tpoyd emtoyuvouevne aploTeprc oTeopnc pe euiud alinong ywviag
dieuvone vy = 0.05rad/s xou emtdyuvon aione = 0.2

Ané 1o Ey. Tou pLIUOY exTpoTg YIVETOL QaUVERS TWE TO OYMUN PEREL €I TERAS
0MOXANEO TOV EALYUO BLdpxelag t = 6 5, TapouctdlovTog TOAD o EAEY Y OUEVOL PULVOUEVOL UT-
epoTpoPhc xat uootpoghc. O puludc extponrc dev Eenepvd noté T 2 rad /s, Tapopuévovtag
oe ao@ahy| mhaiota. H emtuyrc ohoxhpwon tou ehryuol emakniedeton xon and to My. ,
omou @afveTon 1) cLVOALXY amboTaoy Tou dlEvuoe To Oynua. H enidpaon Tou cuoTAuaTog
amoBelyUNXE CWTHAPLY TN CUYXEXPUEVY TROGOUOINGT), Aol ATETEEPE TNV ATWAELX EAEYYOU
xan Tavo oTOy ML
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Step - steer maneuver

Yo My. - 2y pafveton 0 eEMYROC yweic TV enldpaot Tou TV,

O¢an
40 - /,,-—-—
30 -
E — ud=4m/s
E 204 —— uo=8m/s
D —— ub=15m/s
==
10 4
0_
T T T T T T
-10 =5 0 5 10 15
x-Beon (m)

YxAue 5.19: Tpoyd ehyuol step-steer ye emBohr axoplofag ywviag dieduvong & =
0.314 rad xon emtdyuvon aiong = 0.3g
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Frwvia ektpomnrc

— ul =4 m/fs
lod — uo=8mis
— ul =15 m/s
— B4
=]
£
wr
E
5 01
=8
=
=
18]
=
-.5 4_
3
-
2_
D_
T T T T T T T T T
0 1 2 3 4 5 6 i 8
Xpovog (s)

Yypa 5.20: T'wvio extponhic eAypol step-steer ue emBoAr| axaplatog ywviag dievuvong
0 = 0.314rad xou eMTAYUVOT| Giong = 0.3g

PUBUOC eKTpOTIHC

5_
D_
w
=
e
v =5+
=
=
[=]
(=
|_|
5
o —10 7
=]
=4
Lan]
o
=8
_15_
— ud =4 m/s
— ud=8my/s
204+ —— ub =15 m/s
T T T T T T T T T
0 1 2 3 4 5 6 7 8

Xpovoc (5)

Yy 5.21: Puludc extponiic ehrylo step-steer pe emBoly| oxapialag ywviag diebiuvong
= 0.314 rad xou EMTEYLVOT Along = 0.3¢
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INovg = 4m/s, oto Ly. TopaTneelTon anotopn ad&nomn Tou pLINOD EXTEOTAC TNG
&N twv 0.5 rad/s oand t = 5s éwg t = 65 xou Votepa amdTOUN Welwor peyédoug 2
rad/s, xohotdvtag Ty T Tou TOAD younAih. Auth elvon EvBelln ponvopévou uTEpoTEOPNC,
0x0AOUVOUUEVO a6 UTOGTROG.

Axp3i¢ To (Bl pouvouevo mopaTneeiTon yior vy = 8m/s, ahhd ouUTH TN opd eupavileTon
vopltepa, 1 ypovxh) otiyun t = 3 5. H mpdwen epgdvion tou gatvouévou ogelietar oTnV
umidTepn apy x| Tay TNt Tou oy Auatoc. H toydtnta tou €yel To dynua dtay Topouctdlel
auUTY| TN cLUTERLPOEd emTEYUNXE vwpltepa ot dedtepn tepinTwon.

[N vg = 15m/s, ov vhnhéc Twée mou houBdver o pulude extpomnc oto Xy. (Ewe %o
20 rad/s) xon 1) an®AELd TOUG QUECWS UETA TN YEOVIXY OTLYUR £ = 55 UTOONAOVEL ATOAELL
eAEYYOU XA EXTPOTH| TNG TopEelag Tou oy AUaToS axe3ng exelvn Tn yeovixt| otiyur|. To Blo
emPBeParcdveTan amd To Ly, , OToU 1 YwVio exTEOTNC oToUATAEL Vo AaBdver TES yia
t =55 x €nelta.

Yta By [5.22) - By [5.30] paiveton 0 ehrypde pe 1o clotnua xotavouhc potic EVEpYO.

T0ykplon puBuol extpomrc (U0=4m/s)

25— PuBudg eEKTponrg Ywpic TV
PuBudg EKTPONIE HE apLOTEPO-GEEL TV
—— EmBupunToc pubudc EKTpOMNC
2.0 1

=
Ln
|

PUBUOC exTpomc (rad/fs)
=
o

0.5 1

0.0 4

0 1 2 3 4 5 B 7 8
Xpovog (s)

e 5.22: Puludc extponiic ehryuo step-steer pe emBolr| oxapialag ywviag diebiuvong
0 = 0.314rad xou eMTEYUVOT| Glong = 0.3g
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Z0ykplon ywviac ektponric (u0=4 m/s)

—— EmTayivovTac ywpic TV

04— EmTayivovTac Je aploTepd-6eEl TV
— 87
=]
£
&
E 6
o
(=8
=
14
54}
=]
-.5 4_
3
.

2 .

0_

T T T T T T T T T
0 1 2 3 4 5 6 7 8
Xpovog (s)

Yypa 5.23: T'ovio extponhic eAtypol step-steer ye emBoAt| axaplatog ywviag dievuvong
0 = 0.314rad xou eMTAYUVOT| Giong = 0.3g

z0ykpLon B€onc (u0=4 m/s)

16 A

14

12 +

y-8€on (m)
[ex]

—— EmTaytvovTac Ywplc TV
0 4 —— EmToyivovTag e aploTeps-GeEl TV

T T T T T
—6 —4 -2 0 2 4 6 8
x-8gan (m)

Yxhue 5.24: Tpoyd ehyyol step-steer ye emiBohn axoplotag ywviag diedduvong § =
0.314 rad xon emtdyuvon aiong = 0.3g

82



T0yKpLon puBuol ekTpomric (U0=8m/s)

2.0 1
E 1.5
=
=
=
[=]
(=
=
=
w 104
(¥
=]
=%
2=
=
o
0.5 A
—— PuBudg EKTpONAC Ywpic TV
—— PUBUOC EKTPOMNAC HE OPLOTEPO-GEEL TV
0.0 —— EmBupunToc puluoc EKTPOMIC
4] 1 2 3 4 5 5] 7 8
Xpévoc (s)

Yxhue 5.25: Puludc extponiic ehryuo step-steer pe emBoly| oxopialag ywviag dtebiuvong
= 0.314 rad xou EMTEYLVOTN Along = 0.3¢
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Z0ykplon ywviac ektponric (u0=8 m/s)

—— EmTayivovTac ywpic TV

10— EmTayivovTac Je aplaTepd-6eEl TV
— 81
=]
£
=
E
5 ©1
(=8
=
14
54}
=]
-.5 4_
3
.

2 -

D_

T T T T T T T T T
0 1 2 3 4 5 6 7 8
Xpovog (s)

Yyhpa 5.26: T'ovio extponhic eAtypol step-steer ye emBoAr| oaxaplatog ywviag dievuvong
0 = 0.314rad xou eMTAYUVOT| Giong = 0.3g

Z0yKpLon B€ong (u0=8 m/s)
16 -

—— EmTaylvovTtac Ywpic TV
14 4 — EmtayovovTag e aplotepo-GeEl TV

12 1

10 -

y-8€on (m)

T T T T T
7.5 -5.0 —-2.5 0.0 2.5 5.0 7.5 10.0
x-8gon (m)

YxAue 5.27: Tpoyd ehyyol step-steer ye emiBohn axoplobag ywviag diedduvong § =
0.314 rad xon emtdyuvon aiong = 0.3g
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[ovg =4m/s & 8m/s, 10 chotnua mou avartiyInxe xatéotnoe To pUINS EXTEOTAS TOU
AUTOXWVATOU TOM) X0VTd oTov emtuuntd, omwe mpoxvntel and to Ly [5.22 xau [5.25 Ta
QUVOUEVOL UTERC TROPYC oxOAOUTOUUEVY amd UTOCTEOPY| ToU avapépinxay yia TOUG EALY-
uol¢ ywelc tnv emnidpacn TV mponyouuévne, dlaxpivovtar mohd mo xadupd oe outd To
oyfuoata. Me v emBorr TV, o gawvéueva autd xotamohepdnxay xow o pududg exteomic
otodeponofinxe oe o@diua Ayétepo tou 0.5 rad/s xar yio TIC 2 TEQITTOOELS APYIXWDY
TOYVTATOV. DUYXEITIXE, XATE T1) OLIEXELN TOU EALYUOU UE TO GUCTNHO AVEVERYO, TO GPIAUN
dyyile ta 1.5 rad/s, mou onuaiver toe unhpe éwg xar 66% Bertiwon. Ta oyfuata xou
NS YwViag EXTEOTAC avadeviouy enione TN BEATIOUEVT CUUTERLPOEE TOU OYAUATOC,
opoV oL TLES TapouGtdlouv GYEBOY Yeauuixr adino (prig &ocxupdwcstq). MeletovToac To
OLoryedupota Tng Véomg (Zy. , TopaTNEELTAL TEOYLE TOAD XOVTE TNG AVUUEVOUEVTC,
ue v oxxtivar TG xuxhixAg dladpounc Tou exteleiton vor uetwvetan pe otadepd pudud, oe
avtideon ye v Teoytd Tou extéhece To Oynua Ue To TV avevepyd. e xdie mepintwon,
1 AMOXEICT, TOU AUTOXVATOU UE TO CUCTNUA EVERYO elval apxeTd TEoPBAEhr, eumvéovTag
ACPAAELL.

85



T0YKpLan puBloL ekTponrg (U0=15m/s)

w
)
z
= 5
w
=
=
[=]
(=1
I
=
w
¥ -10
=2
(o]
=
o

_15 -

—— PUBUGG EKTPOTIC YWplc TV
PUBUOC EKTPOMNG E OpLOTEPSG-GEEL TV
—20 7 —— EmBupntoc puBpoc eKTporrg
T T T T T T T T T
4] 1 2 3 4 5 6 7 8
Xpévog (s)

Yy 5.28: Pududc extponrc ehyuou step-steer ue emBolr axopralag yowviag diebuvong
= 0.314 rad xou emMTEYLVOTN Qiong = 0.3¢

Z0yKpLon ywviag ektponric (U0=15 m/s)

107 — Emtaydvovtac ywpic TV
EmtayivovTac U aploTeps-GeEl TV
B -
=]
£
w6
=
=
(=]
=3
=
&
z ¥
=3
3
.
2 -
) /
T T T T T T T T T
0 1 2 3 4 5 6 7 8
Xpovog (s)

Exhue 5.29: T'ovia extponric ehypol step-steer pe emBohn axaplaiog yoviag diebiuvong
0 = 0.314 rad xon emTAYLVOT Along = 0.3g
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Z0yKplan Béanc (u0=15 m/s)

0
30 4
E
=
5 20
[an]
=
10 1
—— EmTayivovTac ywpic TV
0- EmtayivovTac U aploTepo-GeEl TV
T T T T T T
=10 -5 0 5 10 15
x-0on (m)

Yy 5.30: Tooyid ehypol step-steer pe emPBoly| oxapaiog ywviag diedduvong 6 =
0.314 rad »on emTdyuVoN Aiong = 0.39

[ vg = 15m/s, 10 oymua xatdpepe vor ONOXANEDGEL TOV EALYIO Y0plC omiAeL EAEYYOL,
OTWC TEOXUTTEL AT and TO 2. O pudude extponnic Bev umepéfn to 2 rad/s. H tpoyid
Tou axoroVinoe To dynua (Zx.avwnoxpiveroa e peyohOtepn axplBela oTig xoreuduy-
TIXEC EVTOAEC TIOU EBWGE O 0BMYOS, OV X0l TUPOUGLALEL OEXETH AMOXALOT) ATd TNV TEOYLY UE
UuxEoTERES apyéS T 0TNTEG. {20TOCO, 1 IXAVOTNTU TOU GUGTAUNTOS Vo AmOTEEPEL Yia
GANT) Lol QOEGE TNV UOAELAL EAEY YOV AVAOELXVIEL TNV ATOTEAECUOTIXOTNTA TNG TUXTLXNS.
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EAvywog anoguyrg epnodiov

Yo My. - 2y TOEOXATE QAUVETAL O ENYUOC Ywelc Ty enidpacn Tou TV.

©éon
2.5
0.0
_2.5_
E 501
e
_D
W 7.5
<
-10.0 1
~12.5 1
— uld=4mfs
—— uo=8my/s
“15097 —— yo=15mys
T T T T T T T
0 5 10 15 20 25 30

x-B£an (m)

Yo 5.31: Tooyld ehypol amoguyng EUTodiou UE EMTAYUVOT Giong = 0.2¢
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Frwvia EKTPONIG

— uld =4 m/s
— ubD =38 m/s
14— uo=15m/s
-
E of
wr
=
=
o
(=8
=
£ 14
g
=
3
.
_2 -
_3 -
T T T T T
0 1 2 3 4
Xpovog (s)

Yo 5.32: T'ovia extpomhc eMypo) amo@uYH EUTOBIOU UE ETTAYUVOT| diong = 0.2g

PUBMOC EKTPOMIG

— udD =4 myfs
— ub =8 mys
14+ — u0o=15m/s

PuBuoc extTpomric (rad/s)
|
[

0 1 2 3 4
Xpovog (s)

Exue 5.33: Puiuog extponhc eAypol) amoguy g EUTOBIOU YE ETLTAYUVOT diong = 0.29
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T opyixd) TaydTnTo vy = 4m/s, o elyudc ohoxhnpdvetar pe emtuyla, OTKC Qaivetal 0To
Yy. 31} To oynua amogedyel To eunddlo xou eMOTEEPEL ACPUAGS 0T Awpida Tou. O
eudude xou 1 ywvio extporic (Xy. xou|5.32)) mopovatdlouy opohéc ueTaBohéC, avahoYeg

NG TEOYLAC TOU QUTOXLVATOU.

T vg = 8m/s, xatd T OLIEXELX TNG UPLOTERNC OTROPNG TEOG ETUOTEORY| OTN Awplda, TO
Oymua epgaviCer utepoteoPy. AuTd Yiveton Qavepd ambd To LY. TN YPOVIXT] OTLYUT
t = 35, 6mou mopatneeitar owyur oTig THES Tou PUUUOD EXTEOTAC ot UETY avemOUNTES
otouudvoele. H amdxpion auth elvon emixivouvn xadode to dymuo extelel peyahitepn otpodt
TEOC T APLOTERH amd To emVUUNTO, UE %(VOuvVo Vo Byel exTog BpdUou €V 0 00NYOS OEV
ELOYYEL TIC AMOUTOVUEVES OLOPUMOELC.

‘Onwe xan otoug 800 TEONYoVUEVOUS EALYUOUS, Yl apy x| ToybTnTa vy = 15m/s to dynua
ToEOUGIALEL AMMAELL EAEYYOU XU EXTEETETAL TN TOPElaC TOU Alyo UETE TN YEOoVIXY| GTLYUY
t = 2s, apol o puludg extpomig aulinxe xatd 2 rad/s oyeddv oxoproia.

Yta By [5.34) - Xy [5.42) paiveton o ehrypde pe 1o clotnua xotavouc potic EVERYO.

T0ykpLan puBpol ekTpomic (U0=4m/s)

1.0+

0.5 4
w
=)
&

£ 0.0
=
=]
(=%
=
4
w
\U‘

S 0.5
]
=]
o

_1.0 -

—— PUBPOC EKTpOMHC Ywpic TV
PUBUOG EKTPONIG € QplOTEPO-GEEL TV
_1.54 — EmBupntég pubpoég extportrig
T T T T T T T T T
0 1 2 3 4 5 6 7 8
Xpovog (s)

Yxue 5.34: Puiuog extponhc eAypol) amoguy g EUTOBIOU UE ETLTAYUVOT diong = 0.29
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z0ykplon ywviag ektpomric (u0=4 m/s)

0.5 1

0.0 4= _;'
e~ N\
£
r h
\E _05 — by
3] y
=3
=
&
g 197
=1
3
b

_1.5 -
podHT— EmTayivovTac Ywpic TV
' Emtayivovtac e aploTepo-GeEl TV
T T T T T T T T T
0 1 2 3 4 5 6 7 8
Xpovog (s)

ExApa 5.35: T'wvia extponric ehlylol anoguyc EUTodlou UE ETLTEYUVOT iong = 0.2¢

Z0ykpLon B€onc (u0=4 m/s)

D - P
_5 - %

E .
o —10
=]
W
[a5]
=

_15 -

=20 7 —— ErutayivovTac ¥wpic TV

EmTayivovTac JE aploTEPO-GEEL TV
T T T

T
0 10 20 30 40 50 60
x-Béan (m)

Yo 5.36: Tooyld ehypol amoguyng EUnodiou Ue EMTAYUVOT Giong = 0.2¢
[ vg = 4m/s, o ehypode ouveyiotxe xou apdtou To dynuo enéotpede ot Awpida Tov,
omee gotveton oo didrypauua Teoytds (Xy 15.36). Kodde 1o dymua éotpupe yio vor emovadBet

91



ToV {010 EALYUO, auTH TN Qopd TEOPAvVAS UE LYNAOTERT TayUTNTA, TUPOUCIAGTNXE EVIOVO
pouvépevo unepotpopiic. Autd emakndeleton xou and to Xy. Tou PUBHOY EXTPOTHC,
Ayo petd ) ypovix| otiyur) t = 55, 6mou ot Tég oynuatiCouy xopuyy. Me to chotnua
TV evepyo, 0 Oynua dev TopouGtdlEL TO €VTOVO QPULVOUEVO UTERGTROPNS Xou axohovel TNy
emuunTy| mopeta xatd TNV ExTEAECT) TOU EALYUOU Yia dedTERN popd. H peyoldtepn Pehtiwon
XATE TOV CUYXEXQUIEVO ENYUO Topatneeiton Tn) ypoviny| otiyun t = 6.2s, 6mou o puiudg
extponic und Ny enidpaon tou TV anéyetl hyotepo and 0.2 rad/s and tov emduuntd, eve
yoeic TV to o@dhya tav 1.7 rad/s. Auté petagedletar o Bedtiwon tne tdEne tou 88%.

T0yKplon puBuol ekTponhc (U0=8/s)

—— PuBuég ekTpomig Ywpic TV
PUBUOG EKTPONIG € QplOTEPO-GEEL TV
5T EmBupnT6G pubpog EKTpoTrg

_ 1.0+
3
&
=
=y
& 0.5
[=%
I
=
w
e
Qo
=
D
£ 0.0+

_0.5 -

0 1 2 3 4
Xpovog (s)

Yxhue 5.37: Puuog extponhc eAMypol amoguync EUTOBIOU UE ETLTEYUVOT| diong = 0.29
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T0ykplon ywviag ektpomric (U0=8 m/s)

1541 — EmtayivovTac ywpic TV
EmTayivovTac He aploTepd-GeEl TV
1.0 1
o
£
=
£ 054
=]
=3
=
-
)
=
2 004 —
3 o
= \\\
_0.5 -

0 1 2 3 4
Xpovog (s)

Yy 5.38: T'wvio extponric eAlylol anoguyc EUTOdlou UE ETLTAYUVOT iong = 0.2¢

Z0ykpLon B€onc (u0=8 m/s)

0 | —— EmTayivovTtac ¥wpic TV
| EmTayivovTag U aploTEpO-GeEL TV
_2 - \\\
_4 -
E
=
o B
[a5]
=
_8 -
_10 -
_12 -
T T T T T T T
0 5 10 15 20 25 30
x-Béan (m)

Yo 5.39: Tooyld ehypol amoguyng EUnodiou UE EMTAYUVOT Giong = 0.2¢

[ot vy = 8m/s, Sopddvetar Wior €viovn xat emxiviuvY UTEEOTEOPIXT| GUUTERLPORE TN
yeovuxry oty t = 35 tou ehryuov. Ilio cuyxexpeva, oto My. Tou puluol ex-
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Tpom¢ elvon opath 1 e€oudAuvon Tng xopuerc oto onuelo t = 3. Auty 1 elopdhuvon
ueTapedleTon oTo Xy. ¢ Véong oe duUPAuvon TG TEOYLIS, YEYOVOS TOU ETLTRETEL
OTOV 00NYO VU ELGAYEL UXEOTERT BLOEUWOT), UELOVOVTUS TIC THIOVOTNTES ATUYUTOS.

Z0ykpLan puBpoL ekTpomric (u0=15m/s)

PUBUGC eKTpONRC (radss)

—— PUBUGC EKTPOMIAC XWpic TV

PUBUGC EKTPOMIC WE QpLOTEPS-GEEL TV
—— EmBuunTog pubuog EKTPOMIC
—4 - T T T T T T

0 1 2 3 4 5
Xpdvoc (s)

Yxue 5.40: Puiuog extponhc eAypol) amoguYnc EUTOBIOU UE ETLTEYUVOT| diong = 0.29

94



T0ykplon ywviag ektpomric (U0=15 m/s)

0.0 4 *\

|
o
&
1

|
=
o
1

—— EmTayivovtac ywplc TV
EmtaydvovTac PHe aploTepd-GeEl TV

|
=
Ln
1

ruvia ektponrc (rad)
b
[}

_3.0 -

0 1 2 3 4 5
Xpovog (s)

Yy 5.41: T'wvia extponric eAlylol anoguyc EUTOdlou UE ETLTEYUVOT iong = 0.2¢

Z0ykplan B€onc (u0=15 m/s)

U s —— Emtayivovtag xwpic TV
\ Emtayovovtac e aploTepo-6eEi TV
—5 - A
_10 .
E -15
=
=]
&
L —20
_25 -
_3(] .
_35 -
T T T T T T T T T
0 10 20 30 40 50 60 70 80
x-B€an (m)

YxApa 5.42: Tooytd ehyuol anoguyrc EUnodiou UE ETTAYUVOT| Giong = 0.29

[ v ©Boe Soxyy) pe v udmhdtepn apywl taydmta (vy = 15m/s), omogedyeton 1
EXTEOTY) TOU AUTOXIVATOU TN Ypowxh oTiyul) ¢ = 2.25 xou 0otepa 0 UGS EXTEOTNS
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oxohovlel pe apxetr axplBeta Tov emduunto, napovoidlovtag PEYIoTn andxhion 1 rad/s
vt = 1.3, 6mwe gaiveton oto Uy. [5.400 Ty i ypovixr otiyus, 1o dynua yopic TV
nopovctale opdhua peyédouc 1.7 rad/s, to onolo avgavdtay dapxdc. Qotd6c0, AMoYw TNe
LPNAAC ToyOTNTOC XATE TN OLEEXEL TOU EALYUOU, TO GUGTNUO OEV XUTAPERE VO EXTEAECEL
™ dwopvwon oe Badud mou vo emteédel 0To Sy nua Vo OMOXANEGOCEL TN doXIT UE ETLTUY (AL
‘Onwe gaivetar xar 670 Ex. TOL ATMOTUTOVETAL 1) TPOYLY, TO OY IO OEV UMEXTNOE TOV
emuunTé PUIUO EXTEOTAC XUTA TNV UPLOTERT GTROPT) TPOXEWEVOU VoL ETIGTREPEL TN Awplda
Tou. LNy mep{nTworn autr, 0 00NY6S OPElAEL VoL ELGAYEL BLoPUMTIXT OTEOYT TWOVIOU TPOC
TOL APLOTERYL.

YuvodiCovtag, 1 e@appoyy| ous THUNTOS 0ploTepoU-6e€lol TV oTo dynua amodelytnxe Tor)
amodoTt), cuudiiovtoag oTr BeATiworn Tou XPUTAUATOC TOU XTd TN OLEXEIL TWV EALY-
MOV, EMUoVTIXOTEQY OUWS, amETpedE xdde TERIMTWON ATMAELNS EAEYYOU oL EXTEOTHAC TOU
oY LoTog amd TNV Topeia TOU, X THOVIUS TO UGPAAEC TERO.
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5.2 Eungdéocio - onicYio TV

To Xy [5.43| - 5.5}, [5.52] - [5.60] xou [5.61] - [5.69] mou gaivovton apéows petd mapodétouy Ta
amoteréoparta emBolng uovo eunpdotov-omictou TV otoug ehrypolc emitayuvouevng cplo-
TEPNC OTEOPTC, step-steer xon amo@uYTC eunodiou avTioTolyws. Adyw Tou OTL Ta anoTEAéD-
wota mapouctdlouy Lexddapo wotifo xon mpog amoguyr @huaplag, TEoTElvVETAL HEAETN TWY
TOEOXATR CYNUATOV YWelg ENEUBAOELS X AVIAUTIXOS OYOMACUOS 6To TEAOC.

Z0yKkplan pubuob ekTponrg (u0=4m/s)

2.5 1 —— PuBudc extpomnrg ywpic TV 7
PuBudg ekTponrg pe eunpdoblo-onioBio TV
—— EmBupnTac pubudg EKTpOMIg
2.0 1
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w 1.0 4 g
o
—a
3
=
o
0.5 1
0.0 1
0 1 2 3 4 5 5]
Xpovog (s)

Yy 5.43: Puludc extponic emitayLVOUEVNS aptoTephc oTpoghc pe puiud adinong
ywviog dievduvong vs = 0.05rad/s xou ETTEYUVON Glong = 0.2¢
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Z0yKplon ywviag ektporic (u0=4m/s)

—— EmTayivovtac xweic TV .
4 EmTaylvovTac Pe egnpdéodio-oniodio TV f
_;"f
T 3
£
r
=
=
[=]
=
£ 27
[1¥]
L=
=
3
.
l 4
0 - o
T T T T T T T
0 1 2 3 4 5 6
Xpovog (s)

Yxhuo 5.44: Towvio extpomhc EMTUYUVOUEVNG UPIOTERNS OTEOPAC PE pUINO adEnong
ywviog dievduvang vs = 0.05 rad/s xon emTdyUVON Glong = 0.2¢

20yKkpLon B€onc (u0=4m/s)

25 - S
20 1
E 15
= —— EmTayivovTac Ywpic TV
EE Emtayivovtac e epnpdobilo-oniobio TV
> 10 4
5 .
0 - o
T T T T T T
0 5 10 15 20 25
x-BEon (m)

Yxhue 5.45: Tpoyd emtayuvopevng aplotepic oteo@rc pe puiud adinong ywviag
dievuvone vs = 0.057rad/s xou emTdyuvon aiong = 0.2g
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Z0yKpLan puBol ekTpomric (U0=8m/s)

—— PuBpog EKTPOMAG ¥wpic TV

1754 PuBuéOC EKTPOMAC WE EUnpdodilo-onioBlo TV

—— Emfupntdc puBuoc eKTpomrg '\,\
1.50 1
1.25 - /

1.00 A

0.75 1

PLBLOC exTporrc (rad/s)

0.50 +

0.25 4

0.00 +

0 1 2 3 4 5 6
Xpovog (s)

Yy 5.46: Puludc extponic emtoyLVOUEVNS aptoTephc oTpoghc pe puiud adinong
ywviog dievduvong vs = 0.05 rad/s xou ETLTEYUVON Glong = 0.2¢

Z0yKplon ywviag ektporric (u0=8m/s)

P Emtayivovtac Ywpic TV
EmtayivovTac Pe egnpdodio-onioBio TV
4 4
]
= /v
= 3 £
= /
[=]
(=1
=
=
wi
R=1 2 4 i
>
= /
) .
0+—1+—
T T T T T T T
0 1 2 3 4 5 6

Xpovog (s)

Yxhuo 5.47: Twvio exTpomhc EMTUYLVOUEVNG UPIOoTERNG OTEOPAS PE puIUO adinong
ywviog dievduvong vs = 0.05rad/s xon emTdYUVON Glong = 0.29
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Z0yKplan Béanc (u0=8m/s)

25 4
20 4
E 151 : :
= —— EmTayivovTac ¥wpic TV
ﬁ —— EmTayivovtac JE epnpdofio-oniobio TV
> 10 A
5 .
D .
T T T T T T T
0 5 10 15 20 25 30
x-8€on (m)

Yxhuo 5.48: Tpoyd emtoyuvouevne aploTeprc oTpopnc pe euiud avinong ywviag
dieuvone vy = 0.05rad/s xou emtdyuvon aione = 0.2

TOyKpLan pubpoL ektponrg (U0=15m/s)

—— PuBpog ekTpomig Ywpic TV
10 4 —— PuBpég eKTponiig e eunpoéoblo-oniotio TV
—— EmBupunTtoc puBuog eKTpomnc

LA

PUBLGC exTponrc (rad/s)

_10 -

0 1 2 3 4 5 5]
Xpovog (s)

Yxhue 5.49: Puluog extpomhc emToyLVOUEYNG aptoTERNS 0TROYHC e puIUS adinong
ywviog dievduvong vs = 0.05rad/s xon emTdYUVON Glong = 0.29
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Z0YKPLON ywviag ekTponrc (u0=15m/s)

—— EmTayivovtac Ywpic TV
2.0 1 EmToyOvovTac pe eunpooBio-oniabo TV
[
T 15 -
£ ~\
=< .
=
a
E 1.0
w
=
=
3
b
0.5 1
0.0 14—+
T T T T T T T
0 1 2 3 4 5 6
Xpovoc (s)

ExAra 5.50: T'wvia extponic emtoyLVOUEVNS OPIOTERHC OTEOPAC UE LIS adinong
yowvioag diediuvong vs = 0.05 rad/s xou ETULTAYUVOTN Aiong = 0.2g

20ykpLon B€onc (u0=15m/s)

—— EmTayivovTac Ywpic TV 3
35 - Emtayivovtac e epnpdoblo-onioio TV |
20 :
II
= |
E 15
=
=]
lad
[as]
=
10 1
5 -
0 - —
T T T T T
0 10 20 30 40
x-BEon (m)

YxAue 5.51: Tpoyd emtayuvouevng aplotepic oteo@rc ue puiud adinong ywviag
dievuvone vs = 0.057rad/s xou emTdyuvon aiong = 0.2g
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TOyKpLon puBuol ekTpomrc (U0=4m/s)

—— PuBudg EKTpONE Xwpic TV
—— PuBUGC EKTpOMIC ME eYnpdobio-oniadio TV
—— EmBuunToc pubuoc EKTPONC

2.5

2.0

1.5 7

1.0 1

PUBUOC exTponic (rad/s)

0.5 1

0.0 4

4] 1 2 3 4 5 5] 7 8
Xpévoc (s)

Yy 5.52: Puludc extponiic ehryuo step-steer pe emBolr| oxapialag ywviag diebiuvong
0 = 0.314 rad xon emTAYLVOT Along = 0.3g

Z0yKpLon ywviag ektponhc (U0=4 m/s)

—— EmTayivovTac Ywpic TV

104~ Emtayivovtac pe epnpdobilo-oniobio TV
— 87
=
£
=
5 07
=3
=
4
Wl
=]}
\5.' 4 -
3
.

2 -

0 -

T T T T T T T T T
0 1 2 3 4 5 6 7 8
Xpovog (s)

Yy 5.53: T'ovia extponric ehypol step-steer pe emBoln axaplaiog yoviag diebiuvong
0 = 0.314 rad xon emTAYLVOT Along = 0.3g
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T0ykplon B€onc (u0=4 m/s)

16

14 -

12 +

10 +

y-B€on (m)

—— EmTayivovTac ywpic TV
o 4 —— Emtaylivovtag pe epnpdodio-oniodio TV

-4 -2 0 2 4 6
x-8€on (m)

Yy 5.54: Tpoyid ehypol step-steer pe emPoln oxopraiog ywviag diedduvong d =
0.314 rad »on emTdyuVoN Aiong = 0.39

TUyKplan puBuol ekTpomhg (U0=8m/s)

2.5 1

2.0 A

L5+

1.0 A

PUBUOC exTpomic (rad/s)

0.5 A
—— PuBudg ekTponrig ywpic TV
—— PuBudg extponng pe epnpdobio-onioBlo TV
0.0 T —— EmBuunTéc pubudc EKTPOTAC
4] 1 2 3 4 5 5] 7 8
Xpévoc (s)

Yy 5.55: Puludc extponiic ehiyuo step-steer pe emBolr| oxopialag ywviag diebiuvong
0 = 0.314 rad xon emTAYLVOT Along = 0.3g
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Z0ykplon ywviac ektponric (u0=8 m/s)

—— EmTayivovTac ywpic TV

| EmTayivovtac e epnpogdio-oniobio TV
5 8]
£
=
E
5 97
(=8
=
14
54}
=]
-.5 4 -
3
.

2 -

D .

T T T T T T T T T
0 1 2 3 4 5 6 7 8
Xpovog (s)

Yy 5.56: T'wvio extponic eAtypol step-steer ye emBoAt| oaxaplatog ywviag dievuvong
0 = 0.314rad xou eMTAYUVOT| Giong = 0.3g

z0ykpLon B€onc (u0=8 m/s)

14

12 +

10

y-8€on (m)
h

04 —— Emtayivovtac ywplc TV
—— EmTaylivovtac JE eunpdabio-onioblo TV

T
-7.5 -5.0 -2.5 0.0 2.5 5.0 7.5
x-8gan (m)

YxAue 5.57: Tpoyd ehyyol step-steer ye emBohn axoplobag ywviag diedduvong § =
0.314 rad xon emtdyuvon aiong = 0.3g
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T0YKpLan puBloL ekTponrg (U0=15m/s)

N f/—ﬂvy %,:A\?ﬁﬁ__ﬂ

w
)
z
= 5
w
=
=
[=]
(=1
I
=
w
¥ -10
=2
(o]
=
o

_15 -

—— PUBUGG EKTPOTIC YWplc TV
—— PuBUOC EKTPOTIAC WE EUnpéoblo-onioBo TV
—20 7 —— EmBupntoc puBpoc eKTporrg
T T T T T T
4] 1 2 3 4 5
Xpévog (s)

Yy 5.58: Puldudc extponrc ehyuou step-steer ue emBoir axopralag yowviag dievuvong
= 0.314 rad xou emMTEYLVOTN Qiong = 0.3¢

T0yKpLon ywviag ektponrc (u0=15 m/s)

4.0 4 —— EmTayivovtag xwpic TV

—— EmTayivovTtac je eunpoéablo-oniabio TV
3.5
3.0 1
2.5+

2.0

1.5

ruvia ektponnc (rad)

1.0 1

0.5

0.0

0 1 2 3 4 5
Xpoévoc (s)

Yy 5.59: T'ovia extponric ehypol step-steer pe emBohn axaplaiog yoviag diediuvong
0 = 0.314 rad xon emTAYLVOT Along = 0.3g
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T0ykplon B€ong (U0=15 m/s)

50

401

30 -
E . .
= —— EmTayivovtac ¥wplc TV
ﬁ —— EmTayivovtac JE epnpdofio-oniobio TV
L 20+
10 1
0 .
T T T T T T
=10 -5 0 5 10 15
x-8€on (m)

Yy 5.60: Tpoyid ehypol step-steer pe emPoln oxopraiog ywviag dievduvong d =
0.314 rad »on emTdyuVoN Aiong = 0.39

Z0yKkpLon puBuol ekTpomrg (U0=4m/s)

1.0 A

0.5 1
=
[

£ 0.0
=
[=]
(=1
=
=
w
o

§ -0.5 1
(<5
=
o

—=1.0 A

—— PuBudC EKTpOMAG YWPlg TV
—— PuBudC EKTpOMAC ME Eunpdodio-onioBlo TV
_1.5 4 —— EmMOUUNTOG pubuds eKTPOMIG
0 1 2 3 4 5 5] 7 8
Xpdvog (s)

Exhue 5.61: Puiuog extponhc eAypol) amoguync EUTOBIOU UE ETLTEYUVOT| diong = 0.29
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z0ykplon ywviag ektpomric (u0=4 m/s)

ruvia ektponrc (rad)

—— EmTayivovToc Ywpic TV
Emtaydvovtac pe egnpoéoblo-omiobio TV

0 1 2 3 4 5 6 7 8
Xpovog (s)

ExApa 5.62: T'wvio extponric ehlylol anoguyic EUTOdlou UE ETLTAYUVOT iong = 0.2¢

Z0ykpLon B€onc (u0=4 m/s)

O - =
P
—5 4
\
E
o —10
=]
A
[a5]
=
_15 -
=20 7 —— EmtayivovTac ¥wpic TV
Emtayivovtac Je epnpdabilo-omioblo TV

T
0 10 20 30 40
x-Béan (m)

Exue 5.63: Tooyld ehypol amoguyng EUTodiou UE EMTAYUVOT Giong = 0.2¢
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I0ykpLan puBpol ekTpomic (U0=8m/s)

—— PuBudc ekTpomig ywpic TV
—— PuBuéc ekTpomic pe eunpéobio-oniobio TV
1511— EmBupnTtéc pubuoc extporrig

1.0 4
9
=
e
o
=

& 051
(=}
[
=
w
o
b=
=
(o]

£ 0.0+

_0.5 -

0 1 2 3 4
Xpovocg (s)

ExAua 5.64: Puludc extponic ehiyuod anoguyhc EUTOdioU UE ETLTAYLVON diong = 0.2¢

Z0yKpLon ywviog ektpomric (u0=8 m/s)

15 1T EmtayivovTac Ywpic TV
' —— EmTayivovtac Pe epnpéotio-omiobio TV
1.0
=]
£
=
£ 054
[=]
[=8
=
=2
w
N
= a
3 0.0
[
_05 |

0 1 2 3 4
Xpavog (s)

e 5.65: I'ovia extpomhc eMypo) amo@uYHE EUTOBIOU UE ETLTAYUVOT| Giong = 0.2g
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20ykpLon Béonc (u0=8 m/s)

0 —— EmTayivovTac ywpic TV
—— EmTayivovTac Je epnpdobio-omiobio TV
_2 -
_4 -
E
=
S 61
[as]
.
_8 -
_10 -
_12 -
T T T T T T T
0 5 10 15 20 25 30
x-8£0n (m)

Yo 5.66: Tooyld ehyuol amo@uyng EUnodiou UE EMTAYUVOT Giong = 0.2¢

Z0ykplan puBuoL ekTpotrg (U0=15m/s)

—— PuBUOC EKTpOTNG XWwpic TV
—— PUBUAGC EKTPOMAC HE eunpdobio-onioBlo TV
—— EMBUMNTGC pUBUOS EKTPOTIG

=

PUBpéC ekTpOTAC (rad/s)

—4 - T T T
0.0 0.5 1.0 15 2.0
Xpovog (s)

ExAue 5.67: Puduog extponhc eAypol) amoguYnc EUTOBIOU YE ETLTAYUVOT| diong = 0.29
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T0ykplon ywviag ektpomric (U0=15 m/s)

0.0 +—+——

_0.5 -

\\

5 .
g —=1.0 4
[
=
5
[=3 _1 5 T
=
=2
)
=)
= p— -
3 2.0
b

_2.5 -

—— EmTayivovtoc Ywpic TV \
—3.0 Emtaydvovtac pe epnpoéobio-omiobio TV
T T T T T
0.0 0.5 1.0 1.5 2.0
Xpovog (s)

Yy 5.68: T'wvio extponric eAlylol anoguyc EUTOdlou UE ETLTEYUVOT iong = 0.2¢

T0ykpion Béonc (U0=15 m/s)

y-8€an (m)
|
[#+]
1

_10 -
_12 -

R | EmTayivovtag ywpic TV

EmtayivovTag Y epnpoolo-oniodio TV

T T T T
0.0 2.5 5.0 7.5 10.0 12.5 15.0 17.5 20.0
x-BEon (m)

_16 -

Yy 5.69: Tooyid ehyuol anoguyrc eUnodlou UE ETTAYUVOT| Giong = 0.29
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"Totepa amd TEOCEXTIX UEAETY) TGV TUEATAVE OLotY QUUUAT®Y, lval eupavic 1 emdelvwor
TNG CUUTEQLPORAS TOU OYAUATOS XUTA T1) OLYEXELN TV TEPLOCOTERWY EMYUWY UE TN OpdoT
Tou eumpociiov-onictiov TV yepovowuéva. Mdlota, 600 1 ey ToybTnTa avddveto,
1600 O OpouaTXY Elvar 1) ETOEivwoT).

ITio cuyxexpéva, Yo TNy TERITTOOT TNE YoUNAOTERNC oy txNg Toy UTNTAC TWY vy = 4m/s,
oev mapatNEUNXE Xl aAAUY ) OTO ATOTEAEGUATO TGV TPOCOUOUMCEWY TNG ETMLTOY UVOUEVTS
UPIOTERNC OTPOYNC, OIS QaiveTon oTo oY AT m - 15.45] ¥tov elyud step-steer urm-
fege wixpr| emdeivwon), agol mopatnerinxe andxhion ueyoahitepn xatd 0.2 rad/s ond tov
emiuunté puiud extpomrc Alyo mpy TN ypovixr otiyur) t = 65, 6nwg galvetoaw oTo LY.
Katd tn 8o amoguyric eumodiou, o anoTeAEoUTO ATOY EPPOVKS YEWROTERH. AT
™ yeovwt oTiyun t = 65 %t €nelta epgaviCeTon PEYIAT BloxOUAVOT) GTO OLdyEoUUd TOU
eudpol extporiic, 1 omolo chvToua Yo 0dnyoloe oe ommheta eMéyyou (BA. oyfualp.61). To
OUUTEPUOUN AUTO EVIOYVETOL altd ToL L. O NS YoViog EXTPOTAS %ot TNE TPOYLSC.

[ty mepintwon twv vy = 8m/s, mopatneinxe eAdylotn emdelvewor oTov eAYUS g
ETUTAYUVOUEVNG OTROPNS, OIS QulVETL OTO Y. , omou mapouctdleton pxey| ad&non
Tou o@dipatoc. H avinon auvtr wotdoo O uetapedleton o ahhayh) OTNY TEOYLE TOU
oyfuarog (Xy. . YTov eMypo step-steer unriple uixper emdelvwot, agol Tapatneiin e
ueyohitepn amdxhon and tov emtduuntd pudud extpomic xatd 0.3 rad/s tn ypovixh oTyps
t =45, 6Twg galveTon oTo XY. Kotd n doxpr anoguyric eunodiou, dev mapatnerdnxe
xolor ahhory?) OTaL AMOTEAEGUOTA TOVY TROCOUOIWoEWY (BA. Xy. - [5.66)).

Téhog, xotd Tic Soxipée pe v uhnhdtepn apy x| Toy TNt TV vy = 15m/s, napotnpel-
Ton emtlong Uxer| ETOEVWGET) GTOV EALYUO TNG ETUTOYUVOUEVNC OTPOPNS, OTIWS TEOBIDEL TO LY.
5.49} 6Tou To Oy MU PotveEToL VoL YAVEL TOV EAEY YO 0pLoxd Vwpltepa. ‘Ocov agopd Tov elyud
step-steer, Ta amotehéouaTo NG TEOGOUOIWONG EfVaL EUPAVOS YELPOTERA, DEDOUEVOL OTL TO
OYMUOL EXTEETETOL TNG Topelag TOU GYEDOY 1 BELTEPOAETTO Vp{TERU OE OYECT| UE TOV ENLYUO
ue To oloTNuo avevepyo. Ta mopamdvey amodevbovTon and To oy Ut xa Tou
evduol xat TN Ywvidg EXTEOTAC, a@ol Alyo UeTd TN yeovixh oTiyun t = 4 s mapatnoolvTol
TEQAOTIEC UANXYES X ETELTA OTUUATOLY Vo tapdyovton TyéS. To dymua ywelc TV elye
xatopépet va exteréoet At = 55 Tou eEAydol Tpotol cuvavTthoel Ty Bl potpa. Kotd ™
doxuT| AmoQUYYIC EUTOdIOU, Ol dAAXYEC TTOL ToEUTNENINXAY OTA ATOTEAEGUATO TWY TREOCO-

Hotwoewy Aoy opekntées (BA. Xy. - 15.69).

To mapamdve anotehéopoto ETOANUEDOLY TNV VO TEROTNTO TWV CUCTNUATWY TETPaxivong,
oc oyéon UE To cLOTAPNTO PETAdooNS Xivnong oe évav povo dova (FWD & RWD).
Avadewvieton enlong 1 anodotixétnTa Tou left-right TV, agol 1o Baocwd poviého oto
omolo egupudoTXE elvan TeTPaxivNTO, YEYOVOC ToU XahoTd TN CUUTERLPOE TOU GE EALY-
uoU¢ €&’ oplolol apxeTd TEoPAEPUN xou acparr. ‘Ocov apopd to eunpdcdo-onictio TV,
eVduLon evog TéTolou Lo THUATOS QuiveTon Vo etvon To) amontnTer. Lxéeig mpog Pehtiwon
TOU VPO TAPEVOU ahyoplduou Yo TUPOUCLUGTOUY TUEUXATE.
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5.3 Apiotepd - 0l & csunpocto-onicto TV

To Xy p.70] - [5.78], [5.79] - [5.87] xan [5.88] - [5.96] mou gaivovron apéowe yetd mapotétouy Ta

amoTeAéoUTA TAUTOYPOVNE ETBOAYS EUnpociiou-omiciou xou aptotepol-6edol TV otoug
ENLYUOUC ETULTAYUVOUEVNG ApLOTERTIS 0TROPNS, step-steer xou amoguyrig eunodiou avTioTolyng.

Z0yKplon puBuoL extpomric (U0=4m/s)

2.5 1 —— PuBudc extpomnrg ywpic TV
PUBUAG EKTPONIE HE apLOTEPO-GEEL TV
—— PuBudg extponrc pe aplotepd-oeki & epnpdoblo-oniobio TV
—— EmBupntoc pubuoc ektponrg

2.0 1
o
=
i+
= 154
o
=
=
[=]
(=1
=
=
w
w 1.0 4
!
=4
o
=1
o

0.5 A

0.0 1

T T T T T T T
0 1 2 3 4 5 4]
Xpovog (s)

ExAue 5.70: Puduodc extpomic EmMToyLVOUEVNS 0pIoTERNC OTROYNAC UE puiUS adEnong
ywviog dievduvong vs = 0.05 rad/s xou ETTEYUVON Glong = 0.2¢
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Z0yKplon ywviag ektporic (u0=4m/s)

—— EmTayivovtac xweic TV
4 4 —— EmTayOvovTac JE aploTEpd-GeE( TV /
—— EmrayivovTac PE aploTEpO-GeEl & eunpdoblo-onioBio TV
T 3
e
=
=
=
[=]
=
£ 27
[1¥]
B
=
3
.
l 4
D -
T T T T T T T
0 1 2 3 4 5 6
Xpoévoc (s)

Yxhue 5.71: T'wvio exTpomhc EMTOUYUVOUEVNG UPIOTERNS OTEOPAC PE PUINO adEnong
ywviog dievduvang vs = 0.05 rad/s xon emTdyUVON Glong = 0.2¢

z0ykpLon B€onc (u0=4 m/s)

25 A
20
E 151 — PpuBpéc extpomric ywplc TV
3 —— PuBpéc skTpomg UE aploTEpS-GeLl TV
& — PUBPOC ekTpOMG HE aploTEpd-GeEl & epnpoodio-oniotio TV
>
10
5
0 -
T T T T T T
0 5 10 15 20 25
x-BEon (m)

YxAue 5.72: Tpoyd emtoayuvopevne aplotepic oteo@rc pe puiud adinong ywviag
dievuvone vs = 0.057rad/s xou emTdyuvon aiong = 0.2g
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Z0yKpLan puBol ekTpomric (U0=8m/s)

2.00 4 — PuBpég ekTpomig xwpic TV
—— PUBUOC EKTPOMAC UE QPLOTEPG-GEEL TV
L7541 PuBuéc ekTpomic e aploTepd-GeEl & epnpooblo-oniobio TV
’ —— Emfuuntdc puBudc ekTpomrg
1.50 1
3
© 1.25 A
(9
=
=
2 1.00 1
2
=
w
‘U‘
S 0.75
(o]
=
o
0.50
0.25 ~
0.00 A
0 1 2 3 4 5 6
Xpovog (s)

Yy 5.73: Puludc extponic emitoyLvOUeVng aptoTephic oTpoghc pe puiud adinong
ywviog dievduvong vs = 0.05 rad/s xou ETLTEYUVON Glong = 0.2¢

Z0yKplon ywviag ektporric (u0=8m/s)

—— EmTayivovtac xweic TV
517 —— Emtayivovtac pe aploTepd-6eEl TV /
—— EmTayivovTac JE aploTEPO-GEEl & eunpooBilo-omiotio TV
4 -
=l
£
wr
\E 3 4
[=]
(=1
=
L
w
B 2
=3
3
—_
l -
D -
T T T T T T T
0 1 2 3 4 5 6
Xpovog (s)

Yxhue 5.74: Twvio extpomhc EMTUYLVOUEVNG 0PIOTERNG OTROPAS PE puIUO adinong
ywviog dievduvong vs = 0.05rad/s xon emTdYUVON Glong = 0.29
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Z0yKplan B€onc (u0=8 m/s)

25 4
20 4
E, 154 — PuBuoc exTpomng ywplc TV
5 ——— PuBpog extponrg pE aplotepd-Gell TV
& —— PuBpog extponrg pe aplotepd-Geki & epnpooBio-onlofio TV
>
10 1
5 -
D -
T T T T T T T
0 5 10 15 20 25 30
x-0on (m)

Yxhue 5.75:  Tpoyd emtoyuvouevne aploTeprc oTpopnc pe puiud avinong ywviag
dieuvone vy = 0.05rad/s xou emtdyuvon aione = 0.2

‘Ocov apopd ToV TEWTO EAYWO, Yl vy = 4m/s xou vy = 8m/s ta anoteléopota eivan (Biot

o€ oyéon Ue autd tou aptotepoV-0eltd TV (BA. oyfuorta [5.70[- [5.75)).
XEOM U plotep XM
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Z0yKpLon puBuov ekTpomric (u0=15m/s)

5.0 1

2.5 1

001 7Aﬁ\#

E \}/
=
[
T =251
=
[=]
(=1
F
e
w _5.0 .
(¥
2
=L
[=5]
=
=9
_?5 4
—— PUBUOG EKTpOMIG XWwpic TV
—10.0 T . . PR—
—— PuBu6Gg EKTPONIG HE aploTeEPS-0EEL TV
—— PuBuoOCg ekTpomrg Y aploTepd-GeEl & epnpdobilo-oniablo TV
12547 EmBupnTtog puBpog EKTPOTIG
0 1 2 3 4 5 6
Xpovog (s)

YxAue 5.76: Puluog extpomhc emToyLVOUEYNS aptoTEPNS 0TROYHC e puiUd adinong
yowvioag diediuvong vs = 0.05 rad/s xou ETUTAYUVOT Aiong = 0.2g

TOyKpLon ywviag ektponrc (u0=15m/s)

2.5
—— EmTayivovTac yweic TV
—— EmTay0vovTac JE aploTEpO-GeEl TV A
20 U EmTayivovTag Je aploTEpO-6eE( & eunpdobio-oniobio TV
3
= 1.5
wr
=
=
[=]
(=8
£
w 1.0
=
=
3
b
0.5 1
0.0 1
T T T T T T T
0 1 2 3 4 5 6
Xpoévoc (s)

YxAue 5.77: Twvio extpomhc EMTUYLVOUEVNG UPIOTERNG OTEOPAS PE puIUO adinong
ywviog dievduvong vs = 0.05rad/s xon emTdYUVON Glong = 0.29
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Z0yKplan Béanc (u0=15 m/s)

60
50 +
401
E, — PUBpoC ekTpOng Ywplc TV
‘D’—_ 30 4 PuBuog exTpomnig pe aplotepd-Gekl TV
& —— PuBpog extponrg pe aplotepd-Geki & epnpoobio-onlofio TV
>
20 4
10 1
D -
T T T T T
0 10 20 30 40
x-0on (m)

Yxhue 5.78: Tpoyd emtoyuvouevne aploTepc oTpopnc pe euius alinong ywviag
dieuvone vy = 0.05rad/s xou emtdyuvon aione = 0.2

[ vg = 15m/s, mapatneeitar pla etepoypoviouévn dioptwon oto oy fua Tou puiuol
EXTEOTAC Alyo Tty Tn oTlyun t = 5 s, 1) omolo petagedleton ot Alyo xaduotepnuévn extéreon
NG APLOTERHC OTEOPNC UETAL) TOU YpoVXoU SloTAUNTOC t =45 - t = 5's, 6w QalveTol

OTO Oy
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TOyKpLon puBuol ekTpomrc (U0=4m/s)

2.5 1

2.0 A

1.5 1

1.0+

PUBUOC exTponic (rad/s)

0.5 1
—— PUBp6C eKTpoOmg ¥wpic TV
—— PuBpéc eKTponic HE apLoTEPS-GEEL TV
—— PuBpéc ekTponic HE aploTEPG-GeEl & epnpooblo-onioBilo TV
0.0 —— EmBuUNTOC pubuoc EKTPOMAC
4] 1 2 3 4 5 5] 7 8
Xpévoc (s)

ExAue 5.79: Puludc extponiic ehryuo step-steer pe emBoly| oxopialag ywviag diebiuvong
= 0.314 rad xou EMTEYLVOTN Along = 0.3¢

Z0yKpLon ywviag ektponhc (U0=4 m/s)

—— EmTayivovTac Ywpic TV —
104 — EmtayivovTac U aploTeps-GeEl TV
—— EmMTayivovTac JE aploTEpG-GeEl & eunpéablo-oniobio TV
— 87
=
£
=
E 61
(=]
=3
=
4
Wl
=]}
-\.5 4 -
3
.
2 -
D -
T T T T T T T T T
0 1 2 3 4 5 6 7 8
Xpovog (s)

Yy 5.80: T'ovia extponric ehypol step-steer pe emBohn axaplatog yoviag diebiuvong
= 0.314 rad xou EMTEYLVOT Along = 0.3¢
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Loykplon B€ong (u0=4 m/s)

15.0 ~
12.5 1
= 10.0 1
E
=
-
¢|, ?.5 A
=
5.0 H
2.5 7 —— Emtayivovtacg ywpic TV
—— EmTayivovTac JE aploTEPG-GEEL TV
0.0 4 —— Emtaylivovtag pe aploTepd-GeEi & epunpoodio-onicbio TV
T T T T T T T T
—6 —4 -2 0 2 4 6 8
x-8£an (m)

Yxhuo 5.81: Tpoyd ehyuol step-steer ye emBohn axoplofag ywviog dieduvong & =
0.314 rad xon emtdyuvon aiong = 0.3g

TUyKplan puBuol ekTpomhg (U0=8m/s)

2.0 1
E’ 1.5
=
=
=
5]
(=}
=
=
w 101
(¥
R=]
3
Las]
=)
o
0.5 A
—— PUBPOGC EKTPOMIG ¥wpic TV
—— PuBpéc eKTponic HE aploTEPS-GEEL TV
—— PuBpéc ekTponic HE aploTEPG-GeEl & epnpooblo-onioBilo TV
0.0 —— EmBuUNTOC pubuoc EKTPOMAC
4] 1 2 3 4 5 5] 7 8
Xpovog (s)

Yy 5.82: Puludc extponiic ehryuo step-steer pe emBolr| oxapialag ywviag diebiuvong
= 0.314 rad xou EMTEYLVOT Along = 0.3¢
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I0ykplon ywviog ektpomnrc (u0=8 m/s)

—— EmTayivovTac ywpic TV 1
10— EmTayivovTac Je aplaTepd-6eEl TV
—— Emroy0vovTac PE oploTepd-6eEi & eunpdobio-oniobio TV
— 81
=]
£
=
E
5 ©1
(=8
)
14
54}
=]
-.5 4 -
3
.
2 -
0 .
T T T T T T T T T
0 1 2 3 4 5 6 7 8
Xpovog (s)

Yy 5.83: T'wvia extponic eAtypol step-steer ue emBoAr| oaxaplatog ywviag dievuvong
0 = 0.314rad xou eMTAYUVOT| Giong = 0.3g

I0ykplon Béong (U0=8 m/s)

16
14
12 4
— 10 1
E
5 8-
i
[as]
=
6 -
4 .
2 - —— EmTaytvovTac Ywplc TV
—— EmTayOvovTac JE aploTEPG-GEEL TV
0 - —— EmTayovovTac JE aploTEpO-GELl & eunpdoblo-onioBio TV
T T T T T T T T
7.5 =5.0 —-2.5 0.0 2.5 5.0 1.5 10.0
x-8gon (m)

Yxhuo 5.84: Tpoyd ehyuol step-steer ye emBohn axoplobag ywviag diedduvong § =
0.314 rad xon emtdyuvon aiong = 0.3g
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Ytoug ehrypolc step-steer, to amotehéopata Tou ouvduacTtixol TV yia vy = 4m/s xou
vy = 8m/s elvan moapanmAfiol Ye autd tou aptotepol-0eitod TV. Yta oyfuata twv pu-
Yudv extponic O TaPOTNEE(TOL CPYIXE TOPATEVE UTEROTPOYIXY, CUUTERLPORY,
oxohoLOVUEVT) o ULXEES BlouUAVoELS. AuTé €yel we anoTéAeopa T druLovpyio eEAdyloTa
oTeVhTEPNS TEOY LS, OTWS TPOXUTTEL amd Tor LY. xou [5.84, H extéleon otevétepng
TEOYLAC TEXUNPUOVETAUL XOU OO TO OYHUATA TWV YWVLOY EXTEOTHG, OTOU TO GUOTNUN UE TIC
ouvbuacTixée taxtxéc TV napoucidler wixer avénon otig twée (BA. oynuota oL
5.83)).
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T0YKpLan puBloL ekTponrg (U0=15m/s)

5 .
0 -
w
=]
&
_g -3 —— PuBpoC EKTpOMAC ¥wpic TV
§ —— PUBUOC EKTpOTAG ME aplOTEPO-GEEL TV
E —— PuBp6Gg EKTPOMNG UE aploTEPG-GEEL & epnpooblo-onioblo TV
2 . . i
g -10- —— EmBupnTtog puBuog EKTPOMAG
=
=]
=]
o
_15 -
—20 7
T T T T T T T T T
4] 1 2 3 4 5 6 7 8
Xpévog (s)

Yy 5.85: Puldudc extponrc ehyuou step-steer ye emBolr axopralag ywviag dievuvong
= 0.314 rad xou emMTEYLVOTN Qiong = 0.3¢

Z0yKpLon ywviag ektponric (U0=15 m/s)

—— EmTayivovTac Ywpic TV ~
o EmtayivovTac U aploTeps-GeEl TV
—— EMTo)OvovTac JE aploTepd-GeLi & eunpdodio-oniolo TV 7
5 8]
£
wr
E
5 01
=3
=
4
Wl
=]}
-\.5 4 .
3
.
2 -
0 -
T T T T T T T T T
0 1 2 3 4 5 6 7 8
Xpovog (s)

Yxue 5.86: I'ovia extponric ehypol step-steer pe emBohn axaplaiog yoviag diebiuvong
= 0.314 rad xou EMTEYLVOT Along = 0.3¢
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Z0yKplan Béanc (u0=15 m/s)

40 4 —— EmTayivovtac yweic TV
' EmTayivovTac Je aploTEpG-6eEl TV
—— EmTayivovTac JE aploTepO-GeEl & eunpooblo-omioBio TV
30 4
E
=
5 20
[an]
=
10 1
D .
T T T T T T
=10 -5 0 5 10 15
x-0on (m)

Yy 5.87: Tooyid ehypol step-steer pe emPoln oxopraiog ywviag diedduvong d =
0.314 rad »on emTdyuVoN Aiong = 0.39

[t vy = 15m/s, t0 choTnuo xatapépver xon Téht vo amoteédel TNy emxiviuvn xatdo taon
amiAelag eréyyou, To onofo goivetan oto oyrua [5.85 Tou puduol extporic. Qotdoo, 1 Bi-
adixacior eAEyy oL dpa Alyo SLPORETIXG GTNV TEQITTWOY) AUTY|, UE ATOTEAECUA VoL TORUTNEELTOL
augnuévog pLUdE exTEOTNC €we TN oTiyun t = 5.75, OTWS QulvETUL GTO OY MU P!
uetwpévog Votepa. AuTth 1) Blapopd amoTUTGVETOL TOAD Xadopd XaL GTO BLdy PO YwViag
EXTEOTNG (Xy. . LUVETWGS, TopaTneeiton HETABOAY XaL OTNY TEOYIA TOU OYUUTOS
umo TNV enidpaot Tou cuvduaoTixow TV, 1 onola @épel Eva o GTEOYYVAG oy AU, oAAd
Topouctdlel xou plo amdtoun ahhory | xateutivoewe TEog To TENOC.
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YUyKpLon pubLol ekTpomrg (U0=4 m/s)

1.0+

0.5 1
9
=
z
=
€ 0.0
Q
(=}
[
=
w
o
E
2 -0.51
=
o

| PUBUOC MEPLOTPOPRC YWPIC TV
—— PuBudc MePLOTPOQNC HE aploTePO-GeEL TV
—— PuBuoC MePLOTPOQNC KE aploTePO-GeELl & epmpooblo-onioBio TV
154 — EmBupnTtéc pubuoc neploTpogric
T T T T T T T T T
0 1 2 3 4 5 6 7 8
Xpovog (s)

ExAra 5.88: Puludc extponic ehiypod anoguyhc EUTOdiou Ue ETLTAYUVON diong = 0.2¢

Z0ykplon ywviag ekTponric (u0=4 m/s)

0.5 1

0.0 1
=]
£

~.§ _0.5 -
[=]
[=8
'—l
&

B —1.0 A
=
3
[

—=1.5 A

—— EmTayivovToc Ywpic TV /
apd—— Emtayivovtac Pe egnpdéobilo-omiobio TV
' —— EmToayivovTac PE aploTEpO-GEE( & eunpdobio-omiobio TV
T T T T T T T T T
0 1 2 3 4 5 6 7 8
Xpovog (s)

Yo 5.89: I'ovia extpomhc eMypo) amo@uYH EUTOBIOU UE ETLTAYUVOT| Giong = 0.2g
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20ykplon Béonc (u0=4 m/s)

0
—5 A
E
= —10
[=]
wl
&
=
_1 5 -
—20 &+ —— Emtayiwovtog ywplc TV
EmTayOvouTas JE aploTepo-GeEl TV
—— EmToyivoutos ME aploTeps-GeE( & eunpdob-oniotio TV

T
0 10 20 30 40 50 60
x-BEan (m)

Yo 5.90: Tooyld ehypol amo@uyng EUTodiou UE EMTAYUVOT Giong = 0.2g

Ytov elypd amoguyrc eunodiou ye vy = 4m/s dev nopoatneinxe Behtiwon twv onote-
Aeopdtwvy o oyéon e to oplotepd-0ell TV, apol o puiude exTEOTAC TOU XUTAPERE TO
OyMua Bev Htav mo xovtd otov emuuntd. To mapamdve gatveton oto oyfjua puUoy ex-
TEOTAC 267600, T0 GUOTNUA XATATOAEUNCE LOVE TO QUIVOUEVO UTERC TROYNG TOU £lvol

0puTé OTO oYU NG TEOYLEC TOU OYAUATOC.
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I0ykpLan puBpol ekTpomic (U0=8m/s)

1.5

1.0

—— PuBudc ekTpomig ywpic TV
0.5 4 —— PuBuOG EKTpONNG HE aploTEPS-GEEL TV
—— PuBudc EKTPOTIC ME aPLOTEPO-GEEL & epmpdobilo-oniobo TV
—— EmBupntdc puBudc ekTpomrig

PUBLOG exTponng (rad/s)

0.0 1

_0.5 4

0 1 2 3 4
Xpovocg (s)

ExhAra 5.91: Puludc extponic eAiyuod anoguyhc EUTOdioU UE ETLTAYLVON diong = 0.2¢

Z0yKpLon ywviog ektpomric (u0=8 m/s)

1.5

Tz L0A
£
§ —— Emtayivovtac ywpic TV
§ 0.5 1 —— EMTay0vovTac JE aploTepo-GeEl TV
x —— EmTay0vovTtac JE aplOTEPO-GEEL & eunpdodio-oniobio TV
=]
=
2 004
[

_05 -

0 1 2 3 4
Xpavog (s)

Yo 5.92: T'ovia extpomhc eMypo) ano@uYH EUTOBIOU UE ETTAYUVOT| Giong = 0.2g
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20ykpLon Béonc (u0=8 m/s)

D —
_2 -
_4 -
£ —— EmrTayivovTac ywpic TV
.§ _6 4 — Emtoxivovtag pe aploTepd-GeEl TV
@ —— EMmTayOvovTac JE aploTEpO-GeEl & eunpooBlo-onioBio TV
=
_8 -
_10 -
_12 -
T T T T T T T
0 5 10 15 20 25 30
x-BEan (m)

Yo 5.93: Tooyld ehypol amoguyng EUTodioU UE EMTAYUVOT Giong = 0.2g

Opolwe, yla apywh toydmnta vg = 8m/s dev unhple mepoutépw Peltinon twv omote-
Aeopdrwv.  Hapatneidnxoay pepéc amoxhioeic ota oyfuata Tou puiuol xau TS ywviag

extponhc (5.91) o :5.92|).
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T0yKpLon puBpol ektporic (U0=15 m/s)

l -
D -
3
e
e
B -1
(=1
[=
4
w
(¥
2
=4
2 21
o
—3 4 —— PUBUOC MEPLOTRPOPAE YWpic TV
—— PUBUAOC MEPLOTPOPNC WE APLOTEPO-GEEL TV
—— PUBUAC MEPLOTPOPNC WE aploTEPS-GEEl & epnpdaoblo-onioBlo TV
—— EmBupNTOC puBUGC MEPLOTPOQIC
_4 = T T T T T T T T T
0 1 2 3 4 5 5] 7 8
Xpovog (s)

Yy 5.94: Puludc extponic eAlypod anoguyhc EUTOdi0U UE ETLTAYLVON diong = 0.2¢

Z0yKpLon ywviac ektponrc (u0=15 m/s)

2 -
5 11
£
wr
E
c 07
(=1
=
=
Wl
=]}
g 1]
3
[

_2 T £ s
—— EmToyivovtag ywplg TV
—— EMTa}0vovTac JE epnpoobio-oniodio TV
—3 4 —— Emtayivovtag Je aploTepo-GeEl & eunpdobio-onicBio TV
T T T T T T T T T
0 1 2 3 4 5 6 7 8
Xpovog (s)

Yo 5.95: T'ovia extpomhc eMypo) ano@uYN EUTOBIOU UE ETLTAYUVOT| Giong = 0.2g

128



20ykpLon Béong (u0=15 m/s)

_10 -

_15 -

_2{:' -

y-8€an (m)

_25 -

_3O -

—354 Emtayivovtag ywple TV
EmTayovouTas JE aploTepo-GeEl TV
— EmToyivoutos JE aploTeps-GeE( & eunpdobn-onioto TV

T T
0 20 40 60 80 100
x-BEan (m)

Yo 5.96: Tooyld ehyuol amoguyng EUTOdioU UE EMTAYUVOT Giong = 0.2g

H cuvduactiny yeron twv cuotnudteny TV anodeixvicton xepdo@dpa 6ToV EAYUS amopuY TS
gumodiov pe v uPnhdtepn opyx TayvTnTa vo = 15m/s. Bougnva ye to Ly. , T0
Oymua bvan oe Véorn va emoTteédel ot Awplda Tou emtuyns. H petagopd ponrg otov
orioio d&ova xatd TNV aploTERY 0TEORT| 007yNoE o emmAéov dnutovpyia pomhc oTeédng,
%xateLHivVOVTOG TO OYNUA TLO XOVT oTNY emduunTy| Topela.

H ot aut) mapouctdlet wdwktepo evdlapépoy. H ouunepipopd Tou cuotijdatog eivor ToAD
Topamhiola ue auTr Tou aplotepol-0ellol TV, anotpénoviag xdlde emxivouvn xatdoTao
umepo TEoPTS 1) utocTeogrc. H Baowr| dwupopd Eyxetton oTov TeAeuTaio My, Tov onolo
10 apLoTepod-0edl TV dev ftav oe Véom va ohoxhnpdoet. E&etdlovtag To Sudypoupo Tpoytde
TOU OYAUATOC OTO Y. , TopatneoLYTHL TOAD o "emeTinée” ahhayég xaTeLdOVoEWY.
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Y UUTERPAC AT

‘Eva and o Pacixd cuunepdopata tne mopolouc Aimhwpatixfc Epyaotog eivon o xpiouoc
pohoc Tou aplotepo-oedtol Torque Vectoring otn otadeponoinon Tou oyfuatoc xatd T
OLdipxela SLopdewy ehypovy. H ixavotntd Tou vor eE0UBETERMVEL TIC TAOEIS UTEQO TROYPTC Xl
UTOOTROQNG CUVADEL UE TIG TEOCOOXIEC YLl BEATIOUEVT AEOOOT, TOU OYUATOG, UELDOVOV-
TUG AMOTEAEOUOTIXG TOV %ivOuvo TiavAC ammAslag EAEYyou. Xe mpaxTixd eninedo, To
amotéheoua auTd LToypauuilel T onuacio TS TEAELOTOINCNEC TWV CTEATNYIXWY UPLGTEQOU-
oegtol TV yia tn Bertiotonoinoyn Tne Suvauxic Tou Oy AUATOC.

Avtiveta, n epoapuoyy| Tou cuoTiatog eunpdcdov-onichiou TV uepovouéva xatédeile
wa a&toonueinTn tedxinon. H embdelvworn tov Qouvouévwy UTEpeTEOPTC Xal UTOGTROYNC
Tou mpoéxuday and TN HETOBOAT TN xaTavounc TNS POTNE HETAEY TOU eunEOG oy xon TOoU
oriotou dfova TEXUNELOVEL TEPUTERL TNV oxp{Bela xou TNV TEOCOoY ) TOL amouTe(TaL XATE

™ Poduovéuncy tov.

To YeyoAUTERD EVOLUPEROY EYXELTAL OTNY UEUOVIXY| IAANAETBEUOT TV UG TNUATWY APLOTEROD-
0e&tol xan eumpdciiov-onictiouv TV, dtav autd cuvdudlovton. e auTh TN SLUOEPWOT), OL
000 oTEATNYIXEC AAANAOGUUTANEGVOVTOL, AUBAUVOVTIC TIC BUOUEVEIC ETLOPAOELS TOU EUTREOGIIOU-
orioiov TV 6tav autéd dpa wovo tou. Ot BEATIOUEVES ETBOOEL TOU TORAUTNEHUNNUAY XUTd

N OdpXEl TWV 80XIGY LTtoypauuilouy Tn onuacia TG CUYBLACTIXHG AELTOURYINS TGV
OTRUATNYIXWY EAEYYOU TNG XATAVOUYS POTG.

Koo ohoxhnpdvetar 1 mopoloo €peuva, eivar Teogoavég 6T 0 dpduog yio Ty TAHeY ol-
lortolnon twv duvatothtwy Tou Torque Vectoring etvon yepdtog pe euxonpleg yio tepoutépn
olepevnom xou Bedtiwon. H avdyxn yia Aentopepn pdduion, fehtiotonolnon 1oy oTpatnyxoy
xou ETUTEVE T YIS OPUOVIXTC LOOPEOTHOG UETAEY TWV CUCTATIXGY CTOLYEIY TOU GUC THUATOC
yiveton acdun mo ep@oavic xon TOVICEL TNV avoryXatOTNTA UG GUYVEYOUS BECUEUCNC Yol TNV
TeAEloTOlNGY| TOU, avOlYOVTUC TEAIXA TO OPOUO YLo UCPUAEGTEPES XOU THO OTOANUGC TIXES
00MYWES EUTELPlES.
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5.4 Melhovtixn spyacio

Emtedydnxay alidhoya anoteAéopota omd T dnutovpyia xo TNV TEOcUpUoY T EVOC GUCTH-
HOTOG UTOTOU EAEYYOU XaTavourc POTNG 0TO Oynua. 201600, Eneita and PEAETY TV
OMOTEAEOUATOY TOU TUPOUCLACTIXAY TEONYOUUEVWLS, YEVWUNXAY oXEElC OGOV apopd Toug
Teomoug Bedtiwone Tou cuoThuatog. Ilavée xatevdivoel Tpog Blepelvnom xon TaXTIXES
mou Yo UnopoloaY UEAROVTIXG VA EQUEUOCTOUV GTO UPIGTAUEVO GUCTNUO TROXEWEVOU VoL
Behtidoouy TN cuuTEpLPopd Tou, TEPLAUUPBEVOLY UeTUC) GAAWY TIC oxOAoUVEC:

o Xphion un-ypouutxol ekeyxth yio to epnpéoiio-onioho TV (B [[lapdotnuo Al [A.13]).
Me autdv Tov TEbTO, 1) UETAPORE oY YOG UETAEY TOU €umpOcOU Xou TOu OTloviou
d&ova Vo exteheiton HOVO OE MEQITTWOELC OTOL TO GYIAUN TOU ELIUO) EXTEOTHC UT-
epPaiver oplouéva opta, agol 1 €€odog mou Va ToEdyEL Yo yauniéc Twég Yo eivou
undouwv). H gihocogio tlow and tnv mpdtaomn auth etvor 1 e€ric: Mehetdvtog ta
amoteréopato Tou eunpootiov-onictiov TV, elvan copéc 6TL 1) ToxTiny| aUTY| AmodidEL
TEPLOCOTEQO GE TEQPLTTWOEL OTIOU TO Oy MU PploxeTan x0VTd 08 XAUTUAG TUCELS ATWAELNS
ehéyyou, dpa yeetdletar emmAéoy dnutovpyio dlopdwTixng pomrc oTeédng Tpoxeuévou
vo emiteuy Vel o emupntég puiudg extponrc.

o Avdmtuin mo elehypévou alyopituou, o omoiog Yo houfdver unddm xon Tn Srordéoiun
Tpdouon xdle tpoyol Aoyw Uetagopds Bdpouc (UeTaBolr xotaxdpupng SUvaUNg
ENOOTIXWY) x0T TN Btdpxelar Twy elypodyv. O akydprduoc mou avartdydnxe oe auty
1 SLoTey3| AowPdvel uddn uovo TN Sladéoiun TedcuoT (e TEOY 0D AOY L AAAAYDY
Tou ouvTeEAeoTH TEIBNC, oL Unopel var tpoxnlel amd xanpixd pouvoueva 1| ETOEiVWOT

rowotntac Tou dpépou (Bh. (3.12) xau [2.4)).

o Ewooyoyh oxdun evog yeyédoug eréyyou, tne yoviac ollonone (slip angle). Me
Vv Teoc¥fxn autr Yo AauBdvovton o axdUa TEPLOGOTERES TANEOPORIES Yiol TNV
xatdotac mou PeloxeTtal To Oy N, BEATIOVOVTAS TNV AmodoTXOTNTA Tou aAyopituou.
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[Tapdptnuo A

Koowxoc

Andonacpa Kdduxa A.1: Thonoinon poviéhou ehaotixodv o Python (tire model.py)

1 # sign function
2 def sign(x):

3 if x > 0:

4 return 1
5 elif x < @:

6 return -1
7 else:

8 return 0

1w # longitudinal tire forces
n def formula_longitudinal (kappa, gamma, F_z, p):

12 # turn slip is neglected, so xi_i=1

13 # all scaling factors lambda = 1

14

15 # coordinate system transformation

16 kappa = -kappa

17

18 S_hx = p.p_hx1

19 S_vx = F_z * p.p_vxl

20

21 kappa_x = kappa + S_hx

22 mu_x = p.p_dxl x (1 - p.p_dx3 *x gamma ** 2)
23

24 C_x = p.p_cxl

25 D_x = mu_x * F_z

26 E_x = p.p_exl

27 K_x = F_z * p.p_kxl1

28 B_.x = K_x / (C_x * D_x)

29

30 # magic tire formula

31 return D_x * math.sin(C_x * math.atan(B_x * kappa_x - E_x

— x (B_x * kappa_x - math.atan(B_x * kappa_x))) + S_vx)

32
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33
sa # lateral tire forces
35 def formula_lateral (alpha, gamma, F_z, p):

36 # turn slip is neglected, so xi_i=]1

37 # all scaling factors lambda = 1

38

39 # coordinate system transformation

40 # alpha = -alpha

41

42 S_hy = sign(gamma) * (p.p_hyl + p.p_hy3 *x math.fabs(gamma)

43 S_vy = sign(gamma) * F_z *x (p.p_vyl + p.p_vy3 * math.fabs(
< gamma))

44

45 alpha_y = alpha + S_hy

46 mu_y = p.p_dyl x (1 - p.p_dy3 * gamma **x 2)

47

48 C_.y = p.p_cyl

19 D_y = mu_y * F_z

50 E_y = p.p_eyl

51 KLy = F_z x p.p_kyl # simplify K_y® to p.p_kyl*F_z

52 B_.y = KLy /7 (C_y %= D_y)

53

54 # magic tire formula

55 F_y = D_y * math.sin(C_y * math.atan(B_y * alpha_y - E_y *
< (B_y *x alpha_y - math.atan(B_y * alpha_y)))) + S_vy

56

57 res = []

58 res.append(F_y)

59 res.append(mu_y)

60 return res

61

62

63 # longitudinal tire forces for combined slip

6« def formula_longitudinal_comb(kappa, alpha, FO_x, p):

65 # turn slip is neglected, so xi_i=]1

66 # all scaling factors lambda = 1

67

68 S_hxalpha = p.r_hxl

69

70 alpha_s = alpha + S_hxalpha

71

72 B_xalpha = p.r_bx1 * math.cos(math.atan(p.r_bx2 * kappa))
73 C_xalpha = p.r_cx1

74 E_xalpha = p.r_exl

75 D_xalpha = FO0_x / (math.cos(C_xalpha * math.atan(
76 B_xalpha * S_hxalpha - E_xalpha * (B_xalpha =x

- S_hxalpha - math.atan(B_xalpha * S_hxalpha)))))
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99

100

101

102

# magic tire formula
return D_xalpha * math.cos(

C_xalpha * math.atan(B_xalpha * alpha_s - E_xalpha * (
< B_xalpha * alpha_s - math.atan(B_xalpha * alpha_s

= ))))

# lateral tire forces for combined slip

def formula_lateral_comb(kappa, alpha, gamma, mu_y, F_z, FO_y,

s p)
# turn slip is neglected, so xi_i=1
# all scaling factors lambda = 1

S_hykappa = p.r_hyl

kappa_s = kappa + S_hykappa

B_ykappa = p.r_byl * math.cos(math.atan(p.r_by2 * (alpha
~ p.r_by3)))
C_ykappa = p.r_cyl
E_ykappa = p.r_eyl
D_ykappa FO_y / (math.cos(C_ykappa * math.atan(
B_ykappa * S_hykappa - E_ykappa * (B_ykappa *
— S_hykappa - math.atan(B_ykappa * S_hykappa)))))

D_vykappa = mu_y * F_z * (p.r_vyl + p.r_vy3 * gamma) *
— math.cos(math.atan(p.r_vy4 * alpha))

S_vykappa = D_vykappa * math.sin(p.r_vy5 * math.atan(p.
<~ r_vy6 *x kappa))

# magic tire formula
return D_ykappa * math.cos(C_ykappa * math.atan(
B_ykappa * kappa_s - E_ykappa * (B_ykappa * kappa_s
< math.atan(B_ykappa * kappa_s)))) + S_vykappa

L [[lotnote €0 Yo vo EMOTEEYETE GTO XURLWEC KEWWEVO.|
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Arndonacua Kwduxa A.2: Thonoinon tov neptoplouny ywviog diebuvone oe Python
(steering_ constraints.py)

def

—

def

steering_constraints(steering_angle, steering_velocity, p)

steering_constraints - adjusts the steering velocity based
—~ on steering
Inputs:
:param steering_angle - steering angle
:param steering_velocity - steering velocity
:params p - steering parameter structure
Qutputs:
:return steering_velocity - steering velocity

nnn

# steering limit reached?
if (steering_angle <= p.min and steering_velocity <= @) or
< (steering_angle >= p.max and steering_velocity >= 0)

steering_velocity = 0

elif steering_velocity <= p.v_min:
steering_velocity = p.v_min

elif steering_velocity >= p.v_max:
steering_velocity = p.v_max

return steering_velocity

kappa_dot_dot_constraints(kappa_dot_dot, kappa_dot, p):
input constraints for kappa_dot_dot: adjusts kappa_dot_dot
« if kappa_dot limit (i.e., maximum curvature rate)

or input bounds are reached
if (kappa_dot < -p.kappa_dot_max and kappa_dot_dot < 0.) \
or (kappa_dot > p.kappa_dot_max and kappa_dot_dot
~ > 0.):
# kappa_dot limit reached
kappa_dot_dot = 0.
elif abs(kappa_dot_dot) >= p.kappa_dot_dot_max:
# input bounds reached
kappa_dot_dot = p.kappa_dot_dot_max
return kappa_dot_dot

L [HHatnoTe 0w yior vor ETMOTEEYETE GTO XUPLWC HEWEVO.|
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Andonacpa Kddixa A.3: Tionolnon twv neploptouny emtdyuvone oe Python (accel-
eration_constraints.py)

def

def

acceleration_constraints(velocity, acceleration, p):

nnn

accelerationConstraints - adjusts the acceleration based
< on acceleration constraints

Inputs:
:param acceleration - acceleration in driving
< direction
:param velocity - velocity in driving direction
:params p - longitudinal parameter structure
Qutputs:
:return acceleration - acceleration in driving

— direction
# positive acceleration limit
if velocity > p.v_switch:
posLimit = p.a_max * p.v_switch / velocity
else:
posLimit = p.a_max

# acceleration 1limit reached?
if (velocity <= p.v_min and acceleration <= 0) or (
— velocity >= p.v_max and acceleration >= 0):

acceleration = 0

elif acceleration <= -p.a_max:
acceleration = -p.a_max

elif acceleration >= posLimit:
acceleration = posLimit

return acceleration

jerk_dot_constraints(jerk_dot, jerk, p):
input constraints for jerk_dot: adjusts jerk_dot if jerk
— limit or input bounds are reached
if (jerk_dot < @. and jerk <= -p.j_max) or (jerk_dot > 0.
— and jerk >= p.j_max):
# jerk limit reached
jerk_dot = 0.
elif abs(jerk_dot) >= p.j_dot_max:
# input bounds reached
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39

40

jerk_dot = p.j_dot_max
return jerk_dot

L [HHatnote €00 yio vor EMOTEEYETE GTO XUPLWC HEWEVO.|
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Andonaocpo Koddixa A.4: Thonoinon tng duvouixric tou oyfuatoc o Python (vehi-

cle dynamics_ mb.py)

import math

from
-
from
o
from

—

vehiclemodels.utils.steering_constraints

steering_constraints
vehiclemodels.utils.acceleration_constraints
acceleration_constraints
vehiclemodels.utils.vehicle_dynamics_ks_cog import
vehicle_dynamics_ks_cog

import vehiclemodels.utils.tire_model as tireModel

def vehicle_dynamics_mb(x, ulnit, p):

nnn

vehicleDynamics_mb

import

import

- multi-body vehicle dynamics based on

— the DOT (department of transportation) vehicle
— dynamics
reference point:

Syntax:
f‘
Inputs:
:param Xx:
:param ulnit:
:param p:
OQutputs:
:return f:
# _____

center of mass

= vehicleDynamics_mb(x,u,p)

vehicle state vector

vehicle input vector

vehicle parameter vector

———————— BEGIN CODE --------------

# set gravity constant

in a global coordinate system
in a global coordinate system

steering angle of front wheels

velocity in x-direction

g = 9.81 #[m/s*2]
#states

#x1 = x-position
#x2 = y-position
#x3 =

#x4 =

#x5 = yaw angle
#x6 = yaw rate

#x7 = roll angle
#x8 = roll rate
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41
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7

78

79

80

81

82

83

84

#x9 = pitch angle
#x10 = pitch rate

#x11 = velocity in y-direction
#x12 = z-position
#x13 = velocity in z-direction

#x14 = roll angle front
#x15 = roll rate front

#x16 = velocity in y-direction front
#x17 = z-position front

#x18 = velocity in z-direction front
#x19 = roll angle rear

#x20 = roll rate rear

#x21 = velocity in y-direction rear
#x22 = z-position rear

#x23 = velocity in z-direction rear

#x24 = left front wheel angular speed
#x25 = right front wheel angular speed
#x26 = left rear wheel angular speed
#x27 = right rear wheel angular speed

#x28 = delta_y_f
#x29 = delta_y_r

#ul = steering angle velocity of front wheels
#u?2 acceleration

#consider steering constraints
u =[]
u.append(steering_constraints(x[2], ulInit[@], p.steering))
< # different name u_init/u due to side effects of u
#consider acceleration constraints
u.append(acceleration_constraints(x[3], uInit[1], p.
< longitudinal)) # different name u_init/u due to side
— effects of u

#compute slip angle at cg
#switch to kinematic model for small velocities
if abs(x[3]) < 0.1:
beta = 0.
else:
beta math.atan(x[10]/x[3]1)
vel = math.sqrt(x[3]**%2 + x[10]*%2)
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#tvertical tire forces

F_z_LF = (x[16] + p.R_wx(math.cos(x[13]) - 1) -
< math.sin(x[13]))*p.K_zt

F_z_RF = (x[16] + p.R_wx(math.cos(x[13]) - 1) +
< math.sin(x[13]))*p.K_zt

F_z_ LR = (x[21] + p.R_wx(math.cos(x[18]) - 1) -
<~ math.sin(x[18]))*p.K_zt

F_z_RR = (x[21] + p.R_w*x(math.cos(x[18]) - 1) +

< math.sin(x[18]))*p.K_zt

#obtain individual tire speeds
u_w_1f = (x[3] + 0.5xp.T_fxx[5])*math.cos(x[2])
p.a*x[5])*math.sin(x[2])
u_w_rf = (x[3] - 0.5xp.T_f*xx[5])*math.cos(x[2])
— p.a*x[5])*math.sin(x[2])
u_w_lr = x[3] + 0.5xp.T_rxx[5]
u_w_rr = x[3] - 0.5xp.T_rxx[5]

#negative wheel spin forbidden
if u_w_1f < 0.0:
u_w_1f x= 0

if u_w_rf < 0.0:
u_w_rf *= 0

if u_w_1lr < 0.0:
uw_lr *x= 0

if u_w_rr < 0.0:
u_w_rr *= 0
#compute longitudinal slip
#tswitch to kinematic model for small velocities
if abs(x[3]) < 0.1:

s_1f = 0.
s_rf = 0.
s_1r = 0.
s_rr = 0
else:
s_1f =1 - p.R_w*xx[23]/u_w_1f
s_rf =1 - p.R_w*x[24]/u_w_rf
s_1r = 1 - p.R_w*x[25]/u_w_1r
s_.rr =1 - p.R_w*xx[26]/u_w_rr

#lateral slip angles
#switch to kinematic model for small velocities
if abs(x[3]) < 0.1:

alpha_LF 0.

alpha_RF 0.
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alpha_LR

alpha_RR
else:

alpha_LF

1
[N

= math.atan((x[10] + p.a*x[5] - x[141*(p.R_w

—~ - x[161))/(x[3]1 + @.5*xp.T_f*xx[5]1)) - x[2]

alpha_RF

= math.atan((x[10] + p.a*x[5] - x[14]*(p.R_w

— - x[161))/(x[3] - 0.5%xp.T_f*x[5]1)) - x[2]

alpha_LR

= math.atan((x[10] - p.b*x[5] - x[19]*(p.R_w

— = x[211))/(x[3]1 + 0.5%p.T_r*x[5]))

alpha_RR

= math.atan((x[10] - p.b*x[5] - x[191*(p.R_w

— = x[211))/(x[3]1 - 0.5%p.T_r*x[5]))

#auxiliary suspension movement

z_SLF = (p.h_s - p.R_w + x[16] - x[11]1)/math.cos(x[6]) -
< .h_s + p.R_w + p.a*x[8] + 0.5x(x[6] - x[13])*xp.T_f

Z_SRF = (p.h_s - p.R_w + x[16] - x[11])/math.cos(x[6]) -
< .h_s + p.R_w + p.a*x[8] - 0.5x(x[6] - x[13])*xp.T_f

z_SLR = (p.h_s - p.R_w + x[21] - x[11])/math.cos(x[6]) -
< .h_s + p.R_w - p.b*x[8] + 0.5%(x[6] - x[18])*p.T_r

z_SRR = (p.h_s - p.R_w + x[21] - x[11]1)/math.cos(x[6]) -

— .h_s + p.R_w - p.b*x[8] - 0.5x(x[6] - x[181)*p.T_r
dz_SLF = x[17] - x[12] + p.a*xx[9] + 0.5%x(x[7] - x[14])+*p.
dz!gR;_i x[17] - x[12] + p.a*x[9] - 0.5%x(x[7] - x[14]1)*p.
dz;gL;_i x[22] - x[12] - p.b*x[9] + 0.5*x(x[7] - x[19])+*p.
dz;;R;_: x[22] - x[12] - p.b*x[9] - 0.5x(x[7] - x[19])*p.

— T_r

#camber angles

gamma_LF = x[6]
gamma_RF = x[6]
gamma_LR = x[6]
gamma_RR = x[6]

+ p.D_fxz_SLF + p.E_f*(z_SLF)x*xx*2
- p.D_fxz_SRF - p.E_f*(z_SRF)=*x%x2
+ p.D_r*z_SLR + p.E_r*(z_SLR)*%*2
- p.D_r*xz_SRR - p.E_r*(z_SRR) *%2

#compute longitudinal tire forces using the magic formula
— for pure slip

FO_x_LF
— F_z_LF,
FO_x_RF
. F_z_RF,
FO_x_LR
~ F_z_LR,
FO_x_RR
—. F_z_RR,

tireModel . formula_longitudinal (s_1f, gamma_LF,

p.tire)

tireModel . formula_longitudinal (s_rf, gamma_RF,

p.tire)

tireModel . formula_longitudinal (s_lr, gamma_LR,

p.tire)

tireModel.formula_longitudinal (s_rr, gamma_RR,

p.tire)
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#compute lateral tire forces using the magic formula for

< pure slip
res =
p.tire)
FO_y_LF = res[0]
mu_y_LF = res[1]
res =

s 9

p.tire)

FO_Yy_RF = res[0]
mu_y_RF = res[1]
res =

s 9

<~ , p.tire)
FO_y_LR = res[0]
mu_y_LR = res[1]
res =

<~ , p.tire)
FO_y_RR = res[0]
mu_y_RR = res[1]

tireModel. formula_lateral (alpha_LF,

tireModel . formula_lateral (alpha_RF,

tireModel . formula_lateral (alpha_LR,

tireModel . formula_lateral (alpha_RR,

gamma_LF, F_z_LF

gamma_RF, F_z_RF

F_z_LR

gamma_LR,

gamma_RR, F_z_RR

#compute longitudinal tire forces using the magic formula

< for combined
F_x_LF =

slip

tireModel . formula_longitudinal_comb(s_1f,

— alpha_LF, FO_x_LF, p.tire)

F_Xx_RF = tireModel.formula_longitudinal_comb(s_rf,
— alpha_RF, FO_x_RF, p.tire)

F_x_LR = tireModel.formula_longitudinal_comb(s_1r,
— alpha_LR, FO_x_LR, p.tire)

F_Xx_RR = tireModel.formula_longitudinal_comb(s_rr,
< alpha_RR, FO_x_RR, p.tire)

#tcompute lateral tire forces using the magic formula for

< combined slip
F_y_LF =
< gamma_LF,
F_y_RF =
— gamma_RF ,
F_y_LR =
— gamma_LR,
F_y_RR =
— gamma_RR,

tireModel.formula_lateral_comb(s_1f,
mu_y_LF,
tireModel . formula_lateral_comb(s_rf,
mu_y_RF,
tireModel . formula_lateral_comb(s_1r,
mu_y_LR,
tireModel . formula_lateral_comb(s_rr,
mu_y_RR,

F_z_LF,

F_z_RF,

F_z_LR,

F_z_RR,

Fo_y_LF,

FOo_y_RF,

FO_y_LR,

FO_y_RR,

alpha_LF,
p.tire)
alpha_RF,
p.tire)
alpha_LR,
p.tire)
alpha_RR,
p.tire)

#auxiliary movements for compliant joint equations

delta_z_f
delta_z_r

p.h_s
p.h_s

delta_phi_f
delta_phi_r

x[6]
x[6]

- p.R_w + x[16]
- p.R_w + x[21]

- x[13]
- x[18]
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191

192

194

195

196

197

198

199

200

201

202

203

204

205

206

207

208

209

210

211

212

213

214

215

216

217

218

219

220

221

222

223

dot_delta_phi_f
dot_delta_phi_r

x[7] - x[14]
x[7] - x[19]

dot_delta_z_f
dot_delta_z_r

x[17] - x[12]
x[22] - x[12]

dot_delta_y_f
dot_delta_y_r

x[10] + p.axx[5] - x[15]
x[10] p.b*x[5] - x[20]

delta_f = delta_z_f+*math.sin(x[6]) - x[27]x*math.cos(x[6])

- (p.h_raf - p.R_w)xmath.sin(delta_phi_f)

delta_r = delta_z_r*math.sin(x[6]) - x[28]xmath.cos(x[6])
< = (p.h_rar - p.R_w)#*math.sin(delta_phi_r)

—

dot_delta_f = (delta_z_f*math.cos(x[6]) + x[27]x*math.sin(x
— [6]1))*x[7] + dot_delta_z_f#*math.sin(x[6]) -
— dot_delta_y_f*math.cos(x[6]) - (p.h_raf - p.R_w)#*math
< .cos(delta_phi_f)xdot_delta_phi_f

dot_delta_r = (delta_z_r*math.cos(x[6]) + x[28]xmath.sin(x
— [6]1))*x[7] + dot_delta_z_r#*math.sin(x[6]) -
— dot_delta_y_r#*math.cos(x[6]) - (p.h_rar - p.R_w)*math
< .cos(delta_phi_r)*dot_delta_phi_r

#compliant joint forces
F_RAF = delta_fxp.K_ras + dot_delta_f*p.K_rad
F_RAR = delta_rxp.K_ras + dot_delta_rx*xp.K_rad

#auxiliary suspension forces (bump stop neglected squat/
— lift forces neglected)

F_SLF = p.m_s*xgxp.b/(2x(p.a+tp.b)) - z_SLF*p.K_sf - dz_SLF=*
— p.K_sdf + (x[6] - x[13])*p.K_tsf/p.T_f

F_SRF = p.m_s*xgxp.b/(2x(p.a+tp.b)) - z_SRFxp.K_sf - dz_SRF=*
< p.K_sdf - (x[6] - x[13])*p.K_tsf/p.T_f

F_SLR = p.m_s*xgxp.a/(2x(p.a+tp.b)) - z_SLR*p.K_sr - dz_SLR=*
< p.K_sdr + (x[6] - x[18])*xp.K_tsr/p.T_r

F_SRR = p.m_s*gxp.a/(2*x(p.atp.b)) - z_SRR*p.K_sr - dz_SRR*
<~ p.K_sdr - (x[6]1 - x[18])*p.K_tsr/p.T_r

#auxiliary variables sprung mass
sumX = F_x_LR + F_x_RR + (F_x_LF + F_x_RF)#*math.cos(x[2])
— - (F_y_LF + F_y_RF)#*math.sin(x[2])

sumN (F_y_LF + F_y_RF)*p.a*math.cos(x[2]) + (F_x_LF +
— F_x_RF)*p.axmath.sin(x[2]) \
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225

226
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228

229

230

231

232

233

234

236

237

238

239

240

241

242

243

244

245

246

247

248

249

251

252

253

+ (F_y_RF - F_y_LF)*0.5xp.T_f*math.sin(x[2]) + (
— F_X_LF - F_X_RF)*0.5*%p.T_f*math.cos(x[2]) \
+ (F_x_LR - F_x_RR)*0@.5*xp.T_r - (F_y_LR + F_y_RR)*p

- .b

sumY_s (F_RAF + F_RAR)*math.cos(x[6]) + (F_SLF + F_SLR +
<~ F_SRF + F_SRR)#*math.sin(x[6])

sumL = @.5*%F_SLFxp.T_f + @.5%F_SLR*p.T_r - @.5%F_SRF*p.T_f
- 0.5*%F_SRR*p.T_r \

- F_RAF/math.cos(x[6]1)*(p.h_s - x[11] - p.R_w + X
— [16] - (p.h_raf - p.R_w)*math.cos(x[13])) \
- F_RAR/math.cos(x[6]1)*(p.h_s - x[11] - p.R_w + x
< [21]1 - (p.h_rar - p.R_w)*math.cos(x[18]))
sumZ_s = (F_SLF + F_SLR + F_SRF + F_SRR)*math.cos(x[6]) -

< (F_RAF + F_RAR)*math.sin(x[6])

sumM_s = p.a*x(F_SLF + F_SRF) - p.bx(F_SLR + F_SRR) + ((
— F_x_LF + F_x_RF)#*math.cos(x[2]) \
- (F_y_LF + F_y_RF)*math.sin(x[2]) + F_x_LR +
< F_x_RR)*(p.h_s - x[11])

#auxiliary variables unsprung mass
sumL_uf = @.5%xF_SRFxp.T_f - 0.5%xF_SLFxp.T_f - F_RAFx(p.
< h_raf - p.R_w) \
+ F_z_LFx(p.R_wxmath.sin(x[13]) + 0.5%p.T_f*math
< .cos(x[13]) - p.K_1t*F_y_LF) \
- F_z_RF*(-p.R_w*math.sin(x[13]) + 0.5xp.T_f=*
< math.cos(x[13]) + p.K_1t*F_y_RF) \
- ((F_y_LF + F_y_RF)*math.cos(x[2]) + (F_x_LF +
< F_x_RF)*math.sin(x[2]1))*x(p.R_w - x[16])

sumL_ur = @.5*F_SRR*xp.T_r - 0.5*F_SLR*p.T_r - F_RAR=*(p.
— h_rar - p.R_w) \
+ F_z_LRx(p.R_wxmath.sin(x[18]) + 0.5*p.T_r*math
— .cos(x[18]) - p.K_1t*xF_y_LR) \
- F_z_RR*(-p.R_wxmath.sin(x[18]) + @.5xp.T_r*
<~ math.cos(x[18]) + p.K_1t*F_y_RR) \
- (F_y_LR + F_y_RR)*(p.R_w - x[211])

sumZ_uf = F_z_LF + F_z_RF + F_RAFxmath.sin(x[6]) - (F_SLF
< + F_SRF)#*math.cos(x[6])

sumZ_ur = F_z_LR + F_z_RR + F_RARxmath.sin(x[6]) - (F_SLR
<+ + F_SRR)*math.cos(x[6])

sumY_uf = (F_y_LF + F_y_RF)*math.cos(x[2]) + (F_x_LF +
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292

— F_x_RF)*math.sin(x[2]) \
- F_RAF*math.cos(x[6]) - (F_SLF + F_SRF)*math.
< sin(x[6])

sumY_ur = (F_y_LR + F_y_RR) \
- F_RAR*math.cos(x[6]) - (F_SLR + F_SRR)*math.
< sin(x[6])

#dynamics common with single-track model
f =[] # init 'right hand side:
#switch to kinematic model for small velocities
if abs(x[3]) < 0.1:
#wheelbase
# lwb = p.a + p.b

#system dynamics

# x_ks = [x[0l, x[1], x[2], x[31, x[4]1]

f_ks = vehicle_dynamics_ks(x_ks, u, p)
f.extend(f_ks)

f.append(ul1]1*xlwb*math.tan(x[2]) + x[31/(lwb*math.
— cos(x[2])**x2)*xul[0])

H OoH H

# Use kinematic model with reference point at center
— of mass
# wheelbase
lwb = p.a + p.b
# system dynamics
x_ks = [x[0], x[11, x[21, x[31, x[41]
# kinematic model
f_ks = vehicle_dynamics_ks_cog(x_ks, u, p)
f = [f_ks[0l, f_ks[11, f_ks[2]1, f_ks[3], f_ks[41]
# derivative of slip angle and yaw rate
d_beta = (p.b * ul[@]) / (lwb * math.cos(x[2]) *x*x 2 =%
— (1 + (math.tan(x[2]) ** 2 * p.b / lwb) *x 2))
dd_psi =1 / 1wb * (u[1] * math.cos(x[6]) * math.tan(x
x[3] * math.sin(x[6]) * d_beta =
< math.tan(x[2]) +
x[3] * math.cos(x[6]) * ul[Q] /
< math.cos(x[2]) **x 2)
f.append(dd_psi)

else:

.append(math.cos(beta + x[4])*vel)
.append(math.sin(beta + x[4])*vel)
.append(ul0@])

.append (1/p.m*sumX + x[5]*x[10])

- —h —h h
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334

f.append(x[5])

f.append(1/(p.I1_z - (p.I_xz_s)**x2/p.I_Phi_s)*(sumN + p

— .I_xz_s/p.I_Phi_s*sumL))

# remaining sprung mass dynamics

f.append(x[7])

f.append(1/(p.I_Phi_s - (p.I_xz_s)**2/p.I_z)*(p.I_xz_s/p.
— I_z*xsumN + sumlL))

f.append(x[9])

f.append(1/p.I_y_s*sumM_s)

f.append(1/p.m_s*xsumY_s - x[5]*x[3])

f.append(x[12]1)

f.append(g - 1/p.m_s*sumZ_s)

#unsprung mass dynamics (front)
.append(x[14])
.append(1/p.I_uf*xsumL_uf)

.append(x[17])

.F
.F
f.append(1/p.m_uf*xsumY_uf - x[5]*x[3])
.F
.F

.append(g - 1/p.m_uf*sumZ_uf)

#unsprung mass dynamics (rear)
.append(x[19])
.append(1/p.I_ur*sumbL_ur)

.append(x[221)
.append(g - 1/p.m_ur*sumZ_ur)

- —h —h —h —h

.append(1/p.m_ur*sumY_ur - x[5]*x[3])

#convert acceleration input to brake and engine torque

if ul11>0:
T_ B = 0.0
T_E = p.mxp.R_wxu[1]
else:
T_B = p.mxp.R_wxul[1]
T_E = 0.

#wheel dynamics (p.T new parameter

f.append(1/p.I_y_wx(-p.R_wxF_x_LF +
- .T_sexT_E))

f.append(1/p.I_y_wx(-p.R_wxF_x_RF +
< .T_sexT_E))

f.append(1/p.I_y_w*(-p.R_wxF_x_LR +
< 0.5%x(1-p.T_se)*T_E))

f.append(1/p.I_y_wx(-p.R_wxF_x_RR +
< 0.5*x(1-p.T_se)*xT_E))
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for torque splitting)
0.5xp.T_sb*xT_B + 0.5%p

0.5*p.T_sb*T_B + 0.5%p
0.5x(1-p.T_sb)*T_B +

0.5%(1-p.T_sb)*T_B +



335

336 #negative wheel spin forbidden

337 for iState in range (23, 27):
338 if x[iState] < 0.0:

339 x[iState] = 0.0

340 f[iState] = 0.0

341

342 #compliant joint equations
343 f.append(dot_delta_y_f)

344 f.append(dot_delta_y_r)

345

346 return f

L [Llotnote 0w ylo Vo EMOTEEYETE GTO XUPLWS HEWEVO.|
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38

39

40

41

42

43

#
#
#
1
#
W

#

Andonaocpo Kdduxa A.5: Ilopduetpor oyfuatoc (parameters vehicle2.yaml)

parameters_vehicle2 - parameter set of the multi-body
< vehicle dynamics
based on the DOT (department of transportation) vehicle
— dynamics
values are taken from a BMW 320i
vehicle body dimensions
vehicle length [m]
4.508

vehicle width [m]

1.61

steering constraints

steering:

#

# minimum steering angle [rad]

max: 1.066

# maximum steering angle [rad]

min: -1.066

# minimum steering velocity [rad/s]
v_max: 0.4

# maximum steering velocity [rad/s]
v_min: -0.4

# maximum curvature change
kappa_dot_max: 0.4

# maximum curvature rate rate
kappa_dot_dot_max: 20

longitudinal constraints

longitudinal:

H 3 HF =

# maximum absolute acceleration [m/s*2]
a_max: 11.5

# maximum longitudinal jerk [m/s*3]
j_max: 10.0e+3

# maximum longitudinal jerk change [m/s”4]
j_dot_max: 10.0e3

# maximum velocity [m/s]

v_max: 50.8

# minimum velocity [m/s]

v_min: -13.9

# switching velocity [m/s]

v_switch: 7.319

masses

vehicle mass [kgl] MASS
1093.2952334674046

sprung mass [kg] SMASS
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78

79

80

81

82

83

84

85

m_s: 965.7108098804363
# unsprung mass front [kg]l UMASSF
m_uf: 63.7921826056784
# unsprung mass rear [kg]l UMASSR
m_ur: 63.7921826056784

# axes distances

# distance from spring mass center of gravity to front axle [m
< 1 LENA

a: 1.1561957064

# distance from spring mass center of gravity to rear axle [m]
< LENB

b: 1.4227170936

# moments of inertia of sprung mass

# moment of inertia for sprung mass in roll [kg m*2] IXS
I_Phi_s: 207.26524557936952

# moment of inertia for sprung mass in pitch [kg m*2] 1IYS
I_y_s: 1565.8178787125541

# moment of inertia for sprung mass in yaw [kg m*2] 1IZZ
I_z: 1791.5995300122856

# moment of inertia cross product [kg m*2] IXZ

I _xz_s: 0.0

# suspension parameters

# suspension spring rate (front) [N/m] KSF
K_sf: 24453.137879749014

# suspension damping rate (front) [N s/m] KSDF
K_sdf: 1786.2441002440723

# suspension spring rate (rear) [N/m] KSR
K_sr: 19635.504745231297

# suspension damping rate (rear) [N s/m] KSDR
K_sdr: 1649.0833034887382

# geometric parameters

# track width front [m] TRWF

T_f: 1.38684

# track width rear [m] TRWB

T_r: 1.36398

# lateral spring rate at compliant compliant pin joint between
< M_s and M_u [N/m] KRAS

K_ras: 175186.65943700788

# auxiliary torsion roll stiffness per axle (normally negative
< ) (front) [N m/rad] KTSF

K_tsf: -6914.881688272133

# auxiliary torsion roll stiffness per axle (normally negative
< ) (rear) [N m/rad] KTSR
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s7 K_tsr: -2643.6009520155308

ss # damping rate at compliant compliant pin joint between M_s
— and M_u [N s/m] KRADP

ss K_rad: 10215.732056044453

o # vertical spring rate of tire [N/m] KZT

o1 K_zt: 158294.1398119115

92

93 # center of gravity height of total mass [m] HCG (mainly
— required for conversion to other vehicle models)

o« h_cg: 0.5748689544000001

s # height of roll axis above ground (front) [m] HRAF

96 h_raf: 0.0

o7 # height of roll axis above ground (rear) [m] HRAR

¢ h_rar: 0.0

99

wo # M_s center of gravity above ground [m] HS

100 h_s: ©0.61373004

102

103 # moment of inertia for unsprung mass about x-axis (front) [kg
— m*2] IXUF

we I_uf: 30.673279563178017

105 # moment of inertia for unsprung mass about x-axis (rear) [kg
— m*2] IXUR

ws I_ur: 29.670408143156248

w7 # wheel inertia, from internet forum for 235/65 R 17 [kg m*2]

108 I_y_w: 1.7

109

1o # lateral compliance rate of tire, wheel, and suspension, per
< tire [m/N] KLT

o K_1t: 1.6430724599974725e-05

nz # effective wheel/tire radius chosen as tire rolling radius
— RR taken from ADAMS documentation [m]

113 R_w: 0.344

114

us # split of brake and engine torque

116 T_Sb: Q.66

117 T_se: 0

118

119 # suspension parameters

120 # [rad/m] DF

121 D_f: -0.39370078740157477

120 # [rad/m] DR

12 D_r: -0.905511811023622

124 # [needs conversion if nonzero] EF

125 E_f: 0
126 # [needs conversion if nonzero] ER
127 E_r: 0

L [HHatnoTe 0w yio vor ETIOTEEYETE GTO XUPLWC HEWEVO.|
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Andbdonaocpo Kdduxa A.6: Ilupduetpor ehactixdv (parameters tire.yaml)

# tire parameters from ADAMS handbook

tire:

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

# longitudinal coefficients
p_cx1: 1.6411
p_dx1: 1.1739
p_dx3: 0

p_ex1: 0.46403
p_kx1: 22.303
p_hx1: ©0.0012297
p_vxl: -8.8098e-06
r_bx1l: 13.276
r_bx2: -13.778
r_cxl: 1.2568
r_exl: 0.65225
r_hxl: 0.0050722

lateral coefficients
p_cyl: 1.3507
p_dyl: 1.0489
p_dy3: -2.8821
p_eyl: -0.0074722
p_kyl: -21.92
p_hyl: ©0.0026747
p_hy3: ©.031415
p_vyl: ©.037318
p_vy3: -0.32931
r_byl: 7.1433
r_by2: 9.1916
r_by3: -0.027856
r_cyl: 1.0719
r_eyl: -0.27572
r_hyl: 5.7448e-06
r_vyl: -0.027825
r_vy3: -0.27568
r_vy4: 12.12
r_vy5: 1.9

r_vyé: -10.704

L [Hotnote 0w yio va emoteedete 6T0 MUl AEWEVO.|
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Andonacpa Kddixa A.7: Ilpocopoinon opiotepiic otpogic ve vo = 15m/s, vs =

0.0057ad/s o ajong = 0.2g

from scipy.integrate import odeint
import numpy as np

import matplotlib.pyplot as plt
import math

from vehiclemodels.parameters_vehicle2 import
< parameters_vehicle?2

from vehiclemodels.init_mb import init_mb

from vehiclemodels.vehicle_dynamics_mb import
— vehicle_dynamics_mb

def func_MB(x, t, u, p):
f = vehicle_dynamics_mb(x, u, p)
return f

# load parameters
parameters_vehicle2()
9.81 # [m/s*2]

e ©
1

# set options

tStart = @ # start time
tFinal = 8 # end time
dt = 0.01 # time steps

deltao = 0
velo = 15
Psio = 0
dotPsi®
betad =
syo = 0

=0
0

initialState = [0, sy0, delta®, velo, Psio, dotPsio,

< 1initial state for simulation

Xx0_MB = init_mb(initialState, p) # initial state for multi-

< body model

time = np.arange(@, tFinal, dt)
v_delta = 0.005

# accelerating

u = [v_delta, 0.2 * gl
x_acc = odeint(func_MB, x0_MB, time, args=(u,
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# position

plt.
plt.
plt.
plt.
plt.
plt.

title('Gécn')

plot([tmp[@] for tmp in x_accl],

legend ([ Erxicayuvvéucevn
xlabel ( 'x-9é¢on (m) ')
ylabel ('y-0é¢onq (M) )
show ()

# orientation

plt.
plt.
plt.
plt.
plt.
plt.

title('r‘wvfoc exrponﬁc')

dpLoTERN

Ltmp[1] for tmp in x_accl)

steoeh ' ])

plot(time, [tmp[4] for tmp in x_acc])

legend ([ "Er.icayvvéuevn
xlabel( ' xpévoc (S8) ')
ylabel( 'rovia extponte
show ()

# yaw rate

plt.
plt.
plt.
plt.
plt.
plt.

title( ' Pududc extpontc
plot(time, [tmp[5] for
legend ([ Ernicayvvéuevn
xlabel ( 'xeé6voc (S) ')
ylabel( 'Puoudec extponthe
show ()

dapLoTeEpPN

(rad) )

D

cteoqh ' ])

tmp in x_accl)

apLoTERN

(rad/s)

steoeh ' ])

D)

L [Hatnote 0w yio vor eMOTEEYETE GTO XUPLWC HEWEVO.|
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Anéonacpa Kwdixa A.8: Evnuépworn tou apyelou Suvoxric Tou oyAuaTtoc (vehi-

cle d
impo

from
-
from
o
from
o

impo

def

ynamics_mb.py) yto v vnootipn TV
rt math

vehiclemodels.utils.steering_constraints import
steering_constraints
vehiclemodels.utils.acceleration_constraints import
acceleration_constraints
vehiclemodels.utils.vehicle_dynamics_ks_cog import
vehicle_dynamics_ks_cog
rt vehiclemodels.utils.tire_model as tireModel

vehicle_dynamics_mb(x, ulnit, p):

vehicleDynamics_mb - multi-body vehicle dynamics based on
— the DOT (department of transportation) vehicle
— dynamics

reference point: center of mass

Syntax:
f = vehicleDynamics_mb(x,u,p)

Inputs:
:param x: vehicle state vector
:param ulnit: vehicle input vector
:param p: vehicle parameter vector

Qutputs:

:return f: right-hand side of differential equations
# set gravity constant
g = 9.81 #[m/s"2]

#states

#x1 = x-position in a global coordinate system
#x2 = y-position in a global coordinate system
#x3 = steering angle of front wheels

#x4 = velocity in x-direction

#x5 = yaw angle

#x6 = yaw rate

#x7 = roll angle
#x8 = roll rate
#x9 = pitch angle
#x10 = pitch rate
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81

82

83

84

#x11 =
#x12 =
#x13 =

#x14 =
#x15 =
#x16 =
#x17 =
#x18 =

#x19 =
#x20 =
#x21 =
#x22 =
#x23 =

#x24 =
#x25 =
#x26 =
#x27 =

#x28 =
#x29 =

#ul =
#u?2
#u3

velocity in y-direction
z-position
velocity in z-direction

roll angle front

roll rate front
velocity in y-direction
z-position front
velocity in z-direction

roll angle rear

roll rate rear

velocity in y-direction
z-position rear
velocity in z-direction

front

front

rear

rear

left front wheel angular speed

right front wheel angular speed

left rear wheel angular

speed

right rear wheel angular speed

delta_y_f
delta_y_r

#consider steering constraints

u = []

steering angle velocity of front wheels
acceleration
left-rear corrective torque

u.append(steering_constraints(x[2],

—

#fconsider acceleration constraints

u.append(acceleration_constraints(x[3],
< longitudinal)) # different name u_init/u due to side

— effects of u
u.append(uInit[2])

#compute slip angle at cg

#tswitch to kinematic model for small velocities

if abs(x[3]) < 0.1:

beta = 0.
else:

beta = math.atan(x[10]1/x[3])
vel = math.sqrt(x[3]**%2 + x[10]*%2)
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119

120

121

122

123

124

125

126

#tvertical tire forces

F_z_LF = (x[16] + p.R_wx(math.cos(x[13]) - 1) -
< math.sin(x[13]))*p.K_zt

F_z_RF = (x[16] + p.R_wx(math.cos(x[13]) - 1) +
< math.sin(x[13]))*p.K_zt

F_z_ LR = (x[21] + p.R_wx(math.cos(x[18]) - 1) -
<~ math.sin(x[18]))*p.K_zt

F_z_RR = (x[21] + p.R_w*x(math.cos(x[18]) - 1) +

< math.sin(x[18]))*p.K_zt

#obtain individual tire speeds
u_w_1f = (x[3] + 0.5xp.T_fxx[5])*math.cos(x[2])
p.a*x[5])*math.sin(x[2])
u_w_rf = (x[3] - 0.5xp.T_f*xx[5])*math.cos(x[2])
— p.a*x[5])*math.sin(x[2])
u_w_lr = x[3] + 0.5xp.T_rxx[5]
u_w_rr = x[3] - 0.5xp.T_rxx[5]

#negative wheel spin forbidden
if u_w_1f < 0.0:
u_w_1f x= 0

if u_w_rf < 0.0:
u_w_rf *= 0

if u_w_1lr < 0.0:
uw_lr *x= 0

if u_w_rr < 0.0:
u_w_rr *= 0
#compute longitudinal slip
#tswitch to kinematic model for small velocities
if abs(x[3]) < 0.1:

s_1f = 0.
s_rf = 0.
s_1r = 0.
s_rr = 0
else:
s_1f =1 - p.R_w*xx[23]/u_w_1f
s_rf =1 - p.R_w*x[24]/u_w_rf
s_1r = 1 - p.R_w*x[25]/u_w_1r
s_.rr =1 - p.R_w*xx[26]/u_w_rr

#lateral slip angles
#switch to kinematic model for small velocities
if abs(x[3]) < 0.1:

alpha_LF 0.

alpha_RF 0.
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128

129

131
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133
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140
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142
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147

148

149

150

151

152

153

154

156
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alpha_LR

alpha_RR
else:

alpha_LF

1
[N

= math.atan((x[10] + p.a*x[5] - x[141*(p.R_w

—~ - x[161))/(x[3]1 + @.5*xp.T_f*xx[5]1)) - x[2]

alpha_RF

= math.atan((x[10] + p.a*x[5] - x[14]*(p.R_w

— - x[161))/(x[3] - 0.5%xp.T_f*x[5]1)) - x[2]

alpha_LR

= math.atan((x[10] - p.b*x[5] - x[19]*(p.R_w

— = x[211))/(x[3]1 + 0.5%p.T_r*x[5]))

alpha_RR

= math.atan((x[10] - p.b*x[5] - x[191*(p.R_w

— = x[211))/(x[3]1 - 0.5%p.T_r*x[5]))

#auxiliary suspension movement

z_SLF = (p.h_s - p.R_w + x[16] - x[11]1)/math.cos(x[6]) -
< .h_s + p.R_w + p.a*x[8] + 0.5x(x[6] - x[13])*xp.T_f

Z_SRF = (p.h_s - p.R_w + x[16] - x[11])/math.cos(x[6]) -
< .h_s + p.R_w + p.a*x[8] - 0.5x(x[6] - x[13])*xp.T_f

z_SLR = (p.h_s - p.R_w + x[21] - x[11])/math.cos(x[6]) -
< .h_s + p.R_w - p.b*x[8] + 0.5%(x[6] - x[18])*p.T_r

z_SRR = (p.h_s - p.R_w + x[21] - x[11]1)/math.cos(x[6]) -

— .h_s + p.R_w - p.b*x[8] - 0.5x(x[6] - x[181)*p.T_r
dz_SLF = x[17] - x[12] + p.a*xx[9] + 0.5%x(x[7] - x[14])+*p.
dz!gR;_i x[17] - x[12] + p.a*x[9] - 0.5%x(x[7] - x[14]1)*p.
dz;gL;_i x[22] - x[12] - p.b*x[9] + 0.5*x(x[7] - x[19])+*p.
dz;;R;_: x[22] - x[12] - p.b*x[9] - 0.5x(x[7] - x[19])*p.

— T_r

#camber angles

gamma_LF = x[6]
gamma_RF = x[6]
gamma_LR = x[6]
gamma_RR = x[6]

+ p.D_fxz_SLF + p.E_f*(z_SLF)x*xx*2
- p.D_fxz_SRF - p.E_f*(z_SRF)=*x%x2
+ p.D_r*z_SLR + p.E_r*(z_SLR)*%*2
- p.D_r*xz_SRR - p.E_r*(z_SRR) *%2

#compute longitudinal tire forces using the magic formula
— for pure slip

FO_x_LF
— F_z_LF,
FO_x_RF
. F_z_RF,
FO_x_LR
~ F_z_LR,
FO_x_RR
—. F_z_RR,

tireModel . formula_longitudinal (s_1f, gamma_LF,

p.tire)

tireModel . formula_longitudinal (s_rf, gamma_RF,

p.tire)

tireModel . formula_longitudinal (s_lr, gamma_LR,

p.tire)

tireModel.formula_longitudinal (s_rr, gamma_RR,

p.tire)
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158

160

161

162

163

164

165

166

167

168

169

173

174

175

176

177

178

179

181

182

183

184

185

186

187

188

189

190

#compute lateral tire forces using the magic formula for

< pure slip
res =
p.tire)
FO_y_LF = res[0]
mu_y_LF = res[1]
res =

s 9

p.tire)

FO_Yy_RF = res[0]
mu_y_RF = res[1]
res =

s 9

<~ , p.tire)
FO_y_LR = res[0]
mu_y_LR = res[1]
res =

<~ , p.tire)
FO_y_RR = res[0]
mu_y_RR = res[1]

tireModel. formula_lateral (alpha_LF,

tireModel . formula_lateral (alpha_RF,

tireModel . formula_lateral (alpha_LR,

tireModel . formula_lateral (alpha_RR,

gamma_LF, F_z_LF

gamma_RF, F_z_RF

F_z_LR

gamma_LR,

gamma_RR, F_z_RR

#compute longitudinal tire forces using the magic formula

< for combined
F_x_LF =

slip

tireModel . formula_longitudinal_comb(s_1f,

— alpha_LF, FO_x_LF, p.tire)

F_Xx_RF = tireModel.formula_longitudinal_comb(s_rf,
— alpha_RF, FO_x_RF, p.tire)

F_x_LR = tireModel.formula_longitudinal_comb(s_1r,
— alpha_LR, FO_x_LR, p.tire)

F_Xx_RR = tireModel.formula_longitudinal_comb(s_rr,
< alpha_RR, FO_x_RR, p.tire)

#tcompute lateral tire forces using the magic formula for

< combined slip
F_y_LF =
< gamma_LF,
F_y_RF =
— gamma_RF ,
F_y_LR =
— gamma_LR,
F_y_RR =
— gamma_RR,

tireModel.formula_lateral_comb(s_1f,
mu_y_LF,
tireModel . formula_lateral_comb(s_rf,
mu_y_RF,
tireModel . formula_lateral_comb(s_1r,
mu_y_LR,
tireModel . formula_lateral_comb(s_rr,
mu_y_RR,

F_z_LF,

F_z_RF,

F_z_LR,

F_z_RR,

Fo_y_LF,

FOo_y_RF,

FO_y_LR,

FO_y_RR,

alpha_LF,
p.tire)
alpha_RF,
p.tire)
alpha_LR,
p.tire)
alpha_RR,
p.tire)

#auxiliary movements for compliant joint equations

delta_z_f
delta_z_r

p.h_s
p.h_s

delta_phi_f
delta_phi_r

x[6]
x[6]

- p.R_w + x[16]
- p.R_w + x[21]

- x[13]
- x[18]
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191

192

194

195

196

197

198

199

200

201

202

203

204

205

206

207

208

209

210

211

212

213

214

215

216

217

218

219

220

221

222

223

dot_delta_phi_f
dot_delta_phi_r

x[7] - x[14]
x[7] - x[19]

dot_delta_z_f
dot_delta_z_r

x[17] - x[12]
x[22] - x[12]

dot_delta_y_f
dot_delta_y_r

x[10] + p.axx[5] - x[15]
x[10] p.b*x[5] - x[20]

delta_f = delta_z_f+*math.sin(x[6]) - x[27]x*math.cos(x[6])

- (p.h_raf - p.R_w)xmath.sin(delta_phi_f)

delta_r = delta_z_r*math.sin(x[6]) - x[28]xmath.cos(x[6])
< = (p.h_rar - p.R_w)#*math.sin(delta_phi_r)

—

dot_delta_f = (delta_z_f*math.cos(x[6]) + x[27]x*math.sin(x
— [6]1))*x[7] + dot_delta_z_f#*math.sin(x[6]) -
— dot_delta_y_f*math.cos(x[6]) - (p.h_raf - p.R_w)#*math
< .cos(delta_phi_f)xdot_delta_phi_f

dot_delta_r = (delta_z_r*math.cos(x[6]) + x[28]xmath.sin(x
— [6]1))*x[7] + dot_delta_z_r#*math.sin(x[6]) -
— dot_delta_y_r#*math.cos(x[6]) - (p.h_rar - p.R_w)*math
< .cos(delta_phi_r)*dot_delta_phi_r

#compliant joint forces
F_RAF = delta_fxp.K_ras + dot_delta_f*p.K_rad
F_RAR = delta_rxp.K_ras + dot_delta_rx*xp.K_rad

#auxiliary suspension forces (bump stop neglected squat/
— lift forces neglected)

F_SLF = p.m_s*xgxp.b/(2x(p.a+tp.b)) - z_SLF*p.K_sf - dz_SLF=*
— p.K_sdf + (x[6] - x[13])*p.K_tsf/p.T_f

F_SRF = p.m_s*xgxp.b/(2x(p.a+tp.b)) - z_SRFxp.K_sf - dz_SRF=*
< p.K_sdf - (x[6] - x[13])*p.K_tsf/p.T_f

F_SLR = p.m_s*xgxp.a/(2x(p.a+tp.b)) - z_SLR*p.K_sr - dz_SLR=*
< p.K_sdr + (x[6] - x[18])*xp.K_tsr/p.T_r

F_SRR = p.m_s*gxp.a/(2*x(p.atp.b)) - z_SRR*p.K_sr - dz_SRR*
<~ p.K_sdr - (x[6]1 - x[18])*p.K_tsr/p.T_r

#auxiliary variables sprung mass
sumX = F_x_LR + F_x_RR + (F_x_LF + F_x_RF)#*math.cos(x[2])
— - (F_y_LF + F_y_RF)#*math.sin(x[2])

sumN (F_y_LF + F_y_RF)*p.a*math.cos(x[2]) + (F_x_LF +
— F_x_RF)*p.axmath.sin(x[2]) \
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224

225

226

227

228

229

230

231

232

233

234

236

237

238

239

240

241

242

243

244

245

246

247

248

249

251

252

253

+ (F_y_RF - F_y_LF)*0.5xp.T_f*math.sin(x[2]) + (
— F_X_LF - F_X_RF)*0.5*%p.T_f*math.cos(x[2]) \
+ (F_x_LR - F_x_RR)*0@.5*xp.T_r - (F_y_LR + F_y_RR)*p

- .b

sumY_s (F_RAF + F_RAR)*math.cos(x[6]) + (F_SLF + F_SLR +
<~ F_SRF + F_SRR)#*math.sin(x[6])

sumL = @.5*%F_SLFxp.T_f + @.5%F_SLR*p.T_r - @.5%F_SRF*p.T_f
- 0.5*%F_SRR*p.T_r \

- F_RAF/math.cos(x[6]1)*(p.h_s - x[11] - p.R_w + X
— [16] - (p.h_raf - p.R_w)*math.cos(x[13])) \
- F_RAR/math.cos(x[6]1)*(p.h_s - x[11] - p.R_w + x
< [21]1 - (p.h_rar - p.R_w)*math.cos(x[18]))
sumZ_s = (F_SLF + F_SLR + F_SRF + F_SRR)*math.cos(x[6]) -

< (F_RAF + F_RAR)*math.sin(x[6])

sumM_s = p.a*x(F_SLF + F_SRF) - p.bx(F_SLR + F_SRR) + ((
— F_x_LF + F_x_RF)#*math.cos(x[2]) \
- (F_y_LF + F_y_RF)*math.sin(x[2]) + F_x_LR +
< F_x_RR)*(p.h_s - x[11])

#auxiliary variables unsprung mass
sumL_uf = @.5%xF_SRFxp.T_f - 0.5%xF_SLFxp.T_f - F_RAFx(p.
< h_raf - p.R_w) \
+ F_z_LFx(p.R_wxmath.sin(x[13]) + 0.5%p.T_f*math
< .cos(x[13]) - p.K_1t*F_y_LF) \
- F_z_RF*(-p.R_w*math.sin(x[13]) + 0.5xp.T_f=*
< math.cos(x[13]) + p.K_1t*F_y_RF) \
- ((F_y_LF + F_y_RF)*math.cos(x[2]) + (F_x_LF +
< F_x_RF)*math.sin(x[2]1))*x(p.R_w - x[16])

sumL_ur = @.5*F_SRR*xp.T_r - 0.5*F_SLR*p.T_r - F_RAR=*(p.
— h_rar - p.R_w) \
+ F_z_LRx(p.R_wxmath.sin(x[18]) + 0.5*p.T_r*math
— .cos(x[18]) - p.K_1t*xF_y_LR) \
- F_z_RR*(-p.R_wxmath.sin(x[18]) + @.5xp.T_r*
<~ math.cos(x[18]) + p.K_1t*F_y_RR) \
- (F_y_LR + F_y_RR)*(p.R_w - x[211])

sumZ_uf = F_z_LF + F_z_RF + F_RAFxmath.sin(x[6]) - (F_SLF
< + F_SRF)#*math.cos(x[6])

sumZ_ur = F_z_LR + F_z_RR + F_RARxmath.sin(x[6]) - (F_SLR
<+ + F_SRR)*math.cos(x[6])

sumY_uf = (F_y_LF + F_y_RF)*math.cos(x[2]) + (F_x_LF +
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256

257
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266
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275

276
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278

279

280

281

282

283

284

285

286

287

288

289

290

291

292

— F_x_RF)*math.sin(x[2]) \
- F_RAF*math.cos(x[6]) - (F_SLF + F_SRF)*math.
< sin(x[6])

sumY_ur = (F_y_LR + F_y_RR) \
- F_RAR*math.cos(x[6]) - (F_SLR + F_SRR)*math.
< sin(x[6])

#dynamics common with single-track model
f =[] # init 'right hand side:
#switch to kinematic model for small velocities
if abs(x[3]) < 0.1:
#wheelbase
# lwb = p.a + p.b

#system dynamics

# x_ks = [x[0l, x[1], x[2], x[31, x[4]1]

f_ks = vehicle_dynamics_ks(x_ks, u, p)
f.extend(f_ks)

f.append(ul1]1*xlwb*math.tan(x[2]) + x[31/(lwb*math.
— cos(x[2])**x2)*xul[0])

H OoH H

# Use kinematic model with reference point at center
— of mass
# wheelbase
lwb = p.a + p.b
# system dynamics
x_ks = [x[0], x[11, x[21, x[31, x[41]
# kinematic model
f_ks = vehicle_dynamics_ks_cog(x_ks, u, p)
f = [f_ks[0l, f_ks[11, f_ks[2]1, f_ks[3], f_ks[41]
# derivative of slip angle and yaw rate
d_beta = (p.b * ul[@]) / (lwb * math.cos(x[2]) *x*x 2 =%
— (1 + (math.tan(x[2]) ** 2 * p.b / lwb) *x 2))
dd_psi =1 / 1wb * (u[1] * math.cos(x[6]) * math.tan(x
x[3] * math.sin(x[6]) * d_beta =
< math.tan(x[2]) +
x[3] * math.cos(x[6]) * ul[Q] /
< math.cos(x[2]) **x 2)
f.append(dd_psi)

else:

.append(math.cos(beta + x[4])*vel)
.append(math.sin(beta + x[4])*vel)
.append(ul0@])

.append (1/p.m*sumX + x[5]*x[10])

- —h —h h
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300

301
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317
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327
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330

331

332

333

334

f.append(x[5])
f.append(1/(p.I1_z - (p.I_xz_s)**x2/p.I_Phi_s)*(sumN + p
— .I_xz_s/p.I_Phi_s*sumL))

# remaining sprung mass dynamics

f.append(x[7])

f.append(1/(p.I_Phi_s - (p.I_xz_s)**2/p.I_z)*(p.I_xz_s/p.
— I_z*xsumN + sumlL))

f.append(x[9])

f.append(1/p.I_y_s*sumM_s)

f.append(1/p.m_s*xsumY_s - x[5]*x[3])

f.append(x[12]1)

f.append(g - 1/p.m_s*sumZ_s)

#unsprung mass dynamics (front)
f.append(x[141)
f.append(1/p.I_ufxsumlL_uf)
f.append(1/p.m_uf*xsumY_uf - x[5]*x[3])
f.append(x[171)

f.append(g - 1/p.m_uf*xsumZ_uf)

#unsprung mass dynamics (rear)
.append(x[19])
.append(1/p.I_ur*sumbL_ur)
.append(1/p.m_ur*sumY_ur - x[5]*x[3])
.append(x[22])

.append(g - 1/p.m_ur*sumZ_ur)

- —h —h —h —h

#convert acceleration input to brake and engine torque

if ul11>0:
T_ B = 0.0
T_E = p.mxp.R_wxu[1]
else:
T_B = p.mxp.R_wxul[1]
T_E = 0.

#wheel dynamics (p.T new parameter for torque splitting)

f.append(1/p.I_y_wx(-p.R_wxF_x_LF + 0.5%p.T_sb*T_B + 0.5x*p
« .T_sexT_E + p.T_sexul[2]))

f.append(1/p.I_y_wx(-p.R_wxF_Xx_RF + @.5*xp.T_sb*T_B + 0.5x%p
— .T_sexT_E - p.T_se*xul[2]))

f.append(1/p.I_y_w*(-p.R_w*xF_x_LR + 0.5*x(1-p.T_sb)*T_B +
<~ 0.5x(1-p.T_se)*T_E + (1-p.T_se)*ul2]))

f.append(1/p.I_y_wx(-p.R_wxF_x_RR + 0.5*x(1-p.T_sb)*T_B +
< 0.5x(1-p.T_se)*T_E - (1-p.T_se)*ul[2]))
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335

336 #negative wheel spin forbidden

337 for iState in range (23, 27):
338 if x[iState] < 0.0:

339 x[iState] = 0.0

340 f[iState] = 0.0

341

342 #compliant joint equations
343 f.append(dot_delta_y_f)

344 f.append(dot_delta_y_r)

345

346 return f

L [Llotnote 0w ylo Vo EMOTEEYETE GTO XUPLWS HEWEVO.|
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34

Andonacpa Kddixa A.9: Ilpocopoinon opiotepiic otpogic ve vo = 15m/s, vs =
0.0057ad/s xo ajong = 0.2g %ou xatovour| pomhic AT = 100 Nm

x_TV_left = x_acc.copy()
x_TV_right = x_acc.copy()
p = parameters_vehicle2()

for i in range(len(time)-1):

AT_left = -100
AT_right = 100

# Apply torque vectoring by adding the corrective torque to
— each wheel

u_left = (v_delta, 0.2 * g, aAT_left)

u_right = (v_delta, 0.2 * g, AT_right)

# Simulate the multi-body kinematic model with the updated
< control input

X_TV_left[i + 1] = odeint(func_MB, x_TV_left[i], [@Q, dt],
< args=(u_left, p))L1]

X_TV_right[i + 1] = odeint(func_MB, x_TV_right[il, [@, dt],
— args=(u_right, p))[1]

# position

plt.title( '=d¢yxpeion 9éonc')

plt.plot(Ltmp[@] for tmp in x_acc], [tmp[1] for tmp in x_acc])

plt.plot(Ltmp[@] for tmp in x_TV_right], [tmp[1] for tmp in
— x_TV_right1)

plt.plot([tmp[@] for tmp in x_TV_left], [tmp[1] for tmp in
— x_TV_left])

plt.legend ([ "cexitédyuvvon ywetc TV', "cnitédyvvon upe npbodetn pon
 f otn 8efid mheupd', 'emitdyuvvon pe mepbodern pomh oTnv ap
< toteph mreved'])

plt.xlabel( ' x-9é¢6yn (M) )

plt.ylabel( 'y-9¢o5yn (m) )

plt.show()

# orientation

plt.title( ' =¢vyxpi0on vyoviac extponfic')

plt.plot(time, [tmp[4] for tmp in x_acc]l)

plt.plot(time, [tmp[4] for tmp in x_TV_right])

plt.plot(time, [tmp[4] for tmp in x_TV_left])

plt.legend ([ ceni<édyuvvon ywetc TV', 'cnitédyuvvon upe nepbodetn pon
s f otn B5efid mrcuved', 'emittdyuvuvon ue nepbodetn ponh ocTnv ap

— Lotepn Tt)\supc'c':l)
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36

37

38

39

40

41

42

43

44

45

46

47

plt.xlabel( xcévoc (S) ')

plt.ylabel('Fmvfa exTpomnhc (rad)')

plt.show()

# yaw rate

plt.title('ZGYxchn puvdpuod extpomnhc

)

plt.plot(time, [tmp[5] for tmp in x_accl])
plt.plot(time, [tmp[5] for tmp in x_TV_right])
plt.plot(time, [tmp[5] for tmp in x_TV_left])

plt.legend(['anLT&xvvon xwe (¢

—~ f otn dec&iLd& mrevpd', 'emiTtdyxuvon pue mepbode Ty

—~ Lotepn nkeup&'])

plt.xlabel( xeé6voc (S)')

TV -,

'emiTdyxuvon

plt.ylabel( 'Puouéc ex<ponnc (rad/s) )

plt.show()

L [otnote 0w yio var emoteedete 6TO ®UPIWC KEWEVO.|
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33

34

35

36

37

38

39

Andonaocpo Kddixa A.10: Evnuépnon tou apyeiou Suvauixric tou oyfuoatog (vehi-

(ﬂegdynanﬁcsinﬂxpy)YKXTWVunoorﬁginleﬁfﬂghtxanﬂontqearTFV

from
o
from
-
from

—

vehiclemodels.utils.steering_constraints

steering_constraints
vehiclemodels.utils.acceleration_constraints
acceleration_constraints
vehiclemodels.utils.vehicle_dynamics_ks_cog import
vehicle_dynamics_ks_cog

import vehiclemodels.utils.tire_model as tireModel

def vehicle_dynamics_mb(x, ulnit, p):

nnn

vehicleDynamics_mb

import

import

- multi-body vehicle dynamics based on

< the DOT (department of transportation) vehicle
— dynamics
reference point: center of mass

Syntax:

.F

= vehicleDynamics_mb(x,u,p)

Inputs:
:param x: vehicle state vector
:param ulnit: vehicle input vector
:param p: vehicle parameter vector

OQutputs:
:return f: right-hand side of differential

nnn

# set gravity constant
g = 9.81 #[m/s"2]

#states

#x1 = x-position in a global coordinate system
#x2 = y-position in a global coordinate system
#x3 = steering angle of front wheels

#x4 = velocity in x-direction

#x5 = yaw angle

#x6 = yaw rate

#x7 = roll angle

#x8 = roll rate

#x9 = pitch angle

#x10 = pitch rate

#x11 = velocity in y-direction

#x12 = z-position

#x13 = velocity in z-direction

166

equations



40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62
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69
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78

79

80

81

82

83

84

#x14 = roll angle front
#x15 = roll rate front

#x16 = velocity in y-direction front
#x17 = z-position front

#x18 = velocity in z-direction front
#x19 = roll angle rear

#x20 = roll rate rear

#x21 = velocity in y-direction rear
#x22 = z-position rear

#x23 = velocity in z-direction rear

#x24 = left front wheel angular speed
#x25 = right front wheel angular speed
#x26 = left rear wheel angular speed
#x27 = right rear wheel angular speed

#x28 = delta_y_f
#x29 = delta_y_r

#ul = steering angle velocity of front wheels
#u2 = acceleration

#u3 = left-right corrective torque

#u4 = front-rear engine torque distribution

#consider steering constraints

u =[]

u.append(steering_constraints(x[2], ulnit[@], p.steering))
— # different name u_init/u due to side effects of u

#consider acceleration constraints

u.append(acceleration_constraints(x[3], uInit[1], p.
< longitudinal)) # different name u_init/u due to side
— effects of u

u.append(uInit[2])

u.append(uInit[3])

#compute slip angle at cg
#switch to kinematic model for small velocities
if abs(x[3]) < 0.1:
beta = 0.
else:
beta = math.atan(x[10]1/x[3])
vel = math.sqrt(x[3]**x2 + x[10]*%x2)

#tvertical tire forces
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125
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F_z_LF = (x[16] + p.R_wx(math.cos(x[13]) - 1) -
<~ math.sin(x[13]))*p.K_zt

F_z_RF = (x[16] + p.R_wx(math.cos(x[13]) - 1) +
< math.sin(x[13]))*p.K_zt

F_z_LR = (x[21] + p.R_wx(math.cos(x[18]1) - 1) -
< math.sin(x[18]))*p.K_zt

F_z_RR = (x[21] + p.R_w*(math.cos(x[18]) - 1) +

< math.sin(x[18]))*p.K_zt

#obtain individual tire speeds

u_w_1f = (x[3] + 0.5xp.T_fxx[5])*math.cos(x[2])
< p.a*x[5])*math.sin(x[2])

u_w_rf = (x[3] - 0.5xp.T_f*x[5])*math.cos(x[2])
< p.a*x[5])*math.sin(x[2])

u_w_1lr = x[3] + 0.5xp.T_r*xx[5]

u_w_rr x[3] - 0.5%p.T_r*xx[5]

#negative wheel spin forbidden
if u_w_1f < 0.0:
u_w_1f *= 0

if u_w_rf < 0.0:
u_w_rf *= 0

if u_w_1lr < 0.0:
u_w_1r *= 0

if u_w_rr < 0.0:
u_w_rr *= 0
#compute longitudinal slip
#tswitch to kinematic model for small velocities
if abs(x[3]) < 0.1:

s_1f = 0.
s_rf = 0.
s_1r = 0.
s_rr = 0
else:
s_1f =1 - p.R_w*x[23]/u_w_1f
s_.rf =1 - p.R_wxx[24]/u_w_rf
s_1lr = 1 - p.R_w*x[25]/u_w_1r
s_rr = 1 - p.R_w*x[26]/u_w_rr

#lateral slip angles
#tswitch to kinematic model for small velocities
if abs(x[3]) < 0.1:

alpha_LF = 0.
alpha_RF = 0.
alpha_LR = 0
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else

#aux

1
(S

alpha_RR

alpha_LF = math.atan((x[10] + p.a*x[5] - x[14]1*x(p.
— - x[161))/(x[3] + 0.5%xp.T_f*x[5]1)) - x[2]

alpha_RF = math.atan((x[10] + p.a*xx[5] - x[14]*x(p.
— - x[161))/(x[3] - 0.5%xp.T_fxx[5])) - x[2]

alpha_LR = math.atan((x[10] - p.bxx[5] - x[191*(p.
— = x[211))/(x[3] + @0.5*p.T_r*x[5]1))

alpha_RR = math.atan((x[10] - p.b*x[5] - x[19]1*x(p.
— = x[211))/(x[3] - 0.5%xp.T_r*xx[51))

iliary suspension movement

z_SLF = (p.h_s - p.R_w + x[16] - x[11]1)/math.cos(x[6])

—

.h_s + p.R_w + p.a*xx[8] + 0.5*x(x[6] - x[13])*p.T_f

z_SRF = (p.h_s - p.R_w + x[16] - x[11]1)/math.cos(x[6])

—

.h_s + p.R_w + p.axx[8] - 0.5x(x[6] - x[13])*p.T_f

Zz_SLR = (p.h_s - p.R_w + x[21] - x[11]1)/math.cos(x[6])

—

.h_s + p.R_w - p.b*x[8] + 0.5*x(x[6] - x[18])*p.T_r

z_SRR = (p.h_s - p.R_w + x[21] - x[11]1)/math.cos(x[6])

—~ .h_s + p.R_w - p.b*x[8] - 0.5x(x[6] - x[181)*p.T_r
dz_SLF = x[17] - x[12] + p.a*x[9] + 0.5%(x[7] - x[14])=*p.
dz;;R;_i x[171 - x[12] + p.a*x[9] - 0.5x(x[7] - x[141)*p.
dz_zL;_i x[22] - x[12] - p.b*x[9] + 0.5%(x[7] - x[191)*p.
dz!gR;_z x[22] - x[12] - p.b*x[9] - 0.5%x(x[7]1 - x[191)*p.

— T_r

#tcamber angles

gamma_LF = x[6] + p.D_fxz_SLF + p.E_f*x(z_SLF)=*xx%x2
gamma_RF = x[6] - p.D_f*xz_SRF - p.E_f*(z_SRF)=*%*2
gamma_LR = x[6] + p.D_rxz_SLR + p.E_r*(z_SLR)=*x%x2
gamma_RR = x[6] - p.D_r*z_SRR - p.E_r*(z_SRR)*%*2

#tcompute longitudinal tire forces

-
FO_x
FO_x
o
FO_x
s

FO_x

—

for pure slip

using the magic formula

_LF = tireModel.formula_longitudinal (s_1f, gamma_LF,
F_z_LF, p.tire)

_RF = tireModel.formula_longitudinal (s_rf, gamma_RF,
F_z_RF, p.tire)

_LR = tireModel.formula_longitudinal (s_1lr, gamma_LR,
F_z_LR, p.tire)

_RR = tireModel.formula_longitudinal (s_rr, gamma_RR,
F_z_RR, p.tire)

#compute lateral tire forces using the magic formula for
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190

< pure slip

res = tireModel.formula_lateral (alpha_LF,

<~ , p.tire)
FO_y_LF res[0]
mu_y_LF res[1]

res = tireModel.formula_lateral (alpha_RF,

<~ , p.tire)
FO_Yy_RF = res[0]
mu_y_RF res[1]

res = tireModel.formula_lateral (alpha_LR,

<~ , p.tire)
FO_y_LR res[o]
mu_y_LR res[1]

res = tireModel.formula_lateral (alpha_RR,

-~ , p.tire)
FO_y_RR res[0]
mu_y_RR res[1]

gamma_LF ,

gamma_RF ,

gamma_LR,

gamma_RR,

F_z_LF

F_z_RF

F_z_LR

F_z_RR

#compute longitudinal tire forces using the magic formula

— for combined slip

F_x_LF = tireModel.formula_longitudinal_comb(s_1f,

<~ alpha_LF, FO_x_LF, p.tire)

F_Xx_RF = tireModel.formula_longitudinal_comb(s_rf,

< alpha_RF, FO_x_RF, p.tire)

F_Xx_LR = tireModel.formula_longitudinal_comb(s_1r,

< alpha_LR, FO_x_LR, p.tire)

F_Xx_RR = tireModel.formula_longitudinal_comb(s_rr,

— alpha_RR, FO_x_RR, p.tire)

#compute lateral tire forces using the magic formula for

— combined slip

F_y_LF = tireModel.formula_lateral_comb(s_1f,
— gamma_LF, mu_y_LF, F_z_LF, FO_y_LF,
F_y_RF = tireModel.formula_lateral_comb(s_rf,
— gamma_RF, mu_y_RF, F_z_RF, FO_y_RF,
F_y_LR = tireModel.formula_lateral_comb(s_1r,
— gamma_LR, mu_y_LR, F_z_LR, FO_y_LR,
F_y_RR = tireModel.formula_lateral_comb(s_rr,
< gamma_RR, mu_y_RR, F_z_RR, FO_y_RR,

#auxiliary movements for compliant joint equations

delta_z_f = p.h_s - p.R_w + x[16] - x[11]
delta_z_r = p.h_s - p.R_w + x[21] - x[11]

delta_phi_f
delta_phi_r

x[6] - x[13]
x[6] - x[18]

dot_delta_phi_f = x[7] - x[14]
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192

194
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197
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200

201

202
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211

212

213

214

215

216

217

218

219

220

221

222

223

dot_delta_phi_r x[7] - x[19]

dot_delta_z_f x[17] x[12]
dot_delta_z_r = x[22] - x[12]

dot_delta_y_f
dot_delta_y_r

x[10]
x[10]

+

p.a*x[5] - x[15]
p.b*x[5] - x[20]

delta_f = delta_z_f+*math.sin(x[6]) - x[27]x*math.cos(x[6])
< = (p.h_raf - p.R_w)*math.sin(delta_phi_f)

delta_r = delta_z_r+*math.sin(x[6]) - x[28]xmath.cos(x[6])
<~ = (p.h_rar - p.R_w)#*math.sin(delta_phi_r)

dot_delta_f = (delta_z_f+*math.cos(x[6]) + x[27]x*math.sin(x
— [61))*x[7] + dot_delta_z_f*math.sin(x[6]) -
« dot_delta_y_f*math.cos(x[6]) - (p.h_raf - p.R_w)*math
— .cos(delta_phi_f)xdot_delta_phi_f

dot_delta_r = (delta_z_r*math.cos(x[6]) + x[28]*math.sin(x
< [61))*x[7] + dot_delta_z_r+*math.sin(x[6]) -
— dot_delta_y_r#*math.cos(x[6]) - (p.h_rar - p.R_w)*math
« .cos(delta_phi_r)xdot_delta_phi_r

#compliant joint forces
F_RAF = delta_fxp.K_ras + dot_delta_f*p.K_rad
F_RAR = delta_rxp.K_ras + dot_delta_r*xp.K_rad

#auxiliary suspension forces (bump stop neglected squat/
- lift forces neglected)

F_SLF = p.m_s*gxp.b/(2*x(p.atp.b)) - z_SLF*p.K_sf - dz_SLF*
< p.K_sdf + (x[6] - x[13]1)*p.K_tsf/p.T_f

F_SRF = p.m_s*xgxp.b/(2x(p.a+tp.b)) - z_SRFxp.K_sf - dz_SRF+*
— p.K_sdf - (x[6] - x[13])*p.K_tsf/p.T_f

F_SLR = p.m_s*gxp.a/(2x(p.atp.b)) - z_SLR*p.K_sr - dz_SLR=*
< p.K_sdr + (x[6] - x[18]1)*p.K_tsr/p.T_r

F_SRR = p.m_s*gxp.a/(2*x(p.a+tp.b)) - z_SRR*p.K_sr - dz_SRR*
<~ p.K_sdr - (x[6]1 - x[18])*p.K_tsr/p.T_r

#auxiliary variables sprung mass
sumX = F_x_LR + F_x_RR + (F_x_LF + F_x_RF)xmath.cos(x[2])
— - (F_y_LF + F_y_RF)#*math.sin(x[2])

sumN (F_y_LF + F_y_RF)*p.a*math.cos(x[2]) + (F_x_LF +
— F_x_RF)*p.axmath.sin(x[2]) \
+ (F_y_RF - F_y_LF)*0.5xp.T_f*math.sin(x[2]) + (
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224

225

226

227
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233

234
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236

237

238

239

240

241

242

243

244

245

246

247

248

249

251

252

« F_X_LF - F_X_RF)*0Q.5xp.T_f*math.cos(x[2]) \
(F_x_LR - F_x_RR)*@.5*p.T_r - (F_y_LR + F_y_RR)*p
-~ .b

+

sumY_s (F_RAF + F_RAR)*math.cos(x[6]) + (F_SLF + F_SLR +
< F_SRF + F_SRR)*math.sin(x[6])

sumL = ©.5%F_SLF*p.T_f + ©.5%F_SLR*xp.T_r - 0.5%xF_SRF*p.T_f
« = @.5*F_SRR*p.T_r \

F_RAF/math.cos(x[6]1)*(p.h_s - x[11] - p.R_w + x

— [16] - (p.h_raf - p.R_w)*math.cos(x[13])) \

F_RAR/math.cos(x[6]1)*(p.h_s - x[11] - p.R_w + x

< [21]1 - (p.h_rar - p.R_w)*math.cos(x[18]))

sumZ_s (F_SLF + F_SLR + F_SRF + F_SRR)*math.cos(x[6]) -
< (F_RAF + F_RAR)*math.sin(x[6])

sumM_s = p.a*x(F_SLF + F_SRF) - p.bx(F_SLR + F_SRR) + ((
— F_x_LF + F_x_RF)*math.cos(x[2]) \
- (F_y_LF + F_y_RF)*math.sin(x[2]) + F_x_LR +
< F_Xx_RR)*(p.h_s - x[11])

#auxiliary variables unsprung mass
sumL_uf = @.5%F_SRF*p.T_f - 0.5%xF_SLF*p.T_f - F_RAFx(p.
— h_raf - p.R_w) \
+ F_z_LFx(p.R_wxmath.sin(x[13]) + 0.5*%p.T_f*math
<~ .cos(x[13]) - p.K_1t*xF_y_LF) \
- F_z_RF*(-p.R_wxmath.sin(x[13]) + @0.5xp.T_f=*
< math.cos(x[13]) + p.K_1t*F_y_RF) \
- ((F_y_LF + F_y_RF)#*math.cos(x[2]) + (F_x_LF +
< F_x_RF)*math.sin(x[2]1))*x(p.R_w - x[16])

sumL_ur = Q@.5*F_SRR*xp.T_r - 0.5*F_SLR*p.T_r - F_RARx*(p.
< h_rar - p.R_w) \
+ F_z_LRx(p.R_wxmath.sin(x[18]) + 0.5*p.T_r*math
— .cos(x[18]) - p.K_1t*F_y_LR) \
- F_z_RR*(-p.R_wxmath.sin(x[18]) + @.5xp.T_r*
< math.cos(x[18]) + p.K_1t*F_y_RR) \
- (F_y_LR + F_y_RR)*(p.R_w - x[21])

sumZ_uf = F_z_LF + F_z_RF + F_RAF*math.sin(x[6]) - (F_SLF
< + F_SRF)*math.cos(x[6])

sumZ_ur = F_z_LR + F_z_RR + F_RARxmath.sin(x[6]) - (F_SLR
<+ + F_SRR)*math.cos(x[6])

sumY_uf = (F_y_LF + F_y_RF)*math.cos(x[2]) + (F_x_LF +
— F_x_RF)*math.sin(x[2]) \
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285
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287

288

289

290

291

292

- F_RAFx*math.cos(x[6]) - (F_SLF + F_SRF)*math.
< sin(x[6])

sumY_ur = (F_y_LR + F_y_RR) \
- F_RAR*math.cos(x[6]) - (F_SLR + F_SRR)*math.
< sin(x[6])

#dynamics common with single-track model
f =[] # init 'right hand side:
#tswitch to kinematic model for small velocities
if abs(x[3]) < 0.1:
#wheelbase
# lwb = p.a + p.b

#system dynamics

# x_ks = [x[0], x[1]1, x[2], x[3]1, x[4]1]
f_ks = vehicle_dynamics_ks(x_ks, u, p)
f.extend(f_ks)
f.append(ul1]lx1lwbxmath.tan(x[2]) + x[3]/(lwb*math.
— cos(x[2])**x2)*ul[0])

HOoH H

# Use kinematic model with reference point at center
— of mass

# wheelbase

lwb = p.a + p.b

# system dynamics

x_ks = [x[0], x[1], x[2], x[3]1, x[4]1]

# kinematic model

f_ks = vehicle_dynamics_ks_cog(x_ks, u, p)

f = [f_ks[0], f_ks[1], f_ks[2], f_ks[3]1, f_ks[4]]

# derivative of slip angle and yaw rate

d_beta = (p.b * ul@]) / (lwb * math.cos(x[2]) *x 2 %
— (1 + (math.tan(x[2]) ** 2 * p.b / lwb) *x*x 2))

dd_psi = 1 / 1wb * (ul[1] * math.cos(x[6]) * math.tan(x

x[3] * math.sin(x[6]) * d_beta =
< math.tan(x[2]) +
x[3] * math.cos(x[6]) * ul[0Q] /
< math.cos(x[2]) **x 2)
f.append(dd_psi)

else:

.append(math.cos(beta + x[4])*vel)
.append(math.sin(beta + x[4])*vel)
.append(ul0@])

.append (1/p.m*sumX + x[5]*x[10])
.append(x[5])

- —h —h —h —h
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314

315

316

317

318
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320

321
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325

326

327

328

329

330

331

332

333

334

f.append(1/(p.I_z - (p.I_xz_s)**x2/p.I_Phi_s)x(sumN + p
— .I_xz_s/p.I_Phi_sxsumlL))

# remaining sprung mass dynamics

f.append(x[7])

f.append(1/(p.I_Phi_s - (p.I_xz_s)**2/p.I_z)*x(p.I_xz_s/p.
— I_zxsumN + sumlL))

f.append(x[9])

f.append(1/p.I_y_s*sumM_s)

f.append(1/p.m_s*xsumY_s - x[5]*x[31])

f.append(x[12])

f.append(g - 1/p.m_s*sumZ_s)

#unsprung mass dynamics (front)
.append(x[14])
.append(1/p.I_uf*sumlL_uf)

.append (1/p.m_ufxsumY_uf - x[5]*x[3])
.append(x[171])

.append(g - 1/p.m_uf*sumZ_uf)

- —h —h —h —h

#unsprung mass dynamics (rear)
f.append(x[19])
f.append(1/p.I_ur*xsumlL_ur)
f.append(1/p.m_urxsumY_ur - x[5]*x[3])
f.append(x[22])

f.append(g - 1/p.m_ur*xsumZ_ur)

#convert acceleration input to brake and engine torque

if ul11>0:
T_B = 0.0
T_E = p.mxp.R_wxu[1]
else:
T B = p.m*p.R_w*u[1]
T_E = 0.

#wheel dynamics (p.T new parameter for torque splitting)

f.append(1/p.I_y_wx(-p.R_wxF_x_LF + @.5xp.T_sb*T_B + 0.5%*u
— [31*T_E + ul3]*ul2]))

f.append(1/p.I_y_wx(-p.R_wxF_Xx_RF + 0.5xp.T_sb*T_B + 0.5%u
< [31*T_E - ul3]xul21))

f.append(1/p.I_y_w*(-p.R_w*xF_x_LR + 0.5*x(1-p.T_sb)*T_B +
< @0.5%x(1-ul31)*T_E + (1-ul31)*ul2]))

f.append(1/p.I_y_wx(-p.R_wxF_x_RR + 0.5*x(1-p.T_sb)*T_B +
<~ 0.5%x(1-ul31)*T_E - (1-ul31)*ul21))
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335

336 #negative wheel spin forbidden

337 for iState in range (23, 27):
338 if x[iState] < 0.0:

339 x[iState] = 0.0

340 f[iState] = 0.0

341

342 #compliant joint equations
343 f.append(dot_delta_y_f)

344 f.append(dot_delta_y_r)

345

346 return f

L [Llotnote 0w ylo Vo EMOTEEYETE GTO XUPLWS HEWEVO.|
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Andonacpo Koddixa A.11: Ilpocopoinon aptotepric otpopic ue vg = 15m/s, vs =
0.0057rad/s o aigng = 0.2g, xotovour ponhic AT = 100 Nm xo ug = 0.2/0.8

Xx_TV_left_fr = x_acc.copy()
x_TV_right_rr = x_acc.copy()
p = parameters_vehicle2()

for i in range(len(time)-1):

AT_left = -100
AT_right = 100

# Apply torque vectoring by adding the corrective torque to
— each wheel

u_left_fr = (v_delta, 0.2 * g, aT_left, 0.8)

u_right_rr = (v_delta, 0.2 * g, aT_right, 0.2)

# Simulate the multi-body kinematic model with the updated
< control input

x_TV_left_fr[i + 1] = odeint(func_MB, x_TV_left_fr[il, [0,
— dt], args=(u_left_fr, p))[1]

X_TV_right_rr[i + 1] = odeint(func_MB, x_TV_right_rr[i], [0,
— dt], args=(u_right_rr, p))[1]

# position

plt.figure(figsize=(8, 6))

plt.title( '=d¢yxpeion 9éonc')

plt.plot(Ltmp[@] for tmp in x_acc], [tmp[1] for tmp in x_acc])

plt.plot(Ltmp[@] for tmp in x_TV_right], [tmp[1] for tmp in
— x_TV_right1)

plt.plot([tmp[@] for tmp in x_TV_right_rr], [tmp[1] for tmp in
— x_TV_right_rr])

plt.plot([tmp[@] for tmp in x_TV_left], [tmp[1] for tmp in
< X_TV_left])

plt.plot([tmp[@] for tmp in x_TV_left_frl, [tmp[1] for tmp in
o x_TV_left_fr1)

plt.legend ([ yweic TV', 'uec neéodern ponhh otn deiid nhecupd ',
< ue npbdodetn ponf otn defid nrecuvepd * T0% mec ponfc \N riocow
< ', 'ue mpbodetn ponh octnv wpioteph mheuvpd', 'ue mpbodetn
< ponh otnv apioteceh mnrecved *t T0% tne \N pontc cunecbe'l,
— fontsize = 10)

plt.xlabel( 'x-9¢c5n (m) )

plt.ylabel( 'y-9é¢s5q (m) )

plt.show()

# orientation
plt.figure(figsize=(8, 6))
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plt.title( ' Ss¢vyxpi0on voviac extponfic')

plt.plot(time, [tmp[4] for tmp in x_acc])

plt.plot(time, [tmp[4] for tmp in x_TV_right])

plt.plot(time, [tmp[4] for tmp in x_TV_right_rr])

plt.plot(time, [tmp[4] for tmp in x_TV_left])

plt.plot(time, [tmp[4] for tmp in x_TV_left_fr1])

plt.legend ([ xweic TV', 'uec neéodern ponhh otn 8eiid nhecupd ',
< ue npdodetn ponf otn decfid nrcuvpd * T0% <tmec ponfic \N niocow
< ', 'ue mpbodern ponh oTnv wpioteph mhcupd', 'ue mepdodern
< ponh otnv apioteceh mnrecved *t T0% tne \N pontc cunecbe'l,
<« fontsize = 10)

plt.xlabel( 'x¢évoc (S8) )

plt.ylabel( 'rovia ex<tporntec (rad): )

plt.show()

# yaw rate

plt.figure(figsize=(8, 6))

plt.title( S¢yxpoion puduod ecxtponhc ')

plt.plot(time, [tmp[5] for tmp in x_accl)

plt.plot(time, [tmp[5] for tmp in x_TV_right])

plt.plot(time, [tmp[5] for tmp in x_TV_right_rr])

plt.plot(time, [tmp[5] for tmp in x_TV_left])

plt.plot(time, [tmp[5] for tmp in x_TV_left_fr1l)

plt.legend ([ yweic TV', 'uec neéodectn ponhh otn 8eciid nhecupd ',
< pe mpboBetn ponf otn defid nrcuvpd T 70% <nmec ponfc \N xiocow
< ', 'ue mpbodern ponh oTnv awpiotepeh mhcupd', 'ue mepdbodern
s ponfi ctnv opiotceh mhcuvpd * 70% tnc \N ponfc cunpdec'l,
— fontsize = 10)

plt.xlabel( 'xeévoc (S) ')

plt.ylabel( 'Puouéc ex<ponnc (rad/s) )

plt.show()
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Arnéonacpa Koduixa A.12: Yuvdpetnon extiunone emduuntod puduol extponiic

def desired_values(x, u):

#Vehicle Parameters

1f = p.a

lr = p.b

h = p.h_s

m = p.m

mu = p.tire.p_dyl

C_S = -p.tire.p_kyl / p.tire.p_dyl

F_zf = (mxgxlr-mxul[1]xh)/(1lr+1f)

F_zr = (mxgx1lf+mxul[1]1xh)/(lr+l1f)
C_af = muxC_SxF_zf
C_ar = muxC_S*F_zr

psi_dot_des []1 #Desired yaw rate

nom_psi_dot x[2]xx[3]

denom = 1f+lr+(mxx[3]x*x2x(1lrxC_ar-1f*xC_af))/(2xC_af*xC_arx(1f
- +1r))

temp_psi_dot = nom_psi_dot/denom

if np.abs(temp_psi_dot) <= 0.85*xmu*g/x[3]: # Upper
< bounded value for target Yaw Rate(Eq. 8.28) from
— Rajamani Vehicle Dynamics & Control
psi_dot_des.append(temp_psi_dot)

else:
psi_dot_des.append ((0.85*mu*g/x[3]1)*np.sign(temp_psi_dot))

return psi_dot_des

L [HHatnoTe 0w yior vor ETMIOTEEYETE GTO XUPLWC HEWEVO.|
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Arndonacua Koduxa A.13: Yuvdptnon eréyyou tne mopouétoou T,

from scipy.interpolate import interpld

def tune_T_se(error):

x = [-1.5, 1.5]

y = [0.1,0.9]

t = interpld(x, y, bounds_error=False, fill_value=(0.1,0.9))
t_eng = t(error)

return t_eng.item()

L [Hotnote 0w yio va emoteedete 610 xUPIWS HEWEVO.|
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Arndonacua Koduxa A.14: Emtayuvousvn aplotepr) otpogr ue pudud adénong ywviog
diebuvong vs = 0.05rad/s, emtdyuvon aiong = 0.29 xou aplotepo-6edl TV

from vehiclemodels.utils.steering_constraints import
- steering_constraints

from vehiclemodels.utils.acceleration_constraints import
< acceleration_constraints

# Initialize arrays, variables & lists for the control loop
x_1lr_TV_4 = x_acc_4.copy()

x_1r_TV_8 = x_acc_8.copy()

x_1r_TV_15 = x_acc_15.copy()

e_psidot_prev_4 = 0

e_psidot_prev_8 = 0
e_psidot_prev_15 =

yaw_rate_desired_4

N o

L]

12

13

14

15

16

17

18

19

21

22

23

24

25

26

27

28

29

30

31

32

33

34

yaw_rate_desired_8
yaw_rate_desired_15 = []

L]

2
= 400

for i in range(len(time)-1):

acc_4 = acceleration_constraints(x_1r_TV_4[i,3], 0.2 * g, p
— .longitudinal)

acc_8 = acceleration_constraints(x_1r_TV_8[i,3], 0.2 * g, p
— .longitudinal)

acc_15 = acceleration_constraints(x_1r_TV_15[i,3], ©.2 *x g,

< p.longitudinal)

4 p.m p. * acc_4

8 = p.m p. * acc_8
15 = p.m * p.R_w * acc_15

* R_w
* R_w

# Calculate errors between desired and actual yaw rate

e_psidot_4 = desired_values(x_lr_TV_4[i], u) - x_1r_TV_4[1
< ,5]

e_psidot_8 = desired_values(x_lr_TV_8[i], u) - x_1lr_TV_8[i
< ,5]

e_psidot_15 = desired_values(x_1r_TV_15[i], u) - x_1r_TV_15[
< 1i,5]

# Calculate control input feedbacks from yaw rate error
< using a PD controller

AT_psidot_4 = kp * e_psidot_4 + kd * (e_psidot_4 -
— e_psidot_prev_4)/dt
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AT_psidot_8 = kp * e_psidot_8 + kd * (e_psidot_8 -
— e_psidot_prev_8)/dt

AT_psidot_15 = kp * e_psidot_15 + kd * (e_psidot_15 -
< e_psidot_prev_15)/dt

# Apply saturation to ensure the total torque adjustment is
< within the desired range (-T_E/4 <= AT <= T_E/4)

AT_4 = max(- T_E_4/4 , min(aT_psidot_4, T_E_4/4 ))

AT_8 max (- T_E_8/4 , min(aT_psidot_8, T_E_8/4 ))

AT_15 = max(- T_E_15/4 , min(aT_psidot_15, T_E_15/4 ))

# Update the previous errors for the next iteration
e_psidot_prev_4 = e_psidot_4

e_psidot_prev_8 = e_psidot_8

e_psidot_prev_15 = e_psidot_15

# Apply torque vectoring by adding the corrective torque to
< each wheel

u_controlled_4 = (v_delta, 2 x g, 2%xAT_4, 0.5)

u_controlled_8 = (v_delta, 2 x g, 2*xAT_8, 0.5)

u_controlled_15 = (v_delta, 0.2 * g, 2xaT_15, 0.5)

0.
0.

# Simulate the multi-body kinematic model with the updated
— control input

x_1r_TV_4[i + 11 = odeint(func_MB, x_lr_Tv_4[il, [0, dtl,
— args=(u_controlled_4, p))[1]

x_1r_TV_8[i + 1] = odeint(func_MB, x_1lr_TV_8[i], [e0, dt],
— args=(u_controlled_8, p))[1]

x_1r_TV_15[i + 1] = odeint(func_MB, x_lr_TV_15[i], [e, dt],
< args=(u_controlled_15, p))[1]

yaw_rate_desired_4.append(desired_values(x_1r_TV_4[i], u))
yaw_rate_desired_8.append(desired_values(x_1r_TV_8[i], u))
yaw_rate_desired_15.append(desired_values(x_1r_TV_15[i], u))
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Arndonacua Koduxa A.15: Emtayuvouevn aplotepr) otpogr ue pudud adénong ywviog

dievduvong vs = 0.05rad/s, emtdyuvon aong = 0.29 xou eunpdotio-onicho TV

from vehiclemodels.utils.steering_constraints import
- steering_constraints

from vehiclemodels.utils.acceleration_constraints import
< acceleration_constraints

# Initialize arrays, variables & lists for the control loop
x_fr_TV_4 = x_acc_4.copy()

x_fr_TV_8 = x_acc_8.copy()

x_fr_TV_15 = x_acc_15.copy()

e_psidot_prev_4 = 0

e_psidot_prev_8 = 0
e_psidot_prev_15 =
yaw_rate_desired_4 L]
yaw_rate_desired_8 []
yaw_rate_desired_15 = []

N o

kp 2
kd = 400

for i in range(len(time)-1):

acc_4 = acceleration_constraints(x_fr_TV_4[i,3], 0.2 * g,
— .longitudinal)
acc_8 = acceleration_constraints(x_fr_TV_8[i,3], 0.2 * g,

— .longitudinal)

acc_15 = acceleration_constraints(x_fr_TV_15[i,3], 0.2 *x g,

< p.longitudinal)

4 p.m p. * acc_4

8 = p.m p. * acc_8
15 = p.m * p.R_w * acc_15

* R_w
* R_w

# Calculate errors between desired and actual yaw rate
e_psidot_4 = desired_values(x_fr_TV_4[i], u) - x_fr_TV_4[1i

- ,5]
e_psidot_8 = desired_values(x_fr_TV_8[i], u) - x_fr_TV_8[i
— ,5]

e_psidot_15 = desired_values(x_fr_TV_15[i], u) - x_fr_TV_15[

- 1,5]

# Calculate control input feedbacks from yaw rate error
< using a PD controller

AT_psidot_4 = kp * e_psidot_4 + kd * (e_psidot_4 -
— e_psidot_prev_4)/dt
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AT_psidot_8 = kp * e_psidot_8 + kd * (e_psidot_8 -
<~ e_psidot_prev_8)/dt

AT_psidot_15 = kp * e_psidot_15 + kd * (e_psidot_15 -
< e_psidot_prev_15)/dt

# Apply saturation to ensure the total torque adjustment is
< within the desired range (-T_E/4 <= AT <= T_E/4)

AT_4 = max(- T_E_4/4 , min(aT_psidot_4, T_E_4/4 ))

AT_8 max (- T_E_8/4 , min(aT_psidot_8, T_E_8/4 ))

AT_15 = max(- T_E_15/4 , min(aT_psidot_15, T_E_15/4 ))

eng_tsplit_4 tune_T_se(e_psidot_4)
eng_tsplit_8 tune_T_se(e_psidot_8)
eng_tsplit_15 = tune_T_se(e_psidot_15)

# Update the previous errors for the next iteration
e_psidot_prev_4 = e_psidot_4

e_psidot_prev_8 = e_psidot_8

e_psidot_prev_15 = e_psidot_15

# Apply torque vectoring by adding the corrective torque to
— each wheel

u_controlled_4 (v_delta, , 0, eng_tsplit_4)
u_controlled_8 (v_delta, , 0, eng_tsplit_8)
u_controlled_15 = (v_delta, 0.2 * g, 0, eng_tsplit_15)

# Simulate the multi-body kinematic model with the updated
— control input

x_fr_TV_4[i + 11 = odeint(func_MB, x_fr_TV_4[il, [0, dt],
~ args=(u_controlled_4, p))[1]

x_fr_TV_8[i + 1] = odeint(func_MB, x_fr_TV_8[i], [0, dt],
— args=(u_controlled_8, p))[1]

x_fr_TV_15[1 + 1] = odeint(func_MB, x_fr_TV_15[i], [@, dt],
< args=(u_controlled_15, p))[1]

yaw_rate_desired_4.append(desired_values(x_fr_TV_4[i], u))
yaw_rate_desired_8.append(desired_values(x_fr_TV_8[i], u))
yaw_rate_desired_15.append(desired_values(x_fr_TV_15[i], u))

7 7 4 7 7
L [Llotnote €0 yior v emoTeEdete 6T0 XURIWE XEWWEVO|
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Arndonacua Koduxa A.16: Emntayuvousvn aplotepr) otpogr ue pudud adénong ywviog
dteduvone vs = 0.05 rad/s, emTdyUVON Along = 0.2g xou opLotepd-0ei & eunpdotio-onioHio
TV

from vehiclemodels.utils.steering_constraints import
< steering_constraints

from vehiclemodels.utils.acceleration_constraints import
— acceleration_constraints

# Initialize arrays, variables & lists for the control loop
Xx_1lr_fr_TV_4 = x_acc_4.copy()
x_lr_fr_TV_8 x_acc_8.copy ()
X_1lr_fr_TV_15 = x_acc_15.copy ()
e_psidot_prev_4 = 0
e_psidot_prev_8 0
e_psidot_prev_15 = 0
yaw_rate_desired_4 L]
yaw_rate_desired_8 L]
yaw_rate_desired_15 = []
t_split = []

kp 2
kd = 400

for i in range(len(time)-1):

acc_4 = acceleration_constraints(x_lr_fr_TV_4[i,3], 0.2 *x g
<~ , p.longitudinal)

acc_8 = acceleration_constraints(x_lr_fr_TV_8[i,3], 0.2 *x g
< , p.longitudinal)

acc_15 = acceleration_constraints(x_1lr_fr_TV_15[i,3], 0.2 =*

—~ g, p.longitudinal)

4 p.m p.R_w * acc_4
8 = p.m p.R_w * acc_8
15 = p.m * p.R_w * acc_15

* w
* W

# Calculate errors between desired and actual yaw rate
e_psidot_4 = desired_values(x_lr_fr_TV_4[i], u) -
— x_lr_fr_TV_4[i,5]
e_psidot_8 = desired_values(x_lr_fr_TV_8[i], u) -
< x_1lr_fr_TV_8[i,5]
e_psidot_15 = desired_values(x_lr_fr_TV_15[i], u) -
— X_1lr_fr_TV_15[1i,5]

# Calculate control input feedbacks from yaw rate error
< using a PD controller
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AT_psidot_4 = kp * e_psidot_4 + kd * (e_psidot_4 -
— e_psidot_prev_4)/dt

AT_psidot_8 = kp * e_psidot_8 + kd * (e_psidot_8 -
< e_psidot_prev_8)/dt

AT_psidot_15 = kp * e_psidot_15 + kd x (e_psidot_15 -
< e_psidot_prev_15)/dt

# Apply saturation to ensure the total torque adjustment is
< within the desired range (-T_E/4 <= AT <= T_E/4)

AT_4 max (- T_E_4/4 , min(aT_psidot_4, T_E_4/4 ))

AT_8 max(- T_E_8/4 , min(aT_psidot_8, T_E_8/4 ))

AT_15 = max(- T_E_15/4 , min(aT_psidot_15, T_E_15/4 ))

eng_tsplit_4 tune_T_se(e_psidot_4)
eng_tsplit_8 tune_T_se(e_psidot_8)
eng_tsplit_15 = tune_T_se(e_psidot_15)

# Update the previous errors for the next iteration
e_psidot_prev_4 = e_psidot_4

e_psidot_prev_8 = e_psidot_8

e_psidot_prev_15 = e_psidot_15

# Apply torque vectoring by adding the corrective torque to
< each wheel

u_controlled_4 = (v_delta, 2 g, 2xaT_4, eng_tsplit_4)

u_controlled_8 = (v_delta, 2 g, 2xaT_8, eng_tsplit_8)

u_controlled_15 = (v_delta, 0.2 x g, 2*aT_15, eng_tsplit_15)

*
*

0.
0.

# Simulate the multi-body kinematic model with the updated
< control input

X_lr_fr_TV_4[i + 1] = odeint(func_MB, x_lr_fr_TV_4[il, [0,
« dt], args=(u_controlled_4, p))[1]

X_1lr_fr_TV_8[i + 1] = odeint(func_MB, x_lr_fr_TV_8[i], [0,
- dt], args=(u_controlled_8, p))[1]

X_1r_fr_TV_15[i + 1] = odeint(func_MB, x_lr_fr_TV_15[i], [0,
— dt], args=(u_controlled_15, p))[1]

yaw_rate_desired_4.append(desired_values(x_1lr_fr_TV_4[i], u)

= )
yaw_rate_desired_8.append(desired_values(x_lr_fr_TV_8[i], u)

= )
yaw_rate_desired_15.append(desired_values(x_lr_fr_TV_15[i],

= u))
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Arndonacua Koduxa A.17: Thonolnon ehryuol step-steer ye emPBolr| oxaplofag ywviog
oieuvong § = 0.314 rad xon emTAYLVOT Along = 0.3g

from scipy.integrate import odeint
import numpy as np

import matplotlib.pyplot as plt
import math

from vehiclemodels.parameters_vehicle2 import
< parameters_vehicle?2

from vehiclemodels.init_mb import init_mb

from vehiclemodels.vehicle_dynamics_mb import
— vehicle_dynamics_mb

def func_MB(x, t, u, p):
f = vehicle_dynamics_mb(x, u, p)
return f

load parameters
= parameters_vehicle2 ()

#
p
g 9.81 # [m/s”2]

# set options

tStart = @ # start time

tFinal = 8 # end time

dt = 0.01 # time steps

time = np.arange(@, tFinal, dt)

deltao =
velo = 4
Psid = 0
dotPsi®
betad =
syo = 0
initialState_4 = [0, sy@, delta@d, velo, Psi0, dotPsi@, betaod]
<~ # initial state for simulation
X0_MB_4 = init_mb(initialState_4, p) # initial state for
< multi-body model
X_ss_4 = np.full((len(time), 29), x0_MB_4)
velo = 8
initialState_8 = [0, sy0, delta@, veld, Psi@, dotPsi@d, betad]
<~ # initial state for simulation
X0_MB_8 = init_mb(initialState_8, p) # initial state for
< multi-body model
X_ss_8 = np.full((len(time), 29), x0_MB_8)

0.314

=0
0
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veld = 15

initialState_15 = [0, sy@, delta@®, veld, Psi@d, dotPsio,
< # initial state for simulation

X0_MB_15 = init_mb(initialState_15, p) # initial state
< multi-body model

Xx_ss_15 np.full((len(time), 29), x0_MB_15)

v_delta 0
for i in range(len(time)-1):

# Set vehicle input parameters for each time step
u_ss = [v_delta, 0.3*xg, 0, 0.5]

betad]

for

# Simulate the multi-body kinematic model for each time step

X_ss_4[i+1] = odeint(func_MB, x_ss_4[i], [0, dt], args

.y p))[_1:|
x_ss_8[i+1] = odeint(func_MB, x_ss_8[i], [0, dt], args
= , p))L-1]

=(u_ss

=(u_ss

X_ss_15[i+1] = odeint(func_MB, x_ss_15[i], [@Q, dt]l, args=(

< u_ss, p))yL-11

# position

plt.title( o0é¢on')

plt.plot([tmp[@] for tmp in x_ss_4]1, [tmp[1] for tmp in
- 1)

plt.plot([tmp[@] for tmp in x_ss_8], [tmp[1] for tmp in
- 1)

plt.plot(Ltmp[@] for tmp in x_ss_15]1, [tmp[1] for tmp in
< X_ss_151])

plt.legend(['u®0 = 4 m/s', 'u@ = 8 m/s', 'ud = 15 m/s'])

plt.xlabel( ' x-9é¢6y (M) )

plt.ylabel( y-9¢o5qn (m) )

plt.grid(True)

plt.show()

# orientation

plt.title( Ex<pon# ')

plt.plot(time, [tmp[4] for tmp in x_ss_41])
plt.plot(time, [tmp[4] for tmp in x_ss_81])
plt.plot(time, [tmp[4] for tmp in x_ss_151)
plt.legend([ 'u0 = 4 m/s', 'ud0 = 8 m/s', 'ud = 15 m/s'1])
plt.xlabel( 'x¢évoc (S) ')

plt.ylabel( ' Ex<cory (rad) )

plt.grid(True)

plt.show()

# yaw rate

187
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plt.title( Puduédec extponfc')

plt.plot(time, [tmp[5] for tmp in x_ss_41])
plt.plot(time, [tmp[5] for tmp in x_ss_81])
plt.plot(time, [tmp[5] for tmp in x_ss_151)
plt.legend(['u®0 = 4 m/s', 'u@ = 8 m/s', 'ud = 15 m/s'])

82

83

84

85

plt.
plt.
plt.
plt.

xlabel( 'xeévoec (S)')
ylabel( 'Puoudec extponte
grid(True)
show ()

L [Hlatnote 0w yio va emoteedete 61O xUPIWE KEWEVO.|
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Arndonacua Koduxa A.18: Thonolnon ehyuol step-steer ye emPBolr| oxaplofag ywviog
oeduvong § = 0.314 rad, emitdyuvon aiong = 0.3g xou apioTepd-0eéi TV

from vehiclemodels.utils.steering_constraints import
- steering_constraints

from vehiclemodels.utils.acceleration_constraints import
< acceleration_constraints

# Initialize arrays, variables & lists for the control loop
X_ss_1r_TV_4 = x_ss_4.copy()

X_ss_1r_TV_8 = x_ss_8.copy()

X_Sss_1r_TV_15 = x_ss_15.copy ()

I x|

e_psidot_prev_4 0
e_psidot_prev_8 = 0
e_psidot_prev_15 =

N o

yaw_rate_desired_4 L]
yaw_rate_desired_8 L]
yaw_rate_desired_15 = []

kp 2
kd = 400

for i in range(len(time)-1):

acc_4 = acceleration_constraints(x_ss_1lr_TV_4[i,3], 0.3 *x g
<~ , p.longitudinal)

acc_8 = acceleration_constraints(x_ss_1lr_TV_8[i,3], 0.3 *x g
<~ , p.longitudinal)

acc_15 = acceleration_constraints(x_ss_1r_TV_15[i,3], 0.3 =*

< g, p.longitudinal)

4 p.m p. * acc_4

8 = p.m p. * acc_8
15 = p.m * p.R_w * acc_15

* R_w
* R_w

# Calculate errors between desired and actual yaw rate

e_psidot_4 = desired_values(x_ss_1r_TV_4[i], u_ss) -
< X_ss_lr_TV_4[i,5]
e_psidot_8 = desired_values(x_ss_lr_TV_8[i], u_ss) -

< X_ss_1lr_TV_8[i,5]
e_psidot_15 = desired_values(x_ss_1r_TV_15[i], u_ss) -
< X_ss_1lr_TV_15[i,5]

# Calculate control input feedbacks from yaw rate error
< using a PD controller

AT_psidot_4 = kp * e_psidot_4 + kd * (e_psidot_4 -
— e_psidot_prev_4)/dt

189



35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

AT_psidot_8 = kp * e_psidot_8 + kd * (e_psidot_8 -
— e_psidot_prev_8)/dt

AT_psidot_15 = kp * e_psidot_15 + kd * (e_psidot_15 -
< e_psidot_prev_15)/dt

# Apply saturation to ensure the total torque adjustment is
< within the desired range (-T_E/4 <= AT <= T_E/4)

AT_4 = max(- T_E_4/4 , min(aT_psidot_4, T_E_4/4 ))

AT_8 max (- T_E_8/4 , min(aT_psidot_8, T_E_8/4 ))

AT_15 = max(- T_E_15/4 , min(aT_psidot_15, T_E_15/4 ))

# Update the previous errors for the next iteration
e_psidot_prev_4 = e_psidot_4

e_psidot_prev_8 = e_psidot_8

e_psidot_prev_15 = e_psidot_15

# Apply torque vectoring by adding the corrective torque to
< each wheel

u_controlled_4 = (v_delta, 0.3 * g, 2xaT_4, 0.5)

u_controlled_8 = (v_delta, 0.3 x g, 2xaT_8, 0.5)

u_controlled_15 = (v_delta, 0.3 * g, 2xaT_15, 0.5)

# Simulate the multi-body kinematic model with the updated
< control input

X_ss_1r_TV_4[i + 1] = odeint(func_MB, x_ss_1lr_TV_4[il, [0,
— dt], args=(u_controlled_4, p))[1]

X_ss_1r_TV_8[i + 1] = odeint(func_MB, x_ss_1r_TV_8[il], [0,
— dt], args=(u_controlled_8, p))[1]

X_ss_1r_TV_15[i + 1] = odeint(func_MB, x_ss_lr_TV_15[i], [0,
— dt], args=(u_controlled_15, p))[1]

yaw_rate_desired_4.append(desired_values(x_ss_lr_TV_4[i],

< U_Sss))
yaw_rate_desired_8.append(desired_values(x_ss_1lr_TV_8[i],
< U_SS))
yaw_rate_desired_15.append(desired_values(x_ss_lr_TV_15[il],
< U_Ss))

L [HHatnoTe €00 yio vor ETMIOTEEYETE GTO XUPLWC HEWEVO.|
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Arndonacua Koduxa A.19: Thonolnon ehryuol step-steer ye emPBolr| oxaplofag ywviog
oieuvong § = 0.314 rad, emtdyuvon aiong = 0.3g xou eunpdciio-oniotio TV

from vehiclemodels.utils.steering_constraints import
- steering_constraints

from vehiclemodels.utils.acceleration_constraints import
< acceleration_constraints

# Initialize arrays, variables & lists for the control loop
x_ss_fr_TV_4 = x_ss_4.copy()

X_ss_fr_TV_8 = x_ss_8.copy()

X_ss_fr_TV_15 = x_ss_15.copy ()

I x|

e_psidot_prev_4 0
e_psidot_prev_8 = 0
e_psidot_prev_15 =

N o

yaw_rate_desired_4 L]
yaw_rate_desired_8 L]
yaw_rate_desired_15 = []

kp 2
kd = 400

for i in range(len(time)-1):

acc_4 = acceleration_constraints(x_ss_fr_TV_4[i,3], 0.3 *x g
<~ , p.longitudinal)

acc_8 = acceleration_constraints(x_ss_fr_TV_8[i,3], 0.3 *x g
<~ , p.longitudinal)

acc_15 = acceleration_constraints(x_ss_fr_TV_15[i,3], 0.3 =*

< g, p.longitudinal)

4 p.m p. * acc_4

8 = p.m p. * acc_8
15 = p.m * p.R_w * acc_15

* R_w
* R_w

# Calculate errors between desired and actual yaw rate

e_psidot_4 = desired_values(x_ss_fr_TV_4[i], u_ss) -
< X_ss_fr_TV_4[i,5]
e_psidot_8 = desired_values(x_ss_fr_TV_8[il], u_ss) -

< X_ss_fr_TV_8[i,5]
e_psidot_15 = desired_values(x_ss_fr_TV_15[i], u_ss) -
< x_ss_fr_TV_15[i,5]

# Calculate control input feedbacks from yaw rate error
< using a PD controller

AT_psidot_4 = kp * e_psidot_4 + kd * (e_psidot_4 -
— e_psidot_prev_4)/dt
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AT_psidot_8 = kp * e_psidot_8 + kd * (e_psidot_8 -
<~ e_psidot_prev_8)/dt

AT_psidot_15 = kp * e_psidot_15 + kd * (e_psidot_15 -
< e_psidot_prev_15)/dt

# Apply saturation to ensure the total torque adjustment is
< within the desired range (-T_E/4 <= AT <= T_E/4)

AT_4 = max(- T_E_4/4 , min(aT_psidot_4, T_E_4/4 ))

AT_8 max (- T_E_8/4 , min(aT_psidot_8, T_E_8/4 ))

AT_15 = max(- T_E_15/4 , min(aT_psidot_15, T_E_15/4 ))

eng_tsplit_4 tune_T_se(e_psidot_4)
eng_tsplit_8 tune_T_se(e_psidot_8)
eng_tsplit_15 = tune_T_se(e_psidot_15)

# Update the previous errors for the next iteration
e_psidot_prev_4 = e_psidot_4

e_psidot_prev_8 = e_psidot_8

e_psidot_prev_15 = e_psidot_15

# Apply torque vectoring by adding the corrective torque to
— each wheel

u_controlled_4 = (v_delta, 3 g, 0, eng_tsplit_4)

u_controlled_8 = (v_delta, 3 g, 0, eng_tsplit_8)

*
* )
u_controlled_15 = (v_delta, 0.3 * g, 0, eng_tsplit_15)

0.
0.

# Simulate the multi-body kinematic model with the updated
< control input

Xx_ss_fr_TV_4[i + 1] = odeint(func_MB, x_ss_fr_TV_4[i], [0,
< dt], args=(u_controlled_4, p))[1]

X_ss_fr_TV_8[i + 1] = odeint(func_MB, x_ss_fr_TV_8[il, [0,
« dt], args=(u_controlled_8, p))[1]

x_ss_fr_TV_15[i + 1] = odeint(func_MB, x_ss_fr_TV_15[i], [0,
- dt], args=(u_controlled_15, p))[1]

yaw_rate_desired_4.append(desired_values(x_ss_fr_TV_4[i],

< U_Ss))
yaw_rate_desired_8.append(desired_values(x_ss_fr_TV_8[il],
< U_SS))
yaw_rate_desired_15.append(desired_values(x_ss_fr_TV_15[il],
< Uu_ss))

L [[Totrote €06 Yo vo ETOTEEYETE 0TO XUPIWE XELUEVO |
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Arndonacua Koduxa A.20: Thonolnon ehyuol step-steer ye emPBoir| oxaplofag ywviog
oieiuvong § = 0.314 rad, emtdyuvon aiong = 0.3g %o aplotepd-0edl & eunpooiio-omiovio

TV

from vehiclemodels.utils.steering_constraints

< steering_constraints

from vehiclemodels.utils.acceleration_constraints

<. acceleration_constraints

import

import

# Initialize arrays, variables & lists for the control loop

X_ss_1lr_fr_TV_4 = x_ss_4.copy()
X_ss_1lr_fr_TV_8 = x_ss_8.copy()
X_ss_1r_fr_TV_15 = x_ss_15.copy ()

e_psidot_prev_4 = 0
e_psidot_prev_8 = 0
e_psidot_prev_15 = 0
yaw_rate_desired_4 = []
yaw_rate_desired_8 = []

yaw_rate_desired_15 = []

kp 2
kd = 400

for i in range(len(time)-1):

acc_4 = acceleration_constraints(x_ss_lr_fr_TV_4[i,3],

—~ * g, p.longitudinal)

acc_8 = acceleration_constraints(x_ss_1lr_fr_TV_8[i, 3],

<~ * g, p.longitudinal)

acc_15 = acceleration_constraints(x_ss_lr_fr_TV_15[1i, 3],

- 0.3 * g, p.longitudinal)
* p.R_w * acc_4
* p.R_w * acc_8
5 = p.m * p.R_w * acc_15

p.m
p.m

# Calculate errors between desired and actual yaw rate
u_ss) -

e_psidot_4 = desired_values(x_ss_1lr_fr_TV_4[i],

< X_ss_lr_fr_TV_4[i,5]

e_psidot_8 = desired_values(x_ss_1lr_fr_TV_8[il],

«~ x_ss_lr_fr_TV_8[i,5]

u_ss) -

e_psidot_15 = desired_values(x_ss_lr_fr_TV_15[i],

< X_ss_lr_fr_TV_15[i,5]

u_ss)

# Calculate control input feedbacks from yaw rate error

< using a PD controller

AT_psidot_4 = kp * e_psidot_4 + kd * (e_psidot_4
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< e_psidot_prev_4)/dt

AT_psidot_8 = kp * e_psidot_8 + kd * (e_psidot_8 -
< e_psidot_prev_8)/dt

AT_psidot_15 = kp * e_psidot_15 + kd *x (e_psidot_15 -
< e_psidot_prev_15)/dt

# Apply saturation to ensure the total torque adjustment is
< within the desired range (-T_E/4 <= AT <= T_E/4)

AT_4 = max(- T_E_4/4 , min(aT_psidot_4, T_E_4/4 ))

AT_8 = max(- T_E_8/4 , min(aT_psidot_8, T_E_8/4 ))

AT_15 = max(- T_E_15/4 , min(aT_psidot_15, T_E_15/4 ))

eng_tsplit_4 tune_T_se(e_psidot_4)
eng_tsplit_8 tune_T_se(e_psidot_8)
eng_tsplit_15 = tune_T_se(e_psidot_15)

# Update the previous errors for the next iteration
e_psidot_prev_4 = e_psidot_4

e_psidot_prev_8 = e_psidot_8

e_psidot_prev_15 = e_psidot_15

# Apply torque vectoring by adding the corrective torque to
— each wheel

u_controlled_4 = (v_delta, g, AT_4, eng_tsplit_4)

u_controlled_8 = (v_delta, g, AT_8, eng_tsplit_8)

u_controlled_15 = (v_delta, 0.3 * g, AT_15, eng_tsplit_15)

0.3 %

0.3 *

# Simulate the multi-body kinematic model with the updated
< control input

X_ss_1lr_fr_TV_4[i + 1] = odeint(func_MB, x_ss_lr_fr_TV_4[il],
< [0, dtl, args=(u_controlled_4, p))L1]

X_ss_lr_fr_TV_8[i + 1] = odeint(func_MB, x_ss_lr_fr_TV_8[il],
-~ [0, dt], args=(u_controlled_8, p))[1]

X_ss_1r_fr_TV_15[i + 1] = odeint(func_MB, x_ss_lr_fr_TV_15[i
-~ 1, [0, dt], args=(u_controlled_15, p))[1]

yaw_rate_desired_4.append(desired_values(x_ss_lr_fr_TV_4[il],
< u_ss))

yaw_rate_desired_8.append(desired_values(x_ss_lr_fr_TV_8[il],
< uU_ss))

yaw_rate_desired_15.append(desired_values(x_ss_lr_fr_TV_15[1i
<~ 1, u_ss))

L [Hotnote 0w yio va emoteedete 6T0 nURlWC AEWEVO.|
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Arndonacua Kwnduxa A.21: Ilewpoapotiopoc pe to Single Track Model tou Commonroad
meog eCaywyr) emYUUNTAS TEOYLES Yo TOV EALYUO ATOPUYHC EUTOBIOU

from scipy.integrate import odeint
import numpy as np

import math

import matplotlib.pyplot as plt

from vehiclemodels.init_std import init_std

from vehiclemodels.parameters_vehicle2 import
— parameters_vehicle?2

from vehiclemodels.vehicle_dynamics_std import
< vehicle_dynamics_std # Importing the Single Track Drift
< (STD) vehicle kinematics model

def func_STD(x, t, u, p):
# Obtaining vehicle dynamics
f = vehicle_dynamics_std(x, u, p)
return f

# Set initial state parameters for simulation

X0 = 0 #x-position in a global coordinate
< system

yo = 0@ #y-position in a global coordinate
— Ssystem

deltad = 0 #steering angle of front wheels

vV_0 = 4 #velocity at vehicle center

yaw_angd = 0 #yaw angle

yaw_rated = 0 #yaw rate

slip_angd = 0 #slip angle at vehicle center

# Load vehicle parameters

p = parameters_vehicle2 ()

# Set simulation time parameters
g = 9.81 # [m/s"2]
t

_start = 0
t_final = 5
dt = 0.01

time = np.arange(t_start, t_final, dt)

# Set initial state

initial_state_std = [x0, y0, deltad, v_0, yaw_angd, yaw_rate0,
< slip_ango]

X0_STD = init_std(initial_state_std, p)

X_STD = np.full((len(time),9), x0_STD)
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for i in range(len(time)-1):

# Set vehicle input parameters for each time step
u = (-0.5 * np.cos((2*np.pi/4)*xtime[i] + np.pi/35), 0.2 *x g)
- # Steering angle velocity & long. acceleration values

# Simulate the single-track kinematic model for each time
- step
x_STD[i + 1] = odeint(func_STD, x_STD[i], [0, dt]l, args=(u,

L [HHatnoTe €00 yio vor ETIOTEEYETE GTO XUPLWC HEWEVO.|
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Arndonacua Koduxa A.22: Elryuoc anoguyrc eunodiou ue eEmTdyUVoT| Giong = 0.2¢

from scipy.integrate import odeint
import numpy as np

import matplotlib.pyplot as plt
import math

from vehiclemodels.parameters_vehicle2 import
< parameters_vehicle2

from vehiclemodels.init_mb import init_mb

from vehiclemodels.vehicle_dynamics_mb import
< vehicle_dynamics_mb

def func_MB(x, t, u, p):
f = vehicle_dynamics_mb(x, u, p)
return f

load parameters
= parameters_vehicle2 ()
9.81 # [m/s*2]

#
p
g
# set options

tStart @ # start time
tFinal = 7.85 # end time

dt = 0.01 # time steps
time = np.arange(@, tFinal, dt)

deltao 0
velo =
Psi@
dotPsi0 =
betad = 0
syo = 0
initialState_4 = [0, sy0, delta®, vel@, Psio,
<~ # initial state for simulation

4
0

0

dotPsio,

betao]

X0_MB_4 = init_mb(initialState_4, p) # initial state for

< multi-body model
Xx_oa_4 = np.full((len(time), 29), x0_MB_4)
velo = 8
initialState_8 = [0, sy0, delta@, velo, Psio,
< # initial state for simulation

dotPsi@,

betao]

X0_MB_8 = init_mb(initialState_8, p) # initial state for

< multi-body model
Xx_oa_8 = np.full((len(time), 29), x0_MB_8)
veld = 15
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initialState_15 = [0, sy@, deltad, velo, Psi@, dotPsi@, betao]
. # initial state for simulation

X0_MB_15 = init_mb(initialState_15, p) # initial state for
< multi-body model

x_oa_15 = np.full((len(time), 29), x0_MB_15)

for i in range(len(time)-1):

# Set vehicle input parameters for each time step

v_delta_4 = -0.5 * np.cos((2*np.pi/4)*xtime[i] + np.pi/35)
v_delta_8 = -0.5 * np.cos((2*np.pi/4)*xtime[i] + np.pi/10.1)
v_delta_15 = -0.5 * np.cos((2*np.pi/4)*xtime[i] + np.pi/6.13)

u_oa_4 = [v_delta_4, 0.2*xg, 0, 0.5]
u_oa_8 = [v_delta_8, 0.2*xg, 0, 0.5]
u_oa_15 = [v_delta_15, 0.2xg, 0, 0.5]

# Simulate the multi-body kinematic model for each time step
Xx_oa_4[i+1] = odeint(func_MB, x_oa_4[il, [0, dt]l, args=(
< u_oa_4, p))L-1]
x_oa_8[i+1] = odeint(func_MB, x_oa_8[il, [0, dt], args=(
< u_oa_8, p))L[-1]
x_oa_15[i+1] = odeint(func_MB, x_oa_15[i], [@, dt], args=(
< u_oa_15, p))L-11]

# position

plt.title( e¢on')

plt.plot([tmp[@] for tmp in x_oa_4[:455]1], [tmp[1] for tmp in
— x_oa_4[:455]1)

plt.plot(Ltmp[@] for tmp in x_oa_8[:455]1]1, [tmp[1] for tmp in
— x_oa_8[:455]1)

plt.plot([tmp[@] for tmp in x_oa_15[:455]1]1, [tmp[1] for tmp in
<~ x_oa_15[:45511)

plt.legend(['u®0 = 4 m/s, 'u®0 = 8 m/s', ud = 15 m/s'])

plt.xlabel( x-9éon (M) )

plt.ylabel('y-9é¢65q (m) )

plt.grid(True)

plt.show()

# orientation

plt.title( rovia extponfic')

plt.plot(time[:455], [tmp[4] for tmp in x_oa_4[:455]])

plt.plot(time[:455], [tmp[4] for tmp in x_oa_8[:455]])

plt.plot(time[:455], [tmp[4] for tmp in x_oa_15[:455]])
plt.legend(['u® = 4 m/s, 'u@0 = 8 m/s', 'ud = 15 m/s'])
plt.xlabel( xeévoc (S) ')

plt.ylabel( 'rovia ex<porntec (rad): )

plt.grid(True)
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plt.

show ()

# yaw rate

plt.
plt.
plt.
plt.
plt.
plt.
plt.
plt.
plt.

title( ' Puvoude extpontc')
plot(time[:455], [tmp[5] for tmp in
plot(time[:455], [tmp[5] for tmp in
plot(time[:455], [tmp[5] for tmp in
legend ([ 'u®@ = 4 m/s*, 'ud0 = 8 m/s",
xlabel( Xxeévoc (S) ')

ylabel('pPuouéc extporntec (rad/s) )
grid(True)

show ()

L [Llotnote 0w ylo Vo EMOTEEYETE GTO XUPLWS HEWEVO.|
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x_oa_8[:455]])
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‘uQ =

15 m/s 1)



Arndonacuo Kodixa A.23: Eiyudc anoguyrc eumodiou pe emTdyuvon aiong = 0.2g
xan aplotepo-oect TV

1 from vehiclemodels.utils.steering_constraints import
- steering_constraints

2 from vehiclemodels.utils.acceleration_constraints import
< acceleration_constraints

4+ # Initialize arrays, variables & lists for the control loop
5 X_oa_1lr_TV_4 = x_oa_4.copy()

6 X_oa_1lr_TV_8 = x_oa_8.copy()

7 X_oa_1lr_TV_15 = x_oa_15.copy()

I x|

s e_psidot_prev_4 0
o e_psidot_prev_8 = 0
10 e_psidot_prev_15 =

N o

11 yaw_rate_desired_4 []
12 yaw_rate_desired_8 = []
13 yaw_rate_desired_15 = []
14

15 kp = 2

16 kd = 400

17
18 for i in range(len(time)-1):

19

20 acc_4 = acceleration_constraints(x_oa_lr_TV_4[i,3], 0.2 *x g
<~ , p.longitudinal)

21 acc_8 = acceleration_constraints(x_oa_1lr_TV_8[i,3], 0.2 *x g
<~ , p.longitudinal)

22 acc_15 = acceleration_constraints(x_oa_1lr_TV_15[i,3], 0.2 =*

< g, p.longitudinal)

23

24 T E_4 = p.m * p.R_w * acc_4

25 T E_8 = p.m * p.R_w * acc_8

26 T_E_15 = p.m *» p.R_w * acc_15

27

28 # Calculate errors between desired and actual yaw rate

29 e_psidot_4 = desired_values(x_oa_lr_TV_4[i], u_oa_4) -
< x_oa_lr_TV_4[i,5]

30 e_psidot_8 = desired_values(x_oa_lr_TV_8[i], u_oa_8) -

< x_oa_lr_TV_8[i,5]

31 e_psidot_15 = desired_values(x_oa_1lr_TV_15[i], u_oa_15) -
< x_oa_lr_TV_15[i,5]

32

33 # Calculate control input feedbacks from yaw rate error
< using a PD controller

34 AT_psidot_4 = kp * e_psidot_4 + kd * (e_psidot_4 -
— e_psidot_prev_4)/dt
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AT_psidot_8 = kp * e_psidot_8 + kd * (e_psidot_8 -
— e_psidot_prev_8)/dt

AT_psidot_15 = kp * e_psidot_15 + kd * (e_psidot_15 -
< e_psidot_prev_15)/dt

# Apply saturation to ensure the total torque adjustment is
< within the desired range (-T_E/4 <= AT <= T_E/4)

AT_4 = max(- T_E_4/4 , min(aT_psidot_4, T_E_4/4 ))

AT_8 max (- T_E_8/4 , min(aT_psidot_8, T_E_8/4 ))

AT_15 = max(- T_E_15/4 , min(aT_psidot_15, T_E_15/4 ))

# Update the previous errors for the next iteration
e_psidot_prev_4 = e_psidot_4

e_psidot_prev_8 = e_psidot_8

e_psidot_prev_15 = e_psidot_15

# Set vehicle input parameters for each time step

v_delta_4 = -0.5 * np.cos((2*np.pi/4)*time[i] + np.pi/35)
v_delta_8 = -0.5 * np.cos((2*np.pi/4)*xtime[i] + np.pi/10.1)
v_delta_15 = -0.5 * np.cos((2*np.pi/4)*xtime[i] + np.pi/6.13)

# Apply torque vectoring by adding the corrective torque to
— each wheel

u_oa_4 = [v_delta_4, 0.2*xg, 2*xaT_4, 0.5]

u_oa_8 = [v_delta_8, 0.2*xg, 2*xaT_8, 0.5]

u_oa_15 = [v_delta_15, 0.2xg, 2xaT_15, 0.5]

# Simulate the multi-body kinematic model with the updated
< control input

x_oa_1lr_TV_4[i + 1] = odeint(func_MB, x_oa_lr_TV_4[il, [0,
— dt], args=(u_oa_4, p))[1]

x_oa_1lr_TV_8[i + 1] = odeint(func_MB, x_oa_lr_TV_8[il, [0,
< dt], args=(u_oa_8, p))[1]

x_oa_1lr_TV_15[i + 1] = odeint(func_MB, x_oa_lr_TV_15[i], [0,
— dt], args=(u_oa_15, p))L1]

yaw_rate_desired_4.append(desired_values(x_oa_lr_TV_4[i],
< u_oa_4))

yaw_rate_desired_8.append(desired_values(x_oa_lr_TV_8[i],
< u_oa_8))

yaw_rate_desired_15.append(desired_values(x_oa_lr_TV_15[il],
< u_oa_15))

L [Hotnote 0w yio va emoteedete 6T0 nURlWC AEWEVO.|
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1 from scipy.interpolate import interpild
2 import pandas as pd

4+ def tune_T_se(error):

[-2.58, 2.58]

[0.1,0.9]

interpld(x, y, bounds_error=False, fill_value=(0.1,0.9))
eng = t(error)

S
+ + < X
I

10
1 return t_eng.item()
12
13 from vehiclemodels.utils.steering_constraints import

< steering_constraints
14 from vehiclemodels.utils.acceleration_constraints import

— acceleration_constraints

15
16 # Initialize arrays, variables & lists for the control loop
17 Xx_oa_fr_TV_4 = x_oa_4.copy()
18 Xx_oa_fr_TV_8 = x_oa_8.copy()
19 x_oa_fr_TV_15 = x_oa_15.copy ()
20 e_psidot_prev_4 0
21 e_psidot_prev_8 0
22 e_psidot_prev_15 =
23 yaw_rate_desired_4 L]
24 yaw_rate_desired_8 L]
25 yaw_rate_desired_15 = []
26
27 kp
28 kd
29
30 for i in range(len(time)-1):

31

[ T |

N o

2
400

32 acc_4 = acceleration_constraints(x_oa_fr_TV_4[i,3], 0.2 *x g
<~ , p.longitudinal)

33 acc_8 = acceleration_constraints(x_oa_fr_TV_8[i,3], 0.2 *x g
< , p.longitudinal)

34 acc_15 = acceleration_constraints(x_oa_fr_TV_15[i,3], 0.2 =*

—~ g, p.longitudinal)

35

36 T E_4 = p.m * p.R_w * acc_4
37 T E_8 = p.m * p.R_w * acc_8
38 T_E_15 = p.m * p.R_w * acc_15

39
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# Calculate errors between desired and actual yaw rate
e_psidot_4 = desired_values(x_oa_fr_TV_4[i], u_oa_4) -
< x_oa_fr_TV_4[i,5]
e_psidot_8 = desired_values(x_oa_fr_TV_8[i], u_oa_8) -
< x_oa_fr_TV_8[i,5]
e_psidot_15 = desired_values(x_oa_fr_TV_15[i], u_oa_15) -
< x_oa_fr_TV_15[1i,5]

# Calculate control input feedbacks from yaw rate error
< using a PD controller

AT_psidot_4 = kp * e_psidot_4 + kd * (e_psidot_4 -
— e_psidot_prev_4)/dt

AT_psidot_8 = kp * e_psidot_8 + kd * (e_psidot_8 -
< e_psidot_prev_8)/dt

AT_psidot_15 = kp * e_psidot_15 + kd x (e_psidot_15 -
< e_psidot_prev_15)/dt

# Apply saturation to ensure the total torque adjustment is
< within the desired range (-T_E/4 <= AT <= T_E/4)

AT_4 = max(- T_E_4/4 , min(aT_psidot_4, T_E_4/4 ))

AT_8 max(- T_E_8/4 , min(aT_psidot_8, T_E_8/4 ))

AT_15 = max(- T_E_15/4 , min(aT_psidot_15, T_E_15/4 ))

eng_tsplit_4 = tune_T_se(e_psidot_4)
eng_tsplit_8 tune_T_se(e_psidot_8)
eng_tsplit_15 = tune_T_se(e_psidot_15)

# Update the previous errors for the next iteration
e_psidot_prev_4 = e_psidot_4

e_psidot_prev_8 = e_psidot_8

e_psidot_prev_15 = e_psidot_15

# Set vehicle input parameters for each time step

v_delta_4 = -0.5 * np.cos((2*np.pi/4)*time[i] + np.pi/35)
v_delta_8 = -0.5 * np.cos((2*np.pi/4)*xtime[i] + np.pi/10.1)
v_delta_15 = -0.5 * np.cos((2*np.pi/4)*xtime[i] + np.pi/6.13)

# Apply torque vectoring by adding the corrective torque to
< each wheel

u_oa_4 = [v_delta_4, 0.2*xg, 0, eng_tsplit_4]

u_oa_8 = [v_delta_8, 0.2*xg, 0, eng_tsplit_8]

u_oa_15 = [v_delta_15, 0.2xg, 0, eng_tsplit_15]

# Simulate the multi-body kinematic model with the updated
< control input

x_oa_fr_TV_4[i + 1] = odeint(func_MB, x_oa_fr_TV_4[il, [0,
— dt], args=(u_oa_4, p))L1]

x_oa_fr_TV_8[i + 1] = odeint(func_MB, x_oa_fr_TV_8[il], [0,
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« dt], args=(u_oa_8, p))[1]
77 x_oa_fr_TV_15[i + 1] = odeint(func_MB, x_oa_fr_TV_15[i], [0,
<~ dt], args=(u_oa_15, p))L1]

78

79 yaw_rate_desired_4.append(desired_values(x_oa_fr_TV_4[i],
< u_oa_4))

80 yaw_rate_desired_8.append(desired_values(x_oa_fr_TV_8[il],
< u_oa_8))

81 yaw_rate_desired_15.append(desired_values(x_oa_fr_TV_15[il],

< u_oa_15))

L [Hotnote 0w yio va emotpedete 6T0 MUl AEWEVO.|
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Arndonacuo Kodixa A.25: Eiyudc anoguyrc eumodiou pe emtdyuvorn aiong = 0.29

xan aplotepod-0etl & eunpodoiro-onicto TV

# u0=4,8 m/s
from vehiclemodels.utils.steering_constraints import

< steering_constraints

from vehiclemodels.utils.acceleration_constraints import
— acceleration_constraints

# Initialize arrays,

x_oa_lr_fr_TV_4 = x_oa_4.copy()
x_oa_lr_fr_TV_8 = x_oa_8.copy()

e_psidot_prev_4
e_psidot_prev_8

0
0

yaw_rate_desired_4 = []
yaw_rate_desired_8 = []

kp
kd

2

for i

acc_

= ® g

acc_

= * g,

T_E_
T_E_

400

in range(len(time)-1):

4

8

4
8

acceleration_constraints(x_oa_lr_fr_TV_4[i,3],

p.longitudinal)

acceleration_constraints(x_oa_lr_fr_TV_8[i, 3],

p.m
p.m

p.longitudinal)

# Calculate errors between desired and actual yaw rate
e_psidot_4 = desired_values(x_oa_lr_fr_TV_4[i], u_oa_4)
< x_oa_lr_fr_TV_4[i,5]
e_psidot_8 = desired_values(x_oa_lr_fr_TV_8[i], u_oa_8)
< x_oa_lr_fr_TV_8[i,5]

# Calculate control
< using a PD controller
AT_psidot_4 = kp * e_psidot_4 + kd * (e_psidot_4 -
< e_psidot_prev_4)/dt
AT_psidot_8 = kp * e_psidot_8 + kd * (e_psidot_8 -
< e_psidot_prev_8)/dt

# Apply saturation to ensure the total torque adjustment

input feedbacks from yaw rate error

— within the desired range (-T_E/4 <= AT <= T_E/4)

AT_4
AT_8

max (- T_E_4/4
max (- T_E_8/4

’

’

min(aT_psidot_4,
min(aT_psidot_8,
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T_E_8/4 ))

variables & lists for the control loop
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35

36 eng_tsplit_4

37 eng_tsplit_8

38

39 # Set vehicle input parameters for each time step

40 v_delta_4 = -0.5 * np.cos((2*np.pi/4)*xtime[i] + np.pi/35)

a1 v_delta_8 -0.5 * np.cos((2*np.pi/4)*xtimel[i] + np.pi/10.1)

42

43 # Apply torque vectoring by adding the corrective torque to
— each wheel

tune_T_se(e_psidot_4)
tune_T_se(e_psidot_8)

44 u_oa_4 = (v_delta_4, 0.2 x g, AT_4, eng_tsplit_4)

45 u_oa_8 = (v_delta_8, 0.2 x g, aAT_8, eng_tsplit_8)

46

a7 # Update the previous errors for the next iteration

48 e_psidot_prev_4 = e_psidot_4

49 e_psidot_prev_8 = e_psidot_8

50

51 # Simulate the multi-body kinematic model with the updated
< control input

52 x_oa_lr_fr_TV_4[i + 1] = odeint(func_MB, x_oa_lr_fr_TV_4[il],
—~ [0, dt], args=(u_oa_4, p))[1]

53 x_oa_lr_fr_TV_8[i + 1] = odeint(func_MB, x_oa_lr_fr_TV_8[il],
-~ [0, dt]l, args=(u_oa_8, p))L[1]

54

55 yaw_rate_desired_4.append(desired_values(x_oa_lr_fr_TV_4[il],
—~ u_oa_4))
56 yaw_rate_desired_8.append(desired_values(x_oa_lr_fr_TV_8[il],

< u_oa_8))

57
58 #u0=15 m/s
so. from vehiclemodels.utils.steering_constraints import

< steering_constraints
6o from vehiclemodels.utils.acceleration_constraints import

< acceleration_constraints
61
62 # Initialize arrays, variables & lists for the control loop
63 X_oa_lr_fr_TV_15 = x_oa_15.copy()
6« e_psidot_prev = 0
s t_split = []
66 yaw_rate_desired_15 = []
67
68 kp
6o kd
70

n for 1 in range(len(time)-1):

2
400

72
73 acc = acceleration_constraints(x_oa_lr_fr_TV_15[i,3], 0.2 =*
<~ g, p.longitudinal)
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T_E = p.m * p.R_w * acc

# Calculate errors between desired and actual yaw rate
e_psidot = desired_values(x_oa_lr_fr_TV_15[i], u_oa_15) -
< x_oa_lr_fr_TV_15[i,5]

# Calculate control input feedbacks from yaw rate error
< using a PD controller

AT_psidot = kp * e_psidot + kd *x (e_psidot - e_psidot_prev)/
— dt

# Apply saturation to ensure the total torque adjustment is
< within the desired range (-T_E/4 <= AT <= T_E/4)
AT = max(- T_E / 4, min(aT_psidot, T_E / 4))

# Apply torque vectoring by adding the corrective torque to
< each wheel
v_delta = -0.5 * np.cos((2*np.pi/4)*xtime[i] + np.pi/6.13)

eng_tsplit = tune_T_se(e_psidot)
t_split.append(eng_tsplit)

u_oa_15 = (v_delta, 0.2 x g, 2xaT, eng_tsplit)

# Update the previous errors for the next iteration
e_psidot_prev = e_psidot

# Simulate the multi-body kinematic model with the updated
< control input

x_oa_lr_fr_TV_15[i + 1] = odeint(func_MB, x_oa_lr_fr_TV_15[1i
-~ 1, [0, dt]l, args=(Cu_oa_15, p))[1]

yaw_rate_desired_15.append(desired_values(x_oa_lr_fr_TV_15[1i
<~ 1, u_oa_15))

L lotnote 0w yio var emoteedete 6TO ®UPIWC KEWEVO.|
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